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Ið tÐ ŸËdý œbŽ 

  

16
2

= 8 fáÝ µ tÐ «— ≤rOMQÅv� rO
Ið 
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Ær¹—«œÅv� t~� tE-UŠ —œ «— Ëœ dÐ X
OÐ Ë rO
¹u�Åv�
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 v¹UN� »«uł fÄ Ær¹dOÖÅv� dE�—œ ÊUÖbj r)— ÈÅt�UA�ÅtÐ «— Ê¬≥∂±ÆXÝ« 

 ‰U¦	±µ‡‡ »d{ÅqjUŠ   15 ×15ÆbO¹UL� t³ÝU×� «— 

 ©nG«  5 × 5 = 25Ë« Ò r)— sOGµÆXÝ« 

 ©»  5 + 5 =10 UÐ ¨≤ ©ÅÊU~¼œÅ® r)— sO�Ëœ fÄ œuýÅv� lLł vK³) ≤ÆXÝ« 

 ©Ã  1×1=1 UÐ ¨± eO� ÊUÖbj r)— fÄ œuýÅv� lLł vK³) ≤ÆXÝ« 

 U� »«uł ¨X¹UN� —œ≤≤µÆXÝ« 

µÅ‡‡ ± tÐ Âu²I	ÅvLD—Ëœ œ«bŽ« »d{ÅÅµ‘œuš —œ 

tÝ ÈœbŽ ¨t−O²� tQ œuL� tłuð t²J� s¹« tÐ b¹UÐ œ«bŽ« t�uÖ s¹« »d{ÅqjUŠ ÊœdQ «bOÄ È«dÐ

 tAOL¼ ̈ œ«bŽ« Ÿu� s¹« »d{ÅqjUŠ XÝ«— XLÝ r)— Ëœ Ë XÝ«ÅvL)——UNÇ U¹≤µÈ«dÐ ÆœuÐ b¼«uš 

ÆrOMQÅv� qLŽ d¹“ o¹dÞÅtÐ »d{ÅqjUŠ ÊœdQ «bOÄ

Ær?O?¹U?L?�Åv?� »d?{ Èd?~?¹œ ÊU?~?¼œ r?)— —œ Ë r?O?¹«e?-«Åv?� p?¹ ¨œ«bŽ« “« vJ¹ ÊU~¼œ r)— tÐ

 Ë rO
¹u�Åv� «— »d{ÅqjUŠ≤µÆrO¼œÅv� —«d) œbŽ Ê¬ XÝ«— XLÝ —œ «— 

a5 × a5 = (a +1) × (a)(25)

 tAOL¼ œ«bŽ« Ÿu� s¹« »d{ÅqjUŠ XÝ«— XLÝ r)— Ëœ≤µÆœuÐ b¼«uš 

 ‰U¦	±∂‡‡Å »d{ÅqjUŠ   35 × 35ÆbOMQ t³ÝU×� «— 

 tÐ œbŽ p¹≥ —œ Ë rO¹«e-«Åv� ≥rO¹UL�Åv� »d{   (3 +1)(3) =12

 qjUŠ±≤ fáÝ ÆXÝ« ≤µÆrO¼œÅv� —«d) Ê¬ XÝ«— XLÝ —œ «— 



 ÅÅÅÅÅÅ∑

 œuýÅv� »«uł±≤≤µ

 »d{ÅqjUŠ UÐ XÝ« dÐ«dÐ t−O²�  35 × 35

 ‰U¦	±∑‡‡Å »d{ÅqjUŠ   85 × 85ÆbOMQ «bOÄ «— 

  œuýÅv� »«uł  (8 +1)(8) = 72         7225

∂Å‡‡ÅÅÅÅ±ð« “« ÁœUH²Ý« UÐ œbŽ Ëœ »d{ ÅÒÃËœe	 œU×

∫È—Ë¬œU¹ÃËœe� œU×ð«   (a − b)(a + b) = a2 − b2

ð« “« Ê«u?ðÅv?� v¼UÖ ¨œbŽ Ëœ »d{ —œÒÆœd?Q t?³?ÝU?×?� «— »«u?ł Ë œuL� ÁœUH²Ý« ÃËœe� œU×

 q¦� dHj tÐ Âu²D� œbŽ tÐ X³
� œbŽ Ëœ v�UBI� Ë v-U{« ÈÅtKjU- tQ v�U�“±∞∞ U¹ ∞∞∞\± U¹ µ∞

ÆœdQ t³ÝU×� «— aÝUÄ Ë œuL� ÁœUH²Ý« œU×ð« s¹« “« Ê«uðÅv� ¨býUÐ Á“«b�« p¹ tÐ ÆÆÆ U¹ Ë

 ‰U¦	±∏‡‡Å »d{ÅqjUŠ   101×99ÆbOMQ «bOÄ «— 

 tÐ X³
� œbŽ Ëœ d¼ tKjU- ÊuÇ±∞∞ð«“« ¨XÝ« Á“«b�« p¹ tÐ ÒÆrO¹UL�Åv� ÁœUH²Ý« ÃËœe� œU×

  (100+1)(100−1) =10,000−1= 9,999

 «— dHj tÐ Âu²D� œbŽaUð œ«bŽ« Ê¬ ÈÅtKjU- Ë rOMQÅv� ÷d- a «— bÆrO�U�Åv� 

 «— œbŽ Ëœ ŸuL−� nB� ¨d~¹œ  —U³ŽÅtÐa «— œbŽ Ëœ Ê¬ q{UHð nB� Ë bË rOMQÅv� ÷d- 

ð« ‰u�d- “« ÁœUH²Ý« UÐÒÆXÝ« t³ÝU×� qÐU) v²Š«—ÅtÐ aÝUÄ ¨ÃËœe� œU×

 ‰U¦	±π‡‡Å »d{ÅqjUŠ   997 ×1003ÆbOMQ t³ÝU×� «— 

 œbŽ Ëœ s¹« lLł qjUŠ≤∞∞∞ Ê¬ nB� t−O²�—œ ¨XÝ« ±∞∞∞ÆœuýÅv� 

 œbŽ Ëœ s¹« q{UHð∂ Ê¬ nB� t−O²�—œ ªXÝ« ≥ÆœuýÅv� 

∫s¹«dÐUMÐ  1003 ×997 =1,000,000−9 = 999,991

 ‰U¦	≤∞‡‡Å »d{ÅqjUŠ   9,995 ×10005ÆbOMQ t³ÝU×� «— 

 œbŽ Ëœ s¹« ŸuL−�≤∞∞∞∞ Ê¬ nB� t−O²�—œ ¨XÝ« ±∞∞∞∞ÆœuýÅv� 

 œbŽ Ëœ s¹« q{UHð±∞ Ê¬ nB� t−O²� —œ ¨XÝ« µÆœuýÅv� 

∫s¹«dÐUMÐ  (10,000+ 5)  (10,000− 5) =100,000,000−25 = 99,999,975

 ‰U¦	≤±‡‡Å »d{ÅqjUŠ   61× 59ÆbOMQ «bOÄ «— 

 œbŽ Ëœ s¹« ŸuL−� nB�∂∞ œbŽ Ëœ s¹« q{UHð nB� Ë ±ÆXÝ« 

∫s¹«dÐUMÐ  (60+1)  (60−1) = 3600−1= 3,599



ÅÅÅÅÅÅÅÅ∏

∑Å‡‡Å±ÂËœ Ë ‰Ë« œU×ð« “« ÁœUH²Ý« UÐ œ«bŽ« ÊœuL4 —Ëc−	 Å

∫È—Ë¬œU¹

« œU×ð«Ë
Ò

‰  (a + b)2 = a2 + b2 +2ab

ÂËœ œU×ð«  (a − b)2 = a2 + b2 −2ab

U?¼œU?×?ð« s?¹« “« Ê«u?ðÅv?� ¨b?�d?H?j tÐ Âu²D� œ«bŽ« tÐ p¹œe� tQ Èœ«bŽ« ÊœdQ —Ëc−� È«dÐ

tQ «— dE� œ—u� œbŽ Ê«u²Ð b¹UÐ œ—«u� t�uÖÅs¹« —œ ÆœdQ «bOÄ «— aÝUÄ vM¼–  —ujÅtÐ Ë œuL� ÁœUH²Ý«

býUÐ dHj tÐ Âu²D� vJ¹ q)«ô tQ œuL� ÈœbŽ Ëœ q{UHð U¹ ŸuL−� tÐ q¹b³ð ̈ œuý —Ëc−� XÝ« —«d)

łu?ð d?¹“ ÈU?¼Å‰U?¦� tÐÆœuL� hDA� «— aÝUÄ ‰u�d- “« ÁœUH²Ý« UÐ fáÝÒd?ðÅs?ýË— Ÿu{u� Uð bOMQ t

Æœuý

 ‰U¦	≤≤‡‡Å œbŽ ∞∞±\± Ê«uð tÐ «— ≤ÆbO�UÝdÐ 

 rOMQÅv� ÷d-  a =1000 Ë   b =1ð« “« ÁœUH²Ý« UÐ ¨s¹«dÐUMÐ ÆXÝ« ÒË« œU×Ò∫Xýu� Ê«uðÅv� ‰

  (1,000+1)2 =1,000,000+1+2,000=1,002,001

 ‰U¦	≤≥‡‡Å œbŽ πππ\± Ê«uð tÐ «— ≤ÆbO�UÝdÐ 

 rOMQÅv� ÷d-  a = 2,000 Ë   b =1∫Xýu� Ê«uðÅv� ¨ÂËœ œU×ð« “« ÁœUH²Ý« UÐ ¨s¹«dÐUMÐ ªXÝ« 

  (2,000−1)2 = 4,000,000+1− 4,000= 3,996,001

∏Å‡‡ ± dÐ œ«bŽ« rO=Ið ÈÅÁb4U	ÅvDUÐ sOOFð ÈÅÁu×4ÅÅ≤ Uð ±±

 œbŽ —œ rOMO³Ð rO¼«uDÐ dÖ«a œbŽ bMÇ b  b¹UÐ ¨œ—«œ œułË a dÐ «— b ÆrOMQ rO
Ið aÂu
I� «— 

 Ëb bM�U� ÈœbŽ ̈ Ëœ s¹« rO
Ið “« ÆbM�U� tOKŽÅÂu
I� «—  qd~�UA� tQ b¹¬Åv� XÝœÅtÐ XL
) Ã—Uš ÂU�ÅtÐ

 œ«bFðb —œ tQ XÝ« v¹U¼atOKŽ Âu
I� “« dðÅpÇuQ È«ÅÁb�U�Åv)UÐ XÝ« sJL� sOMÇÅr¼ Ë œ—«œ œułË 

 U?Ð «—ÅÊ¬ t?Q býUÐ t²ý«œr t?D?Ð«— s?¹« ÆrO¼œÅv� g¹UL� a = b × q + r t?Q X?Ý« XÝ—œ v²)Ë r . b

 tQÅvð—uj—œ XÝ« vN¹bÐ ÆbýUÐ  r =0 tQ XHÖ Ê«uðÅv� ÁUÖÅÊ¬ ̈ býUÐ a dÐ b q¦� ÆXÝ« rO
Ið qÐU) ∑∂

 dÐ tQ≤�« ÆXÝ« dHj Ê¬ ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) Ò U∑∑ dÐ ≤ÈÅÁb�U�Åv)UÐ Ë X
O� XL
) qÐU) 

 Ê¬ ÈÅÁb�U�Åv)UÐÅ® XÝ« dHj nGUD� Ê¬±Æ©ÅXÝ« 

± ‡‡Å∏ ‡‡ ±OKÐUDÅÒ dÐ rO=Ið X≤∫ tÐ ÈœbŽ ≤dHj U¹ ÃË“ Ê¬ ÊUJ¹ r)— tQ XÝ« XL
) qÐU) 

 dÐ œbŽ Ê¬ tQ r¹dOÖÅv� t−O²� ̈ býUÐ œd- œbŽ Ê¬ XÝ«— XLÝ r)— s¹dš¬ tÇÅÊUMÇ ÆbýUÐ≤XL
) qÐU) 

ÆXÝ« p¹ ‘«ÅÁb�U�Åv)UÐ Ë X
O�

  Ò



 ÅÅÅÅÅÅπ

 ‰U¦	≤¥‡‡ U?¹¬ ¥≤±«—ÅÊ¬ ÈÅÁb?�U?�Åv)UÐ ¨XÝ« vHM� »«uł tÇÅÊUMÇ øXÝ« XL
) qÐU) Ëœ dÐ 

ÆbOMQ «bOÄ

 dÐ s¹«dÐUMÐ ªXÝ« œd- œbŽ s¹« XÝ«— XLÝ r)— s¹dš¬ ÊuÇ≤ÈÅÁb�U�Åv)UÐ Ë X
O� XL
) qÐU) 

ÆXÝ« p¹ Ê¬

 ‰U¦	≤µ‡‡ U¹¬ ∑±∏OF� eO� «—ÅÊ¬ ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) Ëœ dÐ Òr)— s¹dš¬ ÊuÇ ÆbOMQ s

 t?Ð f?Ä ¨XÝ« ÃË“ Ê¬ XÝ«— XLÝ≤ d?Ð œb?Ž Ê¬ r?O?
?Ið ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) ≤d?Hj ¨

ÆXÝ«

≤Å‡‡Å∏ÅÅ‡‡ ±OKÐUDÅÒdÐ rO=Ið X≥∫ÅdÐ ÈœbŽ ≥ dÐ g�U)—« ŸuL−� tQ XÝ« XL
) qÐU) ≥qÐU) 

 dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ  —ujÅs¹« —œ ÆbýUÐ XL
)≥ dÐ ÈœbŽ tÇÅÊUMÇ ÆXÝ« dHj ≥qÐU) 

 dÐ œbŽ Ê¬ ÈÅÁb�U�Åv)UÐ ¨býU³� XL
)≥ tÐ tQ ÈœbŽ ÈÅÁb�U�Åv)UÐ ÊœdQ «bOÄ È«dÐ ÆXÝ« Ëœ U¹ p¹ ¨≥

 ÈU¼Å»dC� Ê¬ ÂU)—« ŸuL−� “« b¹UÐ ¨X
O� XL
) qÐU)≥ÆœuL� d
Q «— 

 ‰U¦	≤∂‡‡ U¹¬ ≤≥± dÐ ≥ dÐ «—ÅÊ¬ rO
Ið ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) ≥ÊuÇ ÆbOMQ sOOFð eO� 

  2+ 3 +1= 6 œbŽ Ë XÝ« ∂ »dC� ≥ tÐ œbŽ s¹« fÄ ¨XÝ« ≥Ê¬ ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

ÆXÝ« dHj

 ‰U¦	≤∑‡?‡ U¹¬ ≥≤≤ dÐ ≥ d?Ð «— Ê¬ r?O?
Ið ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) ≥OF� eO� ÒÆb?O¹UL� s

 ÊuÇ  3 +2+2 = 7 »dC� ̈≥ œbŽ fÄ X
O� ≥≤≤ dÐ ≥¨Áb�U�Åv)UÐ sOOFð È«dÐ ÆX
O� XL
) qÐU) 

 »dC� s¹dðÅp¹œe� XÝ« v-UQ≥∫rO¹UL� rQ Ê¬ ÂU)—« ŸuL−� “« «— 

  7 −6 =1

 œbŽ U¹∑ dÐ «— ≥Æb¹¬ XÝœÅtÐ p¹ ÈÅÁb�U�Åv)UÐ Uð ¨œdQ rO
Ið 

 rO
Ið ÈÅÁb�U�Åv)UÐ fÄ≥≤≤ dÐ ≥ UÐ dÐ«dÐ ¨±ÆXÝ« 

≥Å‡‡Å∏‡‡ ±O?KÐUDÅÅÒ d?Ð rO=Ið X¥∫ tÐ ÈœbŽ ¥Ê¬ X?Ý«— X?LÝ r)— Ëœ tQ XÝ« XL
) qÐU) 

 dÐ U¹ dHj¥ dÐ ÈœbŽ tÇÅÊUMÇ ÆbýUÐ XL
) qÐU) ¥dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ ̈ býU³� XL
) qÐU) 

¥ œbŽ ± ̈ Å≤ U¹ ≥s¹dðÅp¹œe� b¹UÐ ̈ býU³� XL
) qÐU) —UNÇ tÐ tQ ÈœbŽ ÈÅÁb�U�Åv)UÐ s²-U¹ È«dÐ ÆXÝ« 

 »dC� œbŽ¥ “« dðÅpÇuQ È«ÅÁb�U�Åv)UÐ Uð œuL� rQ œbŽ Ê¬ “« «— ¥Æb¹¬ XÝœÅtÐ 

 ‰U¦	≤∏‡‡ œbŽ U¹¬ µ±≤¥ tÐ ¥øXÝ« XL
) qÐU) 

 ÊuÇ≤¥ tÐ ¥ tÐ œbŽ s¹« fÄ ̈ XÝ« XL
) qÐU) ¥Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

 dÐ¥ÆXÝ« dHj ¨



ÅÅÅÅÅÅÅÅ±∞

 ‰U¦	≤π‡‡ œbŽ U¹¬ ∑≤¥≥ tÐ ¥ dÐ «—ÅÊ¬ rO
Ið ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) ¥ÆbOMQ «bOÄ eO� 

 tQ UłÅÊ¬ “«¥≥ tÐ ¥ œbŽ X
O� XL
) qÐU) ∑≤¥≥ tÐ eO� ¥XÝ« sýË— ÆX
O� XL
) qÐU) 

 rO
Ið ÈÅÁb�U�Åv)UÐ tQ¥≥ dÐ ¥ ełÅÅtÐ ÈœbŽ ≥ dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ ¨s¹«dÐUMÐ ÆX
O� ¥œbŽ 

≥ÆXÝ« 

∫d?~¹œ ‘Ë——œ «— ÊU?J?¹ r)— Å  2
0

—œ «— ÊU?~¼œ r)— Ë   2
1

l?L?ł r?¼ U?Ð «— U¼ÅÊ¬ qjUŠ Ë »d{Å

 ÈËU?
?� U¹ dðÅ¯—eÐ qjUŠ dÖ«ÆrO¹UL�Åv�¥ »—U?C� býUÐ ¥“« d?ðÅrQ tÐ Áb�U� Uð rOMQÅv� rQ Ê¬ “« «— 

ÆbÝdÐ —UNÇ

  

(3 ×2
0
) + (4×2

1
) = 3 + 8 =11

11− 8 = 3

¥ ‡‡Å∏‡‡ ±OKÐUDÅÒ dÐ rO=Ið Xµ∫ dÐ ÈœbŽ µË« r)— tQ XÝ« XL
) qÐU) ÒÊ¬ XÝ«— XLÝ ‰

 dÐ œbŽ Ê¬ ̈  —ujÅs¹«dOž—œ ÆbýUÐ ZMÄ U¹ dHjµœbŽ Ê¬ ÈÅÁb�U�Åv)UÐ sOOFð È«dÐ ÆX
O� XL
) qÐU) 

Åd?ÐµË« r?)— t?Ð XÝ« v-UQ Òłu?ð Ê¬ X?Ý«— XLÝ ‰Ò “« r?)— s?¹« d?Ö« Ær?OMQ tµf?Ä ¨X?Ý« dðÅpÇuQ 

 dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐµ “« dðÅgOÐ r)— s¹« dÖ« vGË ÆXÝ« œbŽ s¹« œuš ¨µ b¹UÐ býUÐ µbŠ«Ë 

 dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ Uð œdQ rQ Ê¬ “«µÆœœdÖ hDA� 

 ‰U¦	≥∞‡‡ œbŽ U¹¬ ¥∂µ tÐ µÆbOMQ sOOFð eO� «—ÅÊ¬ ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) 

Ë« r)— ÊuÇÒ Ê¬ X?Ý«— XLÝ ‰µ t?Ð œbŽ s¹« fÄ ¨XÝ« µÈÅÁb?�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

 dÐ Ê¬ rO
IðµÆXÝ« dHj ¨

 ‰U¦	≥±‡‡ œbŽ U¹¬ ∑µ≥∏ tÐ µ dÐ «—ÅÊ¬ rO
Ið ÈÅÁb�U�Åv)UÐ øXÝ« XL
) qÐU) µOF� eO� ÒÆbOMQ s

Ë« r)— tQ UłÅÊ¬ “«ÒX
O� XL
) qÐU) ZMÄ dÐ œbŽ s¹« fÄ ̈ X
O� ZMÄ U¹ dHj Ê¬ XÝ«— XLÝ ‰

 UÐ dÐ«dÐ ZMÄ dÐ Ê¬ ÈÅÁb�U�Åv)UÐ Ë≥«d¹“ ¨XÝ«   8 − 5 = 3

µ ‡‡ ∏Å‡‡ ±OKÐUDÅÒ d?Ð rO=Ið X∂∫ dÐ ÈœbŽ ∂ d?Ð r¼ tQ XÝ« XL
) qÐU) ≤ dÐ r¼ Ë ≥qÐU) 

 d?Ð œb?Ž Ê¬ r?O?
?I?ð ÈÅÁb�U�Åv)UÐ  —uj s¹« —œ ÆbýUÐ XL
)∂ d?Ð Èœb?Ž dÖ« ÆXÝ« dHj ¨∂q?ÐU) 

 dÐ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ ¨býU³� XL
)∂Áb?�U�Åv)UÐ ÊœdQ «bOÄ È«dÐ ÆXÝ« Ê¬ “« dðÅpÇuQ ÈœbŽ ¨

 »dC� œbŽ s¹dðÅp¹œe� XÝ« v-UQ∂ “« dðÅpÇuQ È«ÅÁb�U�Åv)UÐ Uð œuL� rQ œbŽ Ê¬ “« «— ∂XÝœÅtÐ 

Æb¹¬

 ‰U¦	≥≤‡‡Å œbŽ U¹¬ ∑∂∑± dÐ ∂øXÝ« XL
) qÐU) 



 ÅÅÅÅÅÅ±±

 d?Ð f?Ä X?
?O� ÃË“ ¨œbŽ s¹« tQÅs¹« tÐ tłuð UÐ≤ d?Ð t?−?O?²�—œ ¨X
O� XL
) qÐU) ∂q?ÐU)eO� 

 œbŽ XÝ« v-UQ Áb�U�Åv)UÐ ÊœdQ «bOÄ È«dÐ ÆœuÐ b¼«uD� XL
)∑∂∂∏»dC� œbŽ s¹dðÅp¹œe� tQ «— 

∂ÆœuL� rQ Ê¬ “« XÝ« œbŽ Ê¬ tÐ 

  7671− 7668 = 3

 UÐ dÐ«dÐ Áb�U�Åv)UÐ fÄ≥ÆXÝ« 

 ‰U¦	≥≥‡‡Å œbŽ U¹¬ ¥≥≤ dÐ ∂øÅXÝ« XL
) qÐU) 

 d?Ð f?Ä ¨X?Ý« ÃË“ œb?Ž s¹« tQ UłÅÊ¬ “«≤g?�U?)—« Ÿu?L?−?� v?-d?Þ “« ÆX?Ý« XL
) qÐU) 

  (4+ 3 +2 = 9) ¨π d?Ð t?Q XÝ« ≥ d?Ð œb?Ž s?¹« ¨t?−?O?²?�—œ ÆX?Ý« X?L?
?) qÐU) ∂Ë X?L?
?) q?ÐU) 

ÆXÝ« dHj Ê¬ ÈÅÁb�U�Åv)UÐ

∂ ‡‡ ∏‡‡ ±OKÐUDÅÒ dÐ rO=Ið X∑∫XH¼ dÐ Ê¬ ÈÅÁb�U�Åv)UÐ tQ XÝ« XL
) qÐU) XH¼ dÐ ÈœbŽ 

 œb?Ž r?O?
?I?ð ÈÅÁb?�U?�Åv)UÐ tQÅs¹« È«dÐ ÆXÝ« dHjA¨ÅÅÅ  A = an−1an−2...a2a1a0 d?Ð ∑X?ÝœÅtÐ «— 

∫rOMQÅv� qLŽ d¹“ ÕdýÅtÐ ¨r¹—Ë¬

Ë«Ò vMF¹ dE� œ—u� œbŽ éÇ XLÝ r)— sOG  an−1 vMF¹ ÈbFÐ r)— UÐ Ë rOMQÅv� dÐ«dÐ tÝ «—   an−2

 U?Ð Ë r?OMQÅv� dÐ«dÐ tÝ «— Áb�U�Åv)UÐ Ë d
Q «—ÅÊ¬ XH¼ ÈU¼Å»dC� fáÝ ÆrO¹UL�Åv� lLł  an−3lLł 

b−� ¨Ê¬ “« XH¼ »—UC� d
Q “« fÄ ÆrO¹UL�Åv�Ò«œÎv¹UN� ÈÅÁb�U�Åv)UÐ Uð rO¼œÅv� t�«œ« ‘Ë— sOL¼ tÐ 

Æœuý qjUŠ

 ‰U¦	≥¥‡‡Å œbŽ rO
Ið ÈÅÁb�U�Åv)UÐ µ¥∑≤ dÐ ∑ÆbOMQ «bOÄ «— 

 r)—µ UÐ «— Ê¬ fáÝ Ë dÐ«dÐ tÝ «b²Ð« «— ¥ÆrOMQÅv� lLł   5 × 3 =15

             15 + 4 =19

 »dC�∑ vMF¹ ±¥ Áb�U�Åv)UÐ ªrOMQÅv� rQ Ê¬ “« «— µÆœuýÅv�              19 −14 = 5

              5 × 3 =15

µ UÐ «— Ê¬ fáÝ Ë dÐ«dÐ tÝ «b²Ð« «— ∑ÆrOMQÅv� lLł   15 + 7 = 22

 vMF¹ XH¼ »dC�≤±ÆrO¹UL�Åv� d
Q Ê¬ “« «—   22 −21=1

 vMF¹ t−O²�± UÐ «— Ê¬ fáÝ Ë dÐ«dÐ tÝ «— ≤ÆrOMQÅv� lLł   1× 3 = 3

 œbŽµ œbŽ rO
Ið Áb�U�Åv)UÐ tQ œuýÅv� qjUŠ µ¥∑≤ dÐ ∑ÆXÝ«   3 +2 = 5

 ‰U¦	≥µ‡‡Å œbŽ U¹¬ ±∏±≥øXÝ« XL
) qÐU) XH¼ tÐ 

  1× 3 = 3



ÅÅÅÅÅÅÅÅ±≤

ÆrOMQÅv� lLł r)— sO�Ëœ UÐ «— t−O²� Ë rO¹UL�Åv� dÐ«dÐ tÝ «— r)— sOGË«  3 + 8 =11

  11− 7 = 4

 »dC�∑b−� Ë d
Q Ê¬ “« «— Ò«œÎÆrOMQÅv� dÐ«dÐ tÝ   4× 3 =12

  12 +1=13

ÆrO¼œÅv� t�«œ« VOðdð sOL¼ÅtÐ Ë  13 − 7 = 6

  6 × 3 =18

  18 + 3 = 21

  21−21=0

 œbŽ fÄ ¨œuýÅv� dHj t−O²�±∏±≥ dÐ ∑ dÐ Ê¬ ÈÅÁb�U�Åv)UÐ ËÅÅÅÅXÝ« XL
) qÐU) ∑ÆXÝ« dHj ¨

∑Å‡‡Å∏ ‡‡ ±OKÐUDÅÒ dÐ rO=Ið X∏∫ tÐ ÈœbŽ ∏Ë« r)— tÝ “« qJA²� œbŽ tQ XÝ« XL
) qÐU) Ò‰

ÆbýUÐ dHj Ê¬ XÝ«— XLÝ r)— tÝ U¹ Ë ¨býUÐ XL
) qÐU) XA¼ tÐ ¨Ê¬ XÝ«— XLÝ

 œb?Ž r?O?
?I?ð ÈÅÁb?�U?�Åv?)U?Ð Êœd?Q«b?O?Ä È«dÐA ¨  A = an−1an−2...a2a1a0d?Ð  ∏X?Ý« v?-U?Q 

 œbŽ ÈÅÁb�U�Åv)UÐ  a2a1a0 dÐ «— ∏XÝ«— XLÝ ‰Ë« r)— tÝ ÈÅÁb�U�Åv)UÐ d~¹œ  —U³Ž tÐÆrO¹UL� t³ÝU×� 

 d?Ð «— œb?Ž Ê¬∏—œ «— ÊU?J?¹ r?)— v?M?F?¹ r?O?M?QÅv� »U
Š   2
0

—œ «— ÊU?~?¼œ r)—ÅÅ¨  2
1

«— ÊU?Öb?j r)— Ë

—œ  2
2

 ÈËU?
?� U?¹ d?ðÅ¯—e?Ð q?jU?Š t?QÅv?ð—u?j —œÅ¨r?O?M?QÅv?� l?L?ł r¼ UÐ «— U¼ÅÊ¬ qjUŠ Ë »d{ÅÅ∏

 »—UC�Å¨býUÐ∏ “« dðÅrQ tÐ Áb�U� Uð rOMQÅv� rQ Ê¬ “« «— ∏ÆbÝdÐ 

 Å‰U¦	≥∂‡‡Å œbŽ U¹¬ ±∏¥∏øXÝ« XL
) qÐU) XA¼ tÐ 

 t?Q UłÅÊ¬ “«∏¥∏ f?Ä ¨X?Ý« X?L
) qÐU) XA¼ tÐ ±∏¥∏ÆX?Ý« X?L?
) qÐU) XA¼ tÐ eO� 

 ÈÅÁb�U�Åv)UÐ ÊœdQ «bOÄ È«dÐÅ®∏¥∏ tÐ ∏Ë« ¨Ò UÐ «— éÇ XLÝ r)— sOG∏tQÅvð—uj—œ Uð rOMQÅv� t
¹UI� 

 ÈËU
� U¹ dðÅ¯—eÐ∏ býUÐ ∏ vMF¹ ÈbFÐ r)— UÐ «— Áb�U�Åv)UÐ fáÝ ̈ rO¹UL� d
Q Ê¬ “« «— ¥—«d) r¼ —UMQ 

b−� Ë rO¼œÅv�Ò«œÎ »dC� ∏ vMF¹ r)— s¹dš¬ UÐ «— Áb�U�Åv)UÐ Ádš_UÐ Ë rOMQÅv� rQ Ê¬ “« «— ∏r¼ —UMQ 

 »dC� Ë rO¼œÅv� —«d)∏ dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ ÆrOMQÅv� rQ Ê¬ “« «— ∏©ÅÆœœdÖÅv� hDA� 

 Å‰U¦	≥∑‡‡Å œbŽ U¹¬   5,473,000 tÐ ∏øXÝ« XL
) qÐU) 

 tÐ œbŽ s¹« fÄ ¨XÝ« dHj Ê¬ XÝ«— XLÝ r)— tÝ ÊuÇ∏ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

 dÐ Ê¬ rO
Ið∏ÆXÝ« dHj UÐ dÐ«dÐ ¨

 Å‰U¦	≥∏‡‡Å œbŽ U¹¬ ∑¥µµ tÐ ∏øXÝ« XL
) qÐU) 



 ÅÅÅÅÅÅ±≥

 ÊuÇ¥µµ tÐ ∏ fÄ ¨©ÅXÝ« œd- œbŽÅ® X
O� XL
) qÐU) ∑¥µµ tÐ eO� ∏ÆX
O� XL
) qÐU) 

�«Ò “« d?ðÅrQ Ë dHj “« dðÅ¯—eÐ ÈœbŽ tQ Áb�U�Åv)UÐ s²-U¹ È«dÐ U∏œbŽ s¹dðÅp¹œe� XÝ« Â“ô ¨XÝ« 

 »dC�ÅvL)—ÅtÝ∏ tÐ ¥µµ “« Ë œuL� «bOÄ «— ¥µµ œbŽ Ê¬ tQ œdQ rQ ¥¥∏ÆXÝ« 

  455 − 448 = 7  

 œbŽ rO
Ið ÈÅÁb�U�Åv)UÐ ¨s¹«dÐUMÐ∑¥µµ dÐ ∏ UÐ dÐ«dÐ ¨∑ œbŽ “« dÖ« XÝ« vN¹bÐÆXÝ« ∑¥µµ

 œbŽ∑ tÐ tQ b�U�Åv� v)UÐ ÈœbŽ ¨rOMQ rQ «— ∏ÆXÝ« XL
) qÐU) 

  7455 − 7 = 7448

(5 ×2
0
) + (5 ×2

1
) + (4 ×2

2
) = 5 +10+16 = 31 

—œ «— ÊUJ¹ r)—  2
0

—œ «— ÊU~¼œ r)—ÅÅÅ¨  2
1

—œ «— ÊUÖbj r)— Ë  2
2

U¼ÅÊ¬ qjUŠ Ë rOMQÅv� »d{ÅÅ

 Êu?ÇÆr?O?M?QÅv?� l?L?ł r¼ UÐ «—≥± “« d?ðÅ¯—e?Ð ∏ X?Ý« ≤¥r?O?M?QÅv?� rQ Ê¬ “« «—   31−24 = 7f?Ä

 œbŽ rO
Ið ÈÅÁb�U�Åv)UÐ∑¥µµÅÅdÐÅÅ∏ UÐ dÐ«dÐ ∑ÆXÝ« 

 tQ œuýÅv� tEŠö�∑¥¥∏ tÐ ∏ «d¹“ XÝ« XL
) qÐU) ¥¥∏ tÐ ∏ÆXÝ« XL
) qÐU) 

∏ÅÅÅÅ‡‡ÅÅÅ∏‡‡ÅÅÅÅ±O?KÐUDÅÒ d?Ð r?O?=Ið Xπ∫ t?Ð ÈœbŽ π t?Ð g?�U?)—« Ÿu?L?−?� tQ XÝ« XL
) qÐU) π

 »dC� s¹dðÅp¹œe� g�U)—« ŸuL−� “« dÖ« XÝ« vN¹bÐ ÆbýUÐ XL
)ÅqÐU)π¨Áb�U�Åv)UÐ Ë rOMQ d
Q «— 

 “« dðÅpÇuQ ÈœbŽπ dÐ rO
Ið ÈÅÁb�U�Åv)UÐ ¨œbŽ s¹« ¨œuý πÆXÝ« 

 Å‰U¦	≥π‡‡Å U¹¬ ≤π≥¥ tÐ πøXÝ« XL
) qÐU) 

∫rO¹UL�Åv� t³ÝU×� «— œbŽ Ê¬ ÂU)—« ŸuL−�  2+9+ 3 + 4 =18

 ÊuÇ±∏ »dC� π tÐ œbŽ Ê¬ fÄ ¨XÝ« πÆXÝ« XL
) qÐU) 

 Å‰U¦	¥∞‡‡Å U¹¬ µ≥∑∂ tÐ πøXÝ« XL
) qÐU) 

∫rOMQÅv� t³ÝU×� «— œbŽ Ê¬ ÂU)—« ŸuL−�  5 + 3 + 7 +6 = 21

 »dC�π∫rO¹UL�Åv� rQ Ê¬ “« «—   21−18 = 3

 tÐ œbŽ s¹« ¨fÄπ dÐ œbŽ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ Ë X
O� XL
) qÐU) π UÐ dÐ«dÐ ¨≥ÆXÝ« 

πÅ‡‡Å∏Å‡‡ ± dÐ rO=Ið XOKÐUDÅ±∞∫ tÐ ÈœbŽ ±∞Ë« tQ XÝ« XL
) qÐU) ÒXÝ«— XLÝ r)— sOG

ÈÅÁb�U�Åv)UÐ r)— ÊUL¼ ¨býUÐ dHj “« dOž ÅvL)— ¨ÅÊ¬ XÝ«— XLÝ r)— dÖ« XÝ« vN¹bÐ ÆbýUÐ dHj Ê¬

 dÐ œbŽ Ê¬ rO
Ið±∞ÆXÝ« 



ÅÅÅÅÅÅÅÅ±¥

 Å‰U?¦	¥±‡?‡Å U¹¬ ≤∂µ¥ d?Ð ±∞«— Ê¬ ÈÅÁb?�U?�Åv?)U?Ð X?Ý« v?H?M?� »«uł dÖ« øXÝ« XL
) qÐU) 

ÆbOMQ t³ÝU×�

Ë« Êu?ÇÒ d?Ð œb?Ž s?¹« f?Ä ¨X?
?O?� d?H?j Ê¬ XÝ«— XLÝ r)— sOG±∞Ë X?
?O?� X?L
) qÐU) 

 dÐ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ±∞ œbŽÅ¨Å¥Ë« «d¹“ XÝ« Ò Ê¬ XÝ«— XLÝ r)— sOG¥ÆXÝ« 

 Å‰U?¦	¥≤‡‡Å U?¹¬ µ∂∑∞ dÐ ±∞Ë« r?)— Êu?Ç øX?Ý« X?L
) qÐU) Òd?H?j œb?Ž Ê¬ XÝ«— XLÝ ‰

 dÐ fÄ ¨XÝ«±∞ÆœuÐ b¼«uš dHj Ê¬ ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

±∞ÅÅÅÅÅ‡‡Å∏‡‡ Å ±O?KÐU‡D Òd?‡?Ð rO=Ið X±±∫ `?O?×?j œb?‡‡Ž rOMQ ÷d‡‡- A Åq?�Uý nb?ýUÐ r)— 

  A = an−1an−2...a2a1a0 ÂU)—« ÊUJ� AË r¹dOÖÅv� dE�—œ ̈ œd- Ë ÃË“ VOðdðÅtÐ ̈ éÇ tÐ XÝ«— “« «— 

d?Ö« ¨r?O?M?QÅv?� U?N?M� œd- ÈU¼ÅÊUJ� ÂU)—« ŸuL−� “« ¨lLł “« fÄ «— ÃË“ ÈU¼ÅÊUJ� —œ ÂU)—« fáÝ

dÐ œbŽ ¨býUÐ dHj Áb�U�Åv)UÐ±± “« dðÅrQ Ë X³¦� Áb�U�Åv)UÐ dÖ« vGË ÆXÝ« XL
) qÐU)Å±±ÊUL¼ ¨œuÐ 

 œbŽ rO
Ið ÈÅÁb�U�Åv)UÐ œbŽA dÐ ±±�« ÆœuÐ b¼«uš Ò “« dðÅ¯—eÐ Ë X³¦� U¹ vHM� Áb�U�Åv)UÐ dÖ« U±±

 »dC� b¹UÐ ÁUÖÅÊ¬ ¨œuÐ±± “« dðÅpÇuQ tQ vF)«Ë ÈÅÁb�U�Åv)UÐ Uð œuL� rQ U¹ t-U{« Ê¬ÅtÐ «— ±±¨XÝ« 

Æb¹¬ XÝœÅtÐ

 Å‰U¦	¥≥‡‡Å œbŽ tQ bOMQ vÝ—dÐ ≤∑¥π≥ dÐ ±±ødOš U¹ XÝ« d¹cÄÅgDÐ 

 dÐ «—ÅÊ¬ ÈÅÁb�U�Åv)UÐ ¨XÝ« vHM� »«uł tÇÅÊUMÇ±±ÆbOMQ «bOÄ 

  (3 + 4+2) − (9+ 7) = 9−16 = −7

  −7 +11= 4

 ËUHð ÆrO¹UL�Åv� lLł r¼ UÐ eO� «— œd- ÈU¼ÅÊUJ� —œ ÂU)—« Ë r¼ UÐ «— ÃË“ ÈU¼ÅÊUJ� —œ ÂU)—«

 U¼ÅÊ¬  −7 ÊœdQÅt-U{« UÐ tQ ̈ XÝ« ±± t−O²� ̈ Ê¬ÅtÐ ¥ dÐ œbŽ s¹« ̈ fÄ ÆœuýÅv� ±±X
O� XL
) qÐU) 

 dÐ Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ Ë±± œbŽÅÅ¨Å¥ÆXÝ« 

 Å‰U¦	¥¥‡‡Å U¹¬ ±±π≥µ dÐ ±±øXÝ« XL
) qÐU) 

r¼ UÐ «— ÃË“ ÈU¼ÅÊUJ� —œ ÂU)—«  5 +9+1=15

ÆrO¹UL�Åv� lLł r¼ UÐ «— œd- ÈU¼ÅÊUJ� —œ ÂU)—« Ë       3 +1= 4

 U¼ÅÊ¬  ËUHð±±                                                              ÆXÝ«   15 − 4 =11

 ÊuÇ±± »dC� ±± tÐ œbŽ Ê¬ fÄ ¨XÝ« ±±d?Ð Ê¬ rO
Ið ÈÅÁb�U�Åv)UÐ Ë XÝ« XL
) qÐU) 

±±ÆœuýÅv� dHj ¨eO� 



 ÅÅÅÅÅÅ±µ

π‡‡Å±d=� Êœd� ÁœUÝÅ

rO�«uðÅv� ̈ bMýUÐ p¹ “« dOž Ë dHj nGUD� vQd²A� q�UŽ È«—«œ ̈ Èd
Q ÃdD� Ë  —uj dÖ«

ÃdD� Ë  —uj b¹UÐ d
Q ÊœdQ ÁœUÝ È«dÐ ¨d~¹œ  —U³Ž tÐ ÆrOMQ rO
Ið „d²A� q�UŽ Ê¬ dÐ «— U¼ÅÊ¬

 tÐ t�UÖ«bł «—ÅÊ¬t¹e−ð »d{ q�«uŽdHj nGUD� ¨»d{ q�«uŽ „«d²ý«  —uj —œ fáÝ ÆœuL� 

ÆœdQ ·cŠ «— U¼ÅÊ¬ ÃdD� Ë  —uj sOÐ

 ełÅtÐ ÃdD� Ë  —uj sOÐ vQd²A� q�UŽ êO¼ tÇÅÊUMÇ XÝ« vN¹bÐ±tQ r¹dOÖÅv� t−O²� ̈ býU³� 

ÆbM¹uÖ d¹cÄU�Åq¹u×ð d
Q ¨U¼d
Q Ÿu� s¹« tÐ ÆX
O� ÁœUÝ d
Q s¹«

 ‰U¦	¥µ‡‡Å d
Q ¨ÊUJ�«  —uj —œ 

  

21
22

ÆbOMQ ÁœUÝ «— 

21
22

=
3 × 7
2×11

XÝ« d¹cÄU�Åq¹u×ð d
Q s¹« œuýÅvL� X-U¹ vQd²A� q�UŽ êO¼ d
Q ÃdD� Ë  —uj —œ ÊuÇ

ÆœuýÅvL� ÁœUÝ Ë

 ‰U¦	¥∂‡‡Å d
Q ¨ÊUJ�«  —uj —œ 

  

150
21

ÆbOMQ ÁœUÝ «— 

150
21

=
2× 3 × 5 × 5

3 × 7

 ÃdD� Ë  —uj sOÐ „d²A� q�UŽ UNMð≥∫fÄ ÆXÝ« 

150
21

=
50
7

 ‰U¦	¥∑‡‡Å d
Q¨ ÊUJ�«  —uj —œ 

  

210
315

ÆbOMQ ÁœUÝ «— 

210
315

=
2× 3 × 5 × 7
3 × 5 × 7 × 3

210
315

=
2
3

 „d?²A� q�«uŽ≥ ¨Åµ ¨Å∑U?¼ÅÊ¬ ·c?Š UÐ ¨s¹«dÐUMÐ Æb�«ÅÊœdQ ·cŠ qÐU) ÃdD� Ë  —uj sOÐ 

 d
Q

  

2
3

ÆœœdÖÅv� qjUŠ 



ÅÅÅÅÅÅÅÅ±∂

±∞‡‡±v�U	 —u	« —œ vM¼–  U³ÝU×	 œdÐ—U� 

ôu?L?F?� Ê«—«b?ÐU?
?Š ¨b?¹«ÅÁb?�«u?š È—«bÐU
Š ”—œ —œ tQ —uÞÅÊUL¼Î¨v?GU?� ÈÅÁ—Ëœ ÊU¹UÄ —œ 

s¹« dÐ Uð bMMQÅv� tONð åvA¹U�“¬ “«dðò Ê«uMŽ X×ð «— U¼ÅÊ¬ ÈÅÁb�U� Ë qQ d²-œ ÈU¼Å»U
Š “« v²ÝdN-

Êu?²?Ý ÂU?)—« q?Q l?L?ł d?Ö« d?~?¹œ ·dÞ “« ÆbM¹UL� tONð «— vGU� ÈU¼Å —uj bM�«u²Ð dðÅXŠ«— ”UÝ«

ÈdOÖÅÁb�U� Ë ‰UI²�« ̈ X³Ł X×j “« Ê«—«bÐU
Š ̈ býUÐ dÐ«dÐ r¼ UÐ vA¹U�“¬ “«dð —UJ�U²
Ð Êu²Ý Ë —UJ¼bÐ

�« ÆbMMQÅv� qjUŠ ÊUMOLÞ« v¹ôUÐ —UO
Ð bŠ Uð U¼Å»U
ŠÒÊu²Ý Ë —UJ¼bÐ Êu²Ý ÂU)—« qQ lLł dÖ« U

Ê¬ XÝ« nþu� —«bÐU
Š Ë Áœ«œ Œ— v¼U³²ý«  —ujÅs¹« —œ ¨býU³� dÐ«dÐ r¼ UÐ vA¹U�“¬ “«dð —UJ�U²
Ð

t�U�“Ë— d²-œ ÈU¼ÅX³Ł Áu³�« ÊUO� “« «— ÁU³²ý« bM�«u²Ð Ê«—«bÐU
Š tQÅs¹« È«dÐ Æb¹UL� ·dÞdÐ Ë bÐUOÐ «—

dÖ« tQ VOðdð s¹« tÐ ÆbMMQ ÁœUH²Ý« vM¼–  U³ÝU×� “« b¹UÐ ¨bMMQ «bOÄ dðÅl¹dÝ qQ d²-œ  U×Hj eO� Ë

 œbŽ dÐ rO
Ið qÐU) vA¹U�“¬ “«dð —UJ�U²
Ð Ë —UJ¼bÐ Êu²Ý Ëœ lLł ·ö²š«≤tÐ  —ujÅs¹« —œ býUÐ 

U¼U³²ý« ¨œU¹“ ‰UL²Š«Î‰UI²�« —œ dÖ« ¨‰U¦� È«dÐ ÆfJFGUÐ U¹ Ábý X³Ł —UJ�U²
Ð XLÝ —œ —UJ¼bÐ p¹ 

 q?Q d²-œ tÐ t�U�“Ë— d²-œ “« ÂU)—«≤µ∞U¼U³²ý« «— vM²-U¹—œ »U
Š —UJ¼bÐ ‰U¹— Î»U?
Š —UJ�U²
Ð tÐ 

ÂU?)—« ÈÅÁb?�U� ÈË— “« «— vA¹U�“¬ “«dð v²)Ë  —ujÅs¹« —œ rOýUÐ ÁœdQ qI²M� qQ d²-œ —œ vM²-U¹—œ

U?F?Lł —UJ�U²
Ð Ë —UJ¼bÐ Êu²Ý sOÐ ¨rOMQÅv� tONð qQ d²-œÎ µ∞∞ t?Q œ—«œ œułË ·ö²š« ‰U¹— µ∞∞

 œb?Ž d?Ð r?O?
Ið qÐU) ÈœbŽ≤ r?O?
Ið “« ÆXÝ« µ∞∞ dÐ ≤ œb?Ž ≤µ∞V?O?ðd?ð s¹«ÅtÐ Ë b¹¬Åv� XÝœÅtÐ 

 œb?Ž b?¹U?Ð œu?łu� ÁU³²ý« l-— È«dÐ tQ œuýÅv� tłu²� —«bÐU
Š≤µ∞q?Q d²-œ Ë t�U�“Ë— d²-œ —œ «— 

q?ÐU?) v?A?¹U?�“¬ “«d?ð —U?J?�U²
Ð Êu²Ý Ë —UJ¼bÐ Êu²Ý Ëœ ·ö²š« dÖ« tQ s¹« d~¹œ ‰U¦�ÆbMQ vÐU¹œ—

 œbŽ dÐ rO
Iðπs?²ýu� t-U{« U¹ s²š«b�« Uł “« výU� b�«uðÅv� œułu� ·ö²š«  —ujÅs¹« —œ ¨býUÐ 

ö?¦?�® »u?K?I?� X?³Ł U¹ œ«bŽ« dš¬ dHj p¹Î ≥≤U?¼U³²ý« «— Î ≤≥r?)— d?Ö« ¨‰U?¦?� È«d?Ð ÆbýUÐ ©rO
¹uMÐ 

 ÈU?ł tÐ «— bI�ÅtłË≤±∞∞∞U¼U³²ý« ‰U¹— Î ≤±∞∞“«d?ð —œ  —u?jÅs¹« —œ rOMQ qI²M� qQ d²-œ tÐ ‰U¹— 

 l?L?ł vA¹U�“¬≤ ÈÅÁ“«b?�« t?Ð —U?J?�U²
Ð Ë —UJ¼bÐ Êu²Ý ±∏π∞∞® Ω ‰U¹— ≤±∞∞≠≤±∞∞∞·ö?²š« ©

 tQ UłÅÊ¬ “« ÆXý«œ b¼«uš±∏π∞∞ dÐ rO
Ið qÐU) ÈœbŽ π dÐ«dÐ rO
Ið s¹« qjUŠ Ë ≤±∞∞¨XÝ« 

t?Q ÁœuÐ Èœ—u� tÐ ◊uÐd� ÁU³²ý« œU¹“ ‰UL²Š« tÐ tQ œuýÅv� ÊuLM¼— Ÿu{u� s¹« tÐ —«bÐU
Š s¹«dÐUMÐ

 Ê¬ œbŽ≤±∞∞ÆbMQÅv� vÐU¹œ— «— œbŽ s¹« Ë XÝ« 

tQ ̈ ÊUAðU¼U³²ý« s²-U¹ —œ Ê«—«bÐU
Š tÐ b�«uðÅv� vM¼–  U³ÝU×� ̈ b¹œdQ tEŠö� tQ —uÞÅÊUL¼

ÆœuÐ Ê¬ “« È«Åt�uL� —uQc� œ—u� Ëœ tQ bMQ pLQ ÈœU¹“ œËbŠ Uð ¨XÝ« ÈdOÖÅX)Ë —UQ



 ÅÅÅÅÅÅ±∑

« qB� ÈU�Ås�dL�ËÒ‰

ÆbO¼œ aÝUÄ vM¼– —uÞÅtÐ «— qzU
� bOMQ vFÝ ¨ÊUJ�« bŠ —œ

± »d{ÅqjUŠ ‡‡Å  41 ¨Å  200 ¨  34 ¨Å  1 ,456 —œ  50ÆbOMQ t³ÝU×� vM¼–  —ujÅtÐ «— 

≤ »d{ÅqjUŠ ‡‡Å  88 ¨Å  972 ¨Å  359 ¨Å  14,752 —œ  250ÆbOMQ t³ÝU×� vM¼–  —ujÅtÐ «—ÅÅ

≥ÆbO¼œ aÝUÄ vM¼–  —ujÅtÐ «— d¹“ ÈU¼Å»d{ qjUŠ ‡‡Å

  19,000×19 =  1, 300×130=

  1,800×1,800=  17 ×170=

¥ÆbO¼œ aÝUÄ vM¼–  —ujÅtÐ «— d¹“ ÈU¼Å»d{ÅqjUŠÅ‡‡Å

  150,000×1,500=  35 × 350=

  65,000×65,000=  9500×95 =

µ dÐ «— œ«bŽ« s¹« ‡‡ÅÅµÆb¹—Ë¬ XÝœÅtÐ vM¼– ‘Ë— tÐ «— aÝUÄ Ë bOMQ rO
Ið 

  2, 355  180

  2,005  67,500

∂ dÐ œ«bŽ« s¹« rO
Ið qjUŠ ‡‡Å≤µ∞ÆbOMQ «bOÄ vM¼–  —ujÅtÐ «— 

  39,750  44,750

  738,750  5,000

∑ð« “« ÁœUH²Ý« UÐ ‡‡ÅÒÆbOMQ t³ÝU×� «— d¹“ ÈU¼Å»d{ÅqjUŠ ¨œU×

  999×999 =  107 ×93 =

  3,998 × 3,998 =  201×199 =

  5,003 × 5,003 =  10,001×10,001=

 ∏∫bOMQ ÁœUÝ «— d¹“ ÈU¼d
Q ‡‡Å

78
114

         
350
735

          
1980
5940

        

105
 280 
 322  
112

π tÐ tQ XÝ« XL
) qÐU) ÆÆÆÆÆ tÐ ÈœbŽ ‡‡Å≤ÆbýUÐ XL
) qÐU) ÆÆÆÆ Ë 

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○



ÅÅÅÅÅÅÅÅ±∏

±∞ tÐ tQ XÝ« XL
) qÐU) ÆÆÆÆÆ tÐ ÈœbŽ ‡‡Å≥ Ë ¥ÆbýUÐ XL
) qÐU) 

±± tÐ ÈœbŽ ‡‡Å±∞ tÐ tQ XÝ« XL
) qÐU) ≤ÆbýUÐ XL
) qÐU) ÆÆÆÆ Ë 

±≤ tÐ ÈœbŽ ‡‡Å≥≥ Ë ÆÆÆÆ tÐ tQ XÝ« XL
) qÐU) ±±ÆbýUÐ XL
) qÐU) 

±≥ tÐ ÈœbŽ ‡‡Å≥πÆbýUÐ XL
) qÐU) ÆÆÆÆÆ Ë ÆÆÆÆ tÐ tQ XÝ« XL
) qÐU) 

±¥Å‡‡Åµ∞∞\≤ Œd?� U?Ð «— v¹ôUQ “« bŠ«Ë ≤µ∞ d?Ö« Ær?¹«ÅÁb�UÝ— ‘Ëd-ÅtÐ ‰U¹— µs¹« “« bj—œ 

ÆbO¹UL� t³ÝU×� vM¼– ‘Ë—ÅtÐ «— tKjUŠ œuÝ ¨býUÐ œuÝ mK³�

±µð« “« ÁœUH²Ý« UÐ ‡‡ÅÒ qjUŠ U¼œU×  9992
Æb¹—Ë¬ XÝœÅtÐ «— 

±∂ ÈUłÅtÐ ‡‡a œbŽ —œ ¥µa≤ tÐ œbŽ Ê¬ Uð œ«œ —«d) Ê«uðÅv� v�U)—« U¹ r)— tÇ ≥ Ë ¥d¹cÄÅgDÐ 

øbýUÐ

±∑ œ«b?F?ð b?¼«ušÅv� v²Qdý ‡‡µ∑∂≤ s?O?Ð «— œuš  «bOGuð “« bŠ«Ë ±±—u?ÞÅtÐ gDÄ eQd� 

øœdQ b¹UÐ tÇ X
O� dÖ« øXÝ« d¹cÄÅÊUJ�« qLŽ s¹« U¹¬ Æb¹UL� l¹“uð ÈËU
�

±∏ mK³� tÐ tO
� ‘Ëd- X³Ł ÂU~M¼ tÐ v²Qdý —«bÐU
Š bOMQ ÷d- ‡‡¥∏∞∞∞ÈU¼Å»U
Š ̈ ‰U¹— 

 «— vM²-U¹—œ¥∏∞∞∞ mK³� tÐ «— ‘Ëd- Ë —UJ¼bÐ ‰U¹— ¥∏∞∞tÇ ÁU³²ý« s¹« ÆXÝ« ÁœdQ —UJ�U²
Ð ‰U¹— 

 U³ÝU×� o¹dÞ “« Ê«uðÅv� t�u~Ç Ë œ—«œ vA¹U�“¬ “«dð —UJ�U²
Ð Ë —UJ¼bÐ ÈU¼ÅÊu²Ý ÈÅÁb�U� dÐ ÈdOŁQð

øœdQ nAQ dðÅl¹dÝ «— ÁU³²ý« s¹« vM¼–

±πtłu²� b�œdQ tONð «— vA¹U�“¬ “«dð XQdý Ê«—«bÐU
Š tQ v�U~M¼ vGU� ÈÅÁ—Ëœ ÊU¹UÄ —œ ‡‡

 Ê«eO� tÐ Ê¬ —UJ�U²
Ð Ë —UJ¼bÐ Êu²Ý lLł tQ b�bý∏∑µ∞∞ÈœU¹“ X)Ë tQÅs¹« UÐ Ë œ—«œ ·ö²š« ‰U¹— 

�« b�uý tłu²� «— ·ö²š« s¹« qOGœ Uð b�«ÅÁœdQ ·djÒ«— È—UJ¼«— tÇ ULý Æb�«ÅÁbOÝd� t−O²� tÐ “uM¼ U

øbMÐUOÐ «— ÁU³²ý« s¹« bM�«u²Ð dðÅl¹dÝ Uð bO¼œÅv� œUNMAOÄ U¼ÅÊ¬ tÐ



ÅÅÅ±π

ÂËœ qB�

X³
� tÐ rON
ð ÈU¼œdÐ—U�

 ∫È—U²�— ÈU¼Å·b¼∫ÅœË—Åv� —UE²�« Áb�dOÖ«d� “« ¨qB� s¹« ÊU¹UÄ —œ

±ÆÅbM� t³ÝU×� «— v�U¹“ Ë œuÝ ÈU¼ÅX³(� Ÿ«u�« ‡‡ 

≤ÆÅbM� sJýdÝ nK²0� ÈU¼ÅX³(� UÐ «— tM¹e¼ m4U³� ‡‡ 

≥È—«bÐU(Š —œ «— Ê¬ tÐ ◊uÐd�  UŽu{u� Ÿ«u�« Ë X³(� Ë b<—œ ÈÅtDÐ«— Å‡‡ 

ÆÅb¼œ hO0Að

¥ÆÅbM� qŠ «— X�—UA� qzU(� Ÿ«u�« ‡‡ 

µÂU−�« nK²0� ÈU¼ÅX³(� UÐ «— v�UNÝdOž ÈU¼ÅX�dý —œ ÊU¹“ Ë œuÝ rO(Ið ‡‡ 

ÆÅb¼œ

≤X³
� tÐ rON
ð ÈU¼œdÐ—U� ‡‡

±‡‡≤v�U¹“ Ë œuÝ ÈU¼ÅX³
� Ÿ«u�«ÅÅÅ

Jœ ¨v4U� ÈU¼Å —u< ÈÅÁbLŽ ÂöJ« sOÐ ÈÅtDÐ«— t� XÝ« bOH� qO4œ s¹« tÐ X³(� ÈÅt³ÝU×�ÒX

v4U� ÈÅÁ—Ëœ —œ U¼ÅX³(� d¹UÝ UÐ t� bMM�Åv� «bOÄ ÂuNH� dðÅgOÐ v²JË U¼ÅX³(� s¹« ÆÅbM�Åv� «bOÄ v{U¹—

K(� ÆÅb�œdÖ t(¹UI� ©»uKD� ÈU¼œ—«b�U²Ý« UÐ U¹ Ë tÐUA�  U(ÝR� UÐ U¹® È—U& bŠ«Ë ÊUL¼ q³JÒULÎdOÝ 

ö?¦� ¨ÊU�“ ‰uÞ —œ U¼ÅX³(� b�Ë— ‰u%Î‰U?Ý p?¹ —œ U¼ÅX³(� vÝ—dÐ UÐ t(¹UI� ÂUI� —œ ¨‰UÝ bMÇ 

OF�ÒOL¼« Vð«d�ÅÅÅtÐ ¨sÒÆÅœ—«œ ÈdðÅgOÐ X

Þ« Ê«uðÅv� ¨t(ÝR� d¼ ÊU¹“ Ë œuÝ ÈU¼Å —u< oOJœ vÝ—dÐ UÐÒv¹¬—U� œ—u� —œ v³4Uł  UŽö

¨È—«c?ÖÅt¹U�dÝ ÿU( “« ¨È«Åt(ÝR� —u�« —œ t� v�U(� dðÅgOÐ ÆÅœ—Ë¬ XÝœÅtÐ t(ÝR� Ê¬ X¹d¹b� Ë



ÅÅÅÅÅÅÅÅÅÅÅÅÅ≤∞

ôuLF� ¨bM²(¼ bM�ÅtJöŽ U¹ lH�ÅÈ– ¨Ê¬ XO4UF� Áœ“UÐ U¹ —U³²Ž«Î»U(Š tÐ X³(� X�dý œuÝ Ê«eO� tÐ 

łuð È—«cÖÅt¹U�dÝ Ë ‘Ëd�ÒÆÅbM¹U/Åv� t

łuð d¹“  UŠöD<« tÐ XÝ« d²NÐ ¨U¼ÅX³(� Y×Ð tÐ 7š«œdÄ “« q³JÒÆÅœœdÖ t

 ∫ÅœuÝK� —uÞÅtÐÒÆ UO4U� d(� “« fÄ œuÝ vMF¹ ¨ÅXÝ« h4Uš œuÝ œuBI� v

 ∫Å‘Ëd� UHOH0ð Ë U¼Åv²AÖdÐ d(� “« fÄ ‘Ëd� vMF¹ ̈ XÝ« h4Uš ‘Ëd� ̈ ‘Ëd� “« —uEM�

ÆÅ‘Ëd�

 ∫ÅÁó¹Ë ‘“—«q� d(� “« fÄ U¼Åv¹«—«œ q�ÒÆÅbM�U� Áó¹Ë ‘“—« «— U¼Åv¼bÐ 

 ∫ÅXÐUŁ v¹«—«œ Èd²�œ ‘“—«“« fÄ XÐUŁ v¹«—«œ vMF¹ ¨XÝ« h4Uš XÐUŁ v¹«—«œ ÈUMF� tÐ

Æt²ýU³�« „öN²Ý« d(�

∫Å‘œd?Ö —œ t?¹U-dÝË b?M?¹u?Ö ‘œd?Ö —œ t?¹U?�dÝ «— È—Uł v¼bÐ d(� “« fÄ È—Uł v¹«—«œ 

ONð È«dÐ sOMÇÅr¼ Ë Ád�“Ë— ÈU¼ÅtM¹e¼ sO�Qð È«dÐ «— Ê¬ Ê«uðÅv� t� XÝ« vGK³� “« v�UŠÒœ«u� ÈÅtÒË« ÒtO4

ÆÅœ«œ —«dJ ÁœUH²Ý« œ—u� ôU� Ë

≤‡‡≤È—Ë¬œuÝ ÈU¼ÅhšUý 

ôuLF�ÎÁó¹Ë ‘“—« ̈ ‘Ëd� Ê¬ Ãd0� —œ Ë t(ÝR� œuÝ Ê¬  —u<—œ t� Èd(� d¼ tÐ 
±

v¹«—«œ ̈

h?šU?ý Ê«u?M?ŽÅt?Ð «— U?¼ÅÊ¬ Ë b?M?¹u?Ö Áœ“U?Ð ¨b?ýUÐ Ábý t²ýu� ‘œdÖ —œ t¹U�dÝ U¹ Ë U¼Åv¹«—«œ ¨XÐUŁ

d?F� È—Ë¬œuÝÒÁœ“U?Ð ¨‘Ëd?� Áœ“U?Ð ∫Åœu?ýÅv?� Á—U?ý« Áœ“U?Ð œ—u?� ZMÄ tÐ jI� UłÅs¹« —œ ÆÅbMM�Åv� v�

Æ‘œdÖ —œ ÈÅt¹U�dÝ Áœ“UÐ Ë U¼Åv¹«—«œ Áœ“UÐ ¨XÐUŁ v¹«—«œ Áœ“UÐ ¨Áó¹Ë ‘“—«

±‡‡≤‡‡≤‘Ëd� Áœ“UÐ 
≤

 ∫ÆbM�U�Åv� ‘Ëd� Áœ“UÐ «— ‘Ëd� tÐ œuÝ X³(�

œuÝÅÅ

‘Ëd� Áœ“UÐ 

    
Å

‘Ëd�

∫r¹dÐÅv� —U�ÅtÐ «— d¹“ ‰u�d� ¨rOM� ÊUOÐ b<—œ V(ŠdÐ «— ‘Ëd� Áœ“UÐ rO¼«u0Ð dÖ«

                                                          œuÝ  

b<—œ V(ŠdÐ ‘Ëd� Áœ“UÐ 

                                                          
‘Ëd� 

±v¼bÐ ‡‡−Áó¹Ë ‘“—« Ω v¹«—«œ 

≤‡‡ Return on Sales

  
=

          
×100

=
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ÆXÝ« Áb�¬ XÝœÅtÐ œuÝ —«bI� tÇ ¨‘Ëd‡� ‰U‡¹— bBJ¹ d¼ “« t� b¼œÅv� ÊUA� ¨X³(� s¹«

 ‰U¦-±‡‡ ‰U?Ý p?¹ —œ t� v²�dý ‘Ëd� ≤∞∞ Ê¬ œu?Ý Ë ‰U¹— œ—UOKO� µ∞Áœu?Ð ‰U¹— œ—UOKO� 

∫bO¹UL� t³ÝU×� «— X�dý Ê¬ b<—œ V(ŠdÐ ‘Ëd� Áœ“UÐ Ë ‘Ëd� Áœ“UÐ ÆXÝ«

=
50

200
=0/ 25‘Ëd� Áœ“UÐ 

=
50

200
×100= 25b<—œ V(ŠdÐ ‘Ëd� Áœ“UÐ 

≤‡‡≤‡?‡≤Áó?¹Ë ‘“—« Áœ“UÐ 
±

∫U?¹ ÂU?N?Ý ÊU?³?ŠU?< V?K?ž« s?OMÇÅr¼ Ë Ê«d~KOK×ð “« È—UO(Ð 

È—«cÖÅt¹U�dÝ “« t� «— È«Åt−O²� «d¹“ ªbM�«œÅv� U¼ÅX³(� d~¹œ “« dðÅXOL¼«dÄ «— X³(� s¹« ̈ ÊUA¹« ÊUÖbM¹UL�

ôuLF� Æb¼œÅv� ÊUA� XÝ« Áb�¬ XÝœÅtÐ ÊU�¬Î«d¹“ Æb�dÐÅv� —U�ÅtÐ v4U� ÈÅÁ—Ëœ ‰Ë« —œ «— Áó¹Ë ‘“—« 

ÆœœdÖ t³ÝU×� b¹U³� t� XÝ« Á—Ëœ ÊUL¼ ÊU¹“ U¹ œuÝ “« dŁQ²� ¨Á—Ëœ ÊU¹UÄ —œ Áó¹Ë ‘“—«

œuÝ   

=
                             

Áó¹Ë ‘“—« Áœ“UÐ 

Ë« ÈÅÁó¹Ë ‘“—«             ÒÁ—Ëœ ‰

∫r¹dÐÅv� —U�ÅtÐ «— d¹“ ‰u�d� ¨rOM� ÊUOÐ b<—œ V(ŠdÐ «— Áó¹Ë ‘“—« Áœ“UÐ rO¼«u0Ð dÖ« Ë

œuÝ   

  
=

                             
×100b<—œ V(ŠdÐ Áó¹Ë ‘“—« Áœ“UÐ 

Ë« ÈÅÁó¹Ë ‘“—«         ÒÁ—Ëœ ‰

 ‰U¦-≤‡‡ v?�ËUFð X�dý p¹ œuÝ ∞∞∞\¥≥≤ X?�dý Ê¬ ÈÅÁó¹Ë ‘“—« Ë ‰U¹— ∞∞∞\¥∞∞\≤

ÆbO¹UL� t³ÝU×� «— v�ËUFð X�dý Ê¬ b<—œ V(ŠdÐ Áó¹Ë ‘“—« Áœ“UÐ Ë Áó¹Ë ‘“—« Áœ“UÐ ÆXÝ« ‰U¹—

  
=

432,000
2,400,000

=0/18Áó¹Ë ‘“—« Áœ“UÐ 

  
=

432,000
2,400,000

×100=18b<—œ V(ŠdÐ Áó¹Ë ‘“—« Áœ“UÐ 

≥‡‡≤‡‡≤X?ÐUŁ v¹«—«œ Áœ“UÐ 
≤

∫X?ÝœÅt?Ð X?ÐUŁ v¹«—«œ Áœ“UÐ ¨XÐUŁ v¹«—«œ tÐ œuÝ rO(Ið “« 

ÆœuýÅv� q<UŠ XÐUŁ v¹«—«œ Áœ“UÐ b<—œ ̈ rOM� »d{ b< œbŽ —œ «— Áb�¬ XÝœÅtÐ d(� ÁUÖd¼ Æb¹¬Åv�

œuÝ

=
                  

XÐUŁ v¹«—«œ Áœ“UÐ 

XÐUŁ v¹«—«œ   

±‡‡ Return on Net Worth                                ≤‡‡ Return on Fixed Asset



ÅÅÅÅÅÅÅÅÅÅÅÅÅ≤≤

  œuÝ     

  
=

                  
×100b<—œ V(ŠdÐ XÐUŁ v¹«—«œ Áœ“UÐ 

XÐUŁ v¹«—«œ                                           

 ‰U?¦-≥‡‡ v?²?�dý XÐUŁ v¹«—«œ ∞∞∞\∞∞∞\≥≥∞ Ê¬ œu?Ý Ë ‰U¹— ∞∞∞\µ∞∞\±∂¨X?Ý« ‰U¹— 

ÆbO¹UL� t³ÝU×� «— X�dý Ê¬ b<—œ V(ŠdÐ XÐUŁ v¹«—«œ Áœ“UÐ Ë XÐUŁ v¹«—«œ Áœ“UÐ

  
=

16,500,000
330,000,000

=0/05XÐUŁ v¹«—«œ Áœ“UÐ 

  
=

16,500,000
330,000,000

×100= 5b<—œ V(ŠdÐ XÐUŁ v¹«—«œ Áœ“UÐ 

¥‡‡≤‡‡≤q?� Áœ“UÐ Òv¹«—«œ 
±

∫¹dE� “« È—UO(Ð ÒÈ«d?Ð v?¹UN� hšUý «— X³(� s¹« ¨Ê«“«œdÄÅt

¨X?³?(?� s?¹« ÈÅt?³?ÝU?×� È«dÐ ÆbM�«œÅv� t(ÝR� —u�« ÈÅÁ—«œ« —œ X¹d¹b� v¹¬—U� Ë X¹UH� hO0Að

q?� tÐ «— œuÝ Ê«uðÅv�ÒÊ¬ ¨r?O?M?� t?³?ÝU?×?� b<—œ V(ŠdÐ «— Ê¬ rO¼«u0Ð dÖ« Ë œuL� rO(Ið v¹«—«œ 

 —œ «— X³(�±∞∞ÆrO¹UL�Åv� »d{ 

œuÝ     

=
                

v¹«—«œ Áœ“UÐ 

v¹«—«œ q�       

œuÝ                                                        

  
=

                
×100b<—œ V(ŠdÐ v¹«—«œ Áœ“UÐ 

v¹«—«œ q�                                                     

 ‰U?¦-¥‡‡ t?²?ýcÖ ‰UÝ —œ È«Åt(ÝR� ¥∞Ê¬ v?¹«—«œ q?� d?Ö« ÆX?Ý« t²ý«œ œuÝ ‰U¹— ÊuOKO� 

 t(ÝR�¥∞∞b<—œ V(ŠdÐ «— Ê¬ v¹«—«œ Áœ“UÐ sOMÇÅr¼ Ë t(ÝR� Ê¬ v¹«—«œ Áœ“UÐ ̈ býUÐ ‰U¹— ÊuOKO� 

ÆbOM� t³ÝU×�

œuÝ     

  
=

                
=

40
400

=0/1v¹«—«œ Áœ“UÐ 

v¹«—«œ q�             

=
40

400
= ×100=10b<—œ V(ŠdÐ v¹«—«œ Áœ“UÐ 

µ‡‡ÅÅ≤‡‡≤‘œd?Ö —œ t¹U-dÝ Áœ“UÐ 
≤

∫e?zU?Š —U?O?(Ð ¨ b� ÁUðu� Ê«—UJ�U²(Ð È«dÐ X³(� s¹« 

ö¦� ÆXÝ« XOL¼«ÎdÐ ÁËöŽ ¨bM� Xš«œdÄ ©t¼U� tÝ®  b�ÅÁUðu� Â«Ë v²�dý tÐ b¼«u0Ð p�UÐ p¹ dÖ« 

 ±‡‡ Return on Asset                        ≤‡‡ Return on Working Capital



ÅÅÅ≤≥

łuð dðÅgOÐ X³(� s¹« tÐ U¼ÅX³(� d~¹œ vÝ—d‡ÐÒÆXÝ« ÁbMM�ÅsOOFð X³(� s¹« ̈ d~¹œ  —U³Ž tÐ ÆbM�Åv� t

dÖ« Ë rO¹UL� rO(Ið ‘œdÖ —œ ÈÅt¹U�dÝ tÐ «— œuÝ XÝ«Åv�U� ‘œdÖ —œ t¹U�dÝ Áœ“UÐ Êœd� «bOÄ È«dÐ

 —œ «— X³(� b¹UÐ r¹—Ë¬ XÝœÅtÐ b<—œ V(ŠdÐ «— Ê¬ rO¼«u0Ð±∞∞ÆrOM� »d{ 

œuÝ

=
                      

‘œdÖ —œ t¹U�dÝ Áœ“UÐ 

‘œdÖ —œ t¹U�dÝ       

œuÝ         

  
=

                      
×100b<—œ V(ŠdÐ ‘œdÖ —œ t¹U�dÝ Áœ“UÐ 

‘œdÖ —œ t¹U�dÝ                     

-¦U‰ µÅÅÅ‡‡ Ýd�U¹t œ— Ödœ‘ ýd�²v ∞∞∞\∞∞∞\≥∂¥ —¹U‰ Ë Ýuœ ¬Ê ∞∞∞\¥∏∞\≤µ —¹U‰ «ÝXÆ

ÐU“œÁ Ýd�U¹t œ— Ödœ‘ Ë ÐU“œÁ Ýd�U¹t œ— Ödœ‘ ÐdŠ(V œ—<b ¬Ê ýd�X —« �×UÝ³t �LU¹ObÆ

  
=

25,480,000
364,000,000

=0/07‘œdÖ —œ t¹U�dÝ Áœ“UÐ 

  
=

25,480,000
364,000,000

×100= 7b<—œ V(ŠdÐ ‘œdÖ —œ t¹U�dÝ Áœ“UÐ 

JýÒX?O?F?{Ë b?�«u?ðÅv?� ÈœËb?Š U?ð ¨v�U¹“ Ë œuÝ ÈU¼ÅX³(� s¹« qOK% Ë t¹e& t� X(O� v

�« ªÅb?M� h0A� «— t(ÝR�Òłu?ð e?O?� U?¼ÅX³(� b�Ë— tÐ b¹UÐ ¨d²NÐ ÈdOÖÅt−O²� È«dÐ UÒö?¦� ÆÅœd� tÎb¹UÐ 

OF{Ë Ê«u²Ð Uð œu/ qOK% «— U¼ÅÊ¬  «dOOGð Ë vÝ—dÐ «— t²ýcÖ ‰UÝ tÝ ÈU¼ÅX³(�ÒÁbM¹¬ XÏ«— t(ÝR� 

Jœ r?O?¼«u0Ð dÖ« ÆÅœd� vMOÐÅgOÄÒd?¹U?Ý v�U¹“ Ë œuÝ ÈU¼ÅX³(� tÐ b¹UÐ ¨rO¼œ g¹«e�« «— œuš qLŽ X

łuð ̈ t²ýcÖ ‰UÝ bMÇ —œ U¼ÅÊ¬ b�Ë— ’uBšÅtÐ Ë tÐUA�  U(ÝR�ÒÈU¼b�Ë— sOOFð XÝ« vN¹bÐ ÆÅrOM� t

O?L?¼« —U?O?(?Ð ‰U?Ý b?M?Ç U¹ Ëœ vÞ —œ Áó¹Ë ‘“—« Áœ“UÐ Ë ‘Ëd� Áœ“UÐÒU?�d< ÆÅœ—«œ XÎr?O?�«b?Ð t� s¹« 

X³(� œuÝ b�Ë— vMF¹ ¨—u�c� ÈU¼Åb�Ë— dÖ« ÆÅX(O� v�U� ¨XÝ« ÁœdÐ ÊU¹“ U¹ t²ý«œ œuÝ È«Åt(ÝR�

¨XÝ« »uKD�U� t(ÝR� l{Ë b¼bÐ ÊUA� «— g¼U� ̈ ‰UÝ bMÇ vÞ —œ Áó¹Ë ‘“—« tÐ X³(� U¹ ‘Ëd� tÐ

b� ‰uÞ —œ bMÇd¼ÒÆÅbýUÐ t²ý«œ œuÝ  

Ë b?M?¼bÐ ÊUA� «— vÐuKD� b�Ë— U¼ÅX³(� ÈÅtL¼ ¨v²4UŠ d¼ —œ t� Xý«œ —UE²�« Ê«uðÅv/ t²³4«

I% dðÅr� r¼ œuÝ g¹«e�« Ë ‘Ëd� o�Ë— ÊU�“ —œ v²Š s¹«Ò¨‘Ëd� Áœ“UÐ XÝ« sJ2 ÆÅbM�Åv� «bOÄ o

b?� ÊU?L¼ —œ t� v4UŠ —œ b¼bÐ ÊUA� «— g¼U� ¨‘Ëd� tÐ œuÝ X³(� vMF¹Ò‘“—« tÐ œuÝ ÈÅtDÐ«—  

łuð d¹“ ‰U¦� tÐ ÆÅXÝ« t²ý«œ g¹«e�« Áó¹ËÒÆÅbO¹U/ t
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∫ÅU¼ÅX³
�

©‘Ëd� tÐ œuÝ® ‘Ëd� Áœ“UÐπ[∞•±•

Áó¹Ë ‘“—« Áœ“UÐ∑[±∞•±∞•

g¹«e�« Áó¹Ë ‘“—« Áœ“UÐ X³(� v4Ë ¨t²�U¹ g¼U� ‘Ëd� Áœ“UÐ X³(� bMÇd¼ œuýÅv� Áb¼UA�

ÆÅXÝ« t²ý«œ

—u?ð tÐ b¹UÐ ‚u� œ—«u� dÐ ÁËöŽÒłuð tF4UD� œ—u� ÈU¼Å‰UÝ —œ ÂÒ—u?ð «d¹“ ÆÅXý«œ tÒb�«uðÅv� Â

—uð dÖ« ’uBšÅtÐ ¨b�eÐ r¼ tÐ «— U¼ÅX³(� b�Ë—ÒÆÅbýUÐ œUŠ Â

≥‡‡≤tM¹e¼ m;U³- Êœd� sJýdÝ ÈÅÁu×� 

ÈU?¼ÅX?L?(?J t?Ð «— U?¼ÅtM¹e¼ ◊U³ð—« «b²Ð« b¹UÐ ¨nK²0� ÈU¼ÅXL(J tÐ tM¹e¼ Êœd� rON(ð È«dÐ

0?A� nK²0�Òö¦� ÆÅœu/ hÎłu?ð UÐ Òt?Ð v?²?š«œdÄ œeL²Ýœ X³(� tÐ U¹ g0Ð d¼ —œ ÊUM�—U� œ«bFð tÐ t

‘Ëd� Ë UMÐ d¹“ XŠU(� ¨—U�  UŽUÝ ¨ ô¬ÅsOýU� Ë ÊUL²šUÝ ‘“—« X³(� tÐ U¹ nK²0� ÈU¼Åg0Ð

ÆÅU¼Åg0Ð “« p¹d¼ ÊU¹“ Ë œuÝ Ádš_UÐ Ë

 ‰U¦-∂ ‡‡  ‰UÝ —œ v²�dý  X2 mK³� ̈  2,000,000ÊUM�—U� È«cž ÈÅtM¹e¼ pL� Ê«uMŽÅtÐ ‰U¹— 

 È—«œ« g0Ð —œ dÖ« ÆÅXÝ« Áœd� tM¹e¼¥∞ ÈbO4uð e�d� —œ Ë dH� A ¨B Ë C ¨VOðdð tÐ ∑≥ ¨ ±µ∂Ë 

±≥±ÆÅbO¹U/ rON(ð nK²0� ÈU¼Åg0Ð ÅX³(� tÐ «— ‚u� ÈÅtM¹e¼ ¨bMýUÐ qžUý dH� 

  40+ 73 +156 +131= 400

È—«œ« g0Ð ÈÅtM¹e¼

40×2,000,000
400

= 200,000

ÅÅÈbO4uð e�d� ÈÅtM¹e¼A
73 ×2,000,000

400
= 365,000

 ÈbO4uð e�d� ÈÅtM¹e¼B
156 ×2,000,000

400
= 780,000

©‰U¹— —«e¼ tÐ ÂUB—«®       

UH;¬ X�dýÅÅ‰UÝ  X2ÅÅ‰UÝ  X1

‘Ëd�  650,000  500,000
œuÝ       6,000   5,000

Áó¹Ë ‘“—«    56,000   500,000



ÅÅÅ≤µ

ÈbO4uð e�d� ÈÅtM¹e¼CÅ  
131×2,000,000

400
= 655,000

 mK³� ÊUL¼ b¹UÐ ¨rOM� lLł r¼ UÐ «— U¼ÅtM¹e¼ s¹« dÖ« ‰UŠ  2,000,000ÆÅœœdÖ q<UŠ ‰U¹— 

  200,000+ 365,000+ 780,000+655,000= 2,000,000

oŠ rO¼«u0Ð dÖ« œuýÅv� È—Ë¬œU¹Òl?Lł V(ŠdÐ b¹UÐ ¨rOM� rON(ð «— vŽUL²ł« sO�Qð ÈÅtLOÐ 

oŠ U¹ ¨rOM� qLŽ g0Ð d¼ œeL²ÝœÒg0Ð d¼ Èd²�œ ‘“—« V(ŠdÐ «—  U(OÝQð Ë ÊUL²šUÝ ÈÅtLOÐ 

×� ÈÅÁ—Uł« U¹ Ë ÅrO¹U/ rON(ðqÒÆÅrOM� sJýdÝ g0Ð d¼ XŠU(� V(ŠdÐ «— 

¥‡‡≤v-UNÝ dOž ÈU¼ÅX�dý —œ ÊU¹“ Ë œuÝ rO
Ið ÈU¼Å‘Ë— 

“« p?¹d?¼ Ë XÝ«  U(ÝR� —œ œuÝ ÈÅÁb�“UÝ q�UŽ tÝ ¨dDš ‰u³J Ë —U� ¨t¹U�dÝ ¨Á“Ëd�«

<U?š ÈœU?B²J« ‘“—« È«—«œ ¨q�«uŽ s¹«ÒÈÅt?L?Še?4«Åo?Š ¨t?¹U?�dÝ ÈÅÁbý sOLCð œuÝ ÆbM²(¼ ¨v

ÈU¼ÅX�dý —œ ÆÅœdOÖÅv� oKFð t¹U�dÝ tÐ t� XÝ«ÅÈœuÝ ̈ dDš ‰u³J ‘“—« Ë Ê«d¹b� È«dÐ ‘«œUÄ ̈ U�dý

7š«b�« —U�ÅtÐ UÐ œuÝ rO(Ið ÈÅÁu×� ̈ XÝ« vðËUH²� ÈU¼Å —u< tÐ œ«d�« È—«cÖÅt¹U�dÝ t� v�UNÝ dOž

Ýuð œuÝ ÈÅÁb�“UÝ q�«uŽÒłuð UÐ œuÝ rO(Ið t� XÝ« vN¹bÐ ÆÅXÝ«  ËUH²� ¨eO� U�dý “« p¹d¼ jÒt

o?�«u?ð UÐ ¨U�dý “« p¹d¼  dNý s(Š U¹ hB0ð ¨X�dý —œ XJË ·d< ¨È—«cÖÅt¹U�dÝ Ê«eO� tÐ

ÆÅXÝ« d¹“ Õdý tÐ ÊU¹“ Ë œuÝ rO(Ið nK²0� ÈU¼Å‘Ë—ÆÅœœdÖÅv� sOOFð ÊU�¬

±‡‡¥‡‡≤ ∫ÅÁbý sOOFð q³B “« Ë XÐUŁ X³
� tÐ œuÝ rO
Ið UÐ  ̈ tK<UŠ œuÝ ̈ ‘Ë— s¹« —œ

łuðÒœu?Ý b?ýU?Ð —«dJ tÇÅÊUMÇ ¨‰U¦� —uÞ tÐ ÆÅœœdÖÅv� rO(Ið U�dý sOÐ ¨Áb�¬ qLŽ tÐ vK³J o�«uð tÐ t

 X?³?(� tÐ U�dý sOÐ tK<UŠ≤ ¨Å≥ Ë µ œu?Ý Ê«eO� Ë œœdÖ rO(Ið   150,000Â«b?� d¼ rNÝ býUÐ ‰U¹— 

∫Å“« b�«Å —U³Ž VOðdðÅtÐ

U¼ÅX³(� ŸuL−�  2+ 3 + 5 =10

Ë« rNÝÒv4

2×150,000
10

= 30,000

v�Ëœ rNÝ

3 ×150,000
10

= 45,000

v�uÝ rNÝ

5 ×150,000
10

= 75,000

t−O²� —œ  30,000+ 45,000+ 75,000=150,000

≤‡‡¥‡‡≤ ∫Åt¹U-dÝ X³
� tÐ œuÝ rO
Ið t¹U�dÝ X³(� tÐ ¨U�dý sOÐ —œ œuÝ ¨‘Ë— s¹« —œ
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 V?O?ðd?ð t?Ð U?�d?ý “« p¹ d¼ ÈÅt¹U�dÝÅ dÖ«ÅÆÅœuýÅv� rO(Ið  250,000 ¨  350,000 ¨  400,000Ë ‰U?¹—

 q<UŠ œuÝ  40,000∫Å“« XÝ«  —U³Ž p¹d¼ rNÝ býUÐ ‰U¹— 

  250,000+ 350,000+ 400,000=1,000,000

Ë« rNÝÒv4

  

40,000×250,000
1,000,000

=10,000

v�Ëœ rNÝ

  

40,000× 350,000
1,000,000

=14,000

v�uÝ rNÝ

  

40,000× 400,000
1,000,000

=16,000

Áb�¬ XÝœÅtÐ œuÝ lLł  10,000+14,000+16,000= 40,000

≥‡‡¥‡‡≤OIÐ rO
Ið Ë U�dý ÈÅt¹U-dÝ È«dÐ œuÝ »U
²Š« Ò∫ÅÁbý sOOFð X³
� tÐ œuÝ ÈÅt

ö?¦?� Œd?� U?Ð Èœu?Ý œu?š ÈÅt¹U�dÝ È«dÐ «b²Ð« bMM�Åv� o�«uð U�dý ¨‘Ë— s¹« —œÎ µt?Ð X³(� b<—œ 

OF� ÈU¼ÅX³(� U¹ ÈËU(� —uÞÅtÐ œuÝ vIÐU� fáÝ Ë œuý t²�dÖ dE� —œ t¹U�dÝÒÆÅœœdÖ rO(Ið U¼ÅÊ¬ sOÐ s

 ‰U¦-∑ ‡‡  VOðdð tÐ ¨U�dý “« p¹ d¼ ÈÅt¹U�dÝ dÖ«∞∞∞\≤µ∞Å¨Å∞∞∞\≥µ∞ Ë ∞∞∞\¥∞∞‰U¹— 

—œ t¹U�dÝ tÐ X³(� b<—œ ZMÄ Œd� UÐ ÈœuÝ Â«b� d¼ ÈÅt¹U�dÝ È«dÐ t� XÝ« Ábý —«dJ sOMÇÅr¼Å¨ÅbýUÐ

q?³?J ‰U?Ý —œ t?K?<U?Š œu?Ý Ë œœd?Ö r?O?(?I?ð U?¼ÅÊ¬ s?O?Ð ÈËU?(� —uÞÅtÐ œuÝ vIÐU� Ë œuý t²�dÖ dE�

  56,000ÆÅbOM� h0A� «— Â«b�d¼ rNÝ býUÐ ‰U¹—

  250,000+ 350,000+ 400,000=1,000,000

                    Å

  56,000− 50,000= 6,000

  6,000. 3 = 2,000

  250,000×      =12500

Ë« p¹dý rNÝÒv4  12,500+2,000=14,500

  350,000×       =17,500

v�Ëœ p¹dý rNÝ  17,500+2,000=19,500

  400,000×       = 20,000

v�uÝ p¹dý rNÝ  20,000+2,000= 22,000

œuÝ lLł  14,500+19,500+22,000= 56,000

  1,000,000×      = 50,000ÅÅ •  5

ÅÅ •  5

ÅÅ •  5

ÅÅ •  5
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¥‡‡¥‡‡≤OIÐ rO
Ið Ë p¹ d¼ È«dÐ ‚uIŠ »U
²Š« Ò∫ÅU�dý ÈÅt¹U-dÝ X³
� tÐ œuÝ ÈÅt

� “« «— U?�d?ý “« p?¹ d?¼ ‚u?IŠ «b²Ð« ¨‘Ë— s¹« —œq?ÒX?³?(?� t?Ð «— œu?Ý ÈÅÁb?�U?�ÅvJUÐ Ë d(� œuÝ 

ÆÅrOM�Åv� rO(Ið ÊUA¹« ÈÅt¹U�dÝ

 ‰U¦-∏ ‡‡ łuð UÐÒ ‰U?¦� tÐ t∑Ë« dH� ‚uIŠ tÇÅÊUMÇ ¨Ò ‰  100,000v�Ëœ ‚uIŠ ¨‰UÝ —œ ‰U¹— 

  150,000Ý Ë ‰UÝ —œ ‰U¹— u t?K?<UŠ œuÝ Ë býUÐ t²ý«b� vJuIŠ v�  450,000s?¹« —œ ¨býUÐ ‰U¹— 

ÆÅrOM�Åv� qLŽ d¹“  —u<ÅtÐ X4UŠ

  100,000+150,000= 250,000

  450,000−250,000= 200,000

  250,000+ 350,000+ 400,000=1,000,000

  

250,000×200,000
1,000,000

= 50,000

Ë« p¹dý rNÝÒv4  50,000+100,000=150,000

350,000×200,000
1,000,000

= 70,000

v�Ëœ p¹dý rNÝ  70,000+150,000= 220,000

v�uÝ p¹dý rNÝ

  

400,000×200,000
1,000,000

= 80,000

dH� tÝ d¼ œuÝ lLł  150,000+220,000+ 80,000= 450,000

ÂËœ qB� ÈU�Ås�dL�

±‡‡ ‰U??Ý —œ —U??N??Ð X?�d?ý  X2 m??K?³?� ∞∞∞\∞∞∞\≤∞∞Ê¬ œu??Ý ÆX??Ý« t??²?ý«œ ‘Ëd?� ‰U?¹— 

∞∞∞\∞∞∞\≤µ Ê¬ ÈÅÁó¹Ë ‘“—« ̈ ‰U¹— ∞∞∞\∞∞∞\≥∞∞X�dý XÐUŁ v¹«—«œ ̈ ‰U¹—  ∞∞∞\∞∞∞\¥∞∞¨‰U¹—ÅÅ

q�Ò Ê¬ v¹«—«œ ∞∞∞\∞∞∞\µ∞∞ È—Uł v¼bÐ Ë ‰U¹— ∞∞∞\∞∞∞\µ∞Áœ“UÐ ÈU¼ÅX³(� ÆXÝ« ÁœuÐ ‰U¹— 

‰UÝ—œ X�dý Ê¬ ‘Ëd� Áœ“UÐ Ë Áó¹Ë ‘“—« Áœ“UÐ ̈ XÐUŁ v¹«—«œ Áœ“UÐ ̈ v¹«—«œ Áœ“UÐ ̈ ‘œdÖ —œ t¹U�dÝ

ÆbOM� t³ÝU×� b<—œ V(ŠdÐ «— q³J

≤ ‰UÝ —œ —UNÐ X�dý ‡‡  X1 mK³� ̈ Å∞∞∞\∞∞∞\≤∞ Ê¬ ‘Ëd� Ë t²ý«œ œuÝ ‰U¹— ∞∞∞\∞∞∞\±∂∞

O?IÐ dÖ« ÆXÝ« ÁœuÐ ‰U¹—Ò s?¹dLð UÐ ÂöJ« ÈÅt± s?¹d?L?ð —œ —u�c� ÈU¼ÅX³(� ÈÅtOK� býUÐ ±b?−� «— Ò«œÎ

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○
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ÆbOM� t³ÝU×� b<—œ V(ŠdÐ

≥ s¹dLð ÈU¼ÅX³(� ‡‡± Ë ≤ÆbOM� ”UOJ r¼ UÐ «— 

¥Å‰UÝ —œ —u� X�dý ‡‡  X2 mK³� ̈ Å∞∞∞\∞∞∞\±∞∞ Ê¬ œuÝ Ë t²ý«œ ‘Ëd� ‰U¹— ∞∞∞\∞∞∞\±≤

 Ê¬ ÈÅÁó?¹Ë ‘“—« ÆX?Ý« Áœu?‡?Ð ‰U¹—∞∞∞\∞∞∞\≤∞∞ X?�d?ý X?ÐU?Ł v¹«—«œ ¨‰U¹— ∞∞∞\∞∞∞\≤µ∞

� ¨‰U?¹—q?Ò v¹«—«œÅÅ∞∞∞\∞∞∞\≥∞∞ X?�d?ý Ê¬ ‘œd?Ö —œ t?¹U?�d?Ý Ë ‰U¹— ∞∞∞\∞∞∞\≤∞Áœu?Ð ‰U¹— 

ÆbOM� t³ÝU×� «— X�dý s¹« ÈÅt�UÖÅZMÄ ÈU¼ÅX³(� ÆXÝ«

µ‰UÝ —œ dÖ« ‡‡ÅÅ  X3 —u� X�dý œuÝ ̈∏∞ ‰UÝ tÐ X³(� •  X2 Ê¬ ‘Ëd� Ë bÐU¹ g¹«e�« µ∞•

ÆÅbO¹UL� t³ÝU×� «— X�dý Ê¬ ÈÅt�UÖÅZMÄ ÈU¼ÅX³(� ¨ÂöJ« d~¹œ Êb�U� XÐUŁ ÷d� UÐ ¨œuý ÁœËe�«

∂ ‰UÝ —œ v²�dý ‡‡ÅÅ  X2 mK³� ̈  450,000K� ÊUL²šUÝ ÈÅtLOÐ XÐUÐ ‰U¹— ÒXš«œdÄ U¼ÅÁUÖ—U� ÈÅtO

 ÈÅÁ—ULý ÁUÖ—U� XŠU(� dÖ« ÆÅXÝ« Áœu/± ̈  24,000 ÈÅÁ—ULý ÁUÖ—U� XŠU(� ̈ lÐd�d²� ≤Å ̈  46,000

 ÈÅÁ—ULý ÁUÖ—U� Ë lÐd�Åd²�≥ ¨  20,000vGK³� tÇ ÁUÖ—U� d¼ ÈÅtLOÐ rNÝ bOM� h0A� ¨býUÐ lÐd�Åd²� 

øÅXÝ«

∑‡‡ ¹p? ýd�X?¨ �U¼O?U�t?   4,600,000 —¹U‰ «łU?—Á ÐNU?È œË «�³U—¨ ÝU?š²L?UÊ «œ«—È Ë �U?—ÖUÁ

Ädœ«šX? �vÅ�Mb?ÅÆ «Öd �(U?ŠX ¼d �b?«Â «“ «�³U—¼U?   6,000 �²d�d?Ðl¨ ÝUš²?LUÊ «œ«—È µ∞∞ �²?d�dÐl? Ë

�U—ÖUÁ   10,500Å�²?d�dÐl ÐUýb?¨ �×UÝ³t �M?Ob ÝNr? «łU—ÁÈÅ ¼d ¹p «“ Ë«Šb¼U? œ— ¹p ÝU‰ Çt �³K?Gv

«ÝXÅøÅ

∏ÈœuÝ ‰UÝ ÊU¹UÄ —œ X�dý t�Åvð—u<—œ b�œu/ o�«uð ̈ X�dý p¹ fOÝQð UÐ ̈ dH� —UNÇ ‡‡ÅÅÅ

 X³(� tÐ býUÐ t²ý«œ¥ ̈ Åµ ̈ Åµ ̈ Å∂ ‰UÝ ÊU¹UÄ —œ X�dý œuÝ ÆÅbM¹U/ rO(Ið œuš sOÐ   X2ÅmK³� ̈  500,000

0?A� «— Â«b�d¼ œuÝ rNÝ ÆÅXÝ« ÁœuÐ ‰U¹—Ò XÝ« Â“ô tÇÅÊUMÇ ÆÅbOM� h≤∞X?ÐUÐ œuÝ mK³� “«  •

œuÝ X¹UN� —œ Ë XÝ« vGK³� tÇ © UO4U�® v²�U¹—œ œuÝ XAÖdÐ XÐUÐ Â«b�d¼ rNÝ ¨œuý d(�  UO4U�

  UO4U� dÖ« øÅbý b¼«uš vGK³� tÇ ¨ UO4U� d(� “« fÄ ¨Â«b�d¼ h4Uš≥∞¨«— p¹d¼ rNÝ ¨œuÐÅv� •

ÆÅbOM� t³ÝU×� ¨ UO4U� d(� “« fÄ

π‡‡ Š(s¨ ŽKv Ë ðIv¨ ¼d�b«Â Ðt ðdðOV   600,000¨   700,000¨   1,200,000 —¹U‰ œ— ýd�²v

Ýd�U¹tÅÖc«—È /uœ�b Ë œ— ÄU¹UÊ ÝU‰Å   X1 ̈Ýuœ šU4h ýd�X   50,000 —¹U‰ ÐuœÁ «ÝXÆ «Öd Jd«— ÐUýb

Ðt �(³X Ýd�U¹t¨ Ýuœ œ—¹U�X œ«—�b ÝNr ¼d�b«Â —« �FOÒs �MObÅÆ œ— ÝU‰   X2 Š(s µ∞• Ðt Ýd�U¹tÅÈ

šuœ «�eËœ Ë ŽKv Ýd�U¹t šuœ —« Ðt?   900,000 —¹U‰ —ÝU�b Ë Ýuœ ÝU‰   X2 Ðt   60,000 —¹U‰ «�e«¹g

¹U�XÅÆ ÝNr ¼d�b«Â —« œ— ÝU‰  X2ÅÅÅ�×UÝ³t �MObÅÆ Ýuœ ¼d¹p «“ ýd�U œ— œË ÝU‰ ̈Çt �³KGv ÐuœÁ «ÝXÅø
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�(³X Ýuœ Ðt Ýd�U¹tÈÅ ¼d�b«Â —« œ— ÝU‰   X1¨ œ— ÝU‰   X2 Ë œ— œËÝU‰ ¹pÅłU¨ �×UÝ³t �MObÅÆ

±∞ V?O?ðd?ð t?Ð Ë b?�œd?� f?O?ÝQ?ð v?²?�dý ¨dH� tÝ ‡‡  7,000,000 ¨‰U?¹—   10,000,000Ë ‰U¹—

  13,000,000d?I� ËÅÅÅb�œu/ È—«cÖÅt¹U�dÝ ‰U¹— Ò X?³(� tÐ Â«b�d¼ tÐ ¨‰UÝ ÊU¹UÄ —œ bý —∏¨t?¹U�dÝ •

ÆÅœuý rO(Ið dH� tÝd¼ sOÐ ÈËU(� X³(� tÐ Xý«œ È«ÅÁb�U�ÅvJUÐ t�Åvð—u< —œ Ë œdOÖ oKFð œuÝ

« ‰UÝ œuÝ dÖ« ©n4«Ë
Ò

 ‰  3,000,0000A� «— Â«b� d¼ rNÝ ¨býUÐ ‰U¹—ÒÆÅbOM� h

«— p¹d¼ rNÝ ¨bMM� rO(Ið t¹U�dÝ X³(� tÐ «— œuÝ q� bM²ý«cÖÅv� —«dJ t�Åvð—u< —œ ©Å»

ÆÅbO¹U/ t³ÝU×�

øÅœd?Ð b?¼«u?š œu?Ý d?ðÅr?� v?(� tÇ Ë dðÅgOÐ v(� tÇ ¨œuý t²�dÖ dE�—œ å»ò ‘Ë— dÖ« ©ÅÃ

øÅmK³�ÅÅÅÅtÇ

±±Ë d?³�« Ë XJË ÂU9 —uÞ tÐ bLŠ« b�œu/ o�«uð Ë fOÝQð v²�dý rO¼«dÐ« Ë d³�« ¨bLŠ« ‡‡

 m?K?³?� t?�U?O¼U� ‚uIŠ XÐUÐ Ë bMM� XO4UF� X�dý —œ XJË tLO�  —u<ÅtÐ rO¼«dÐ«  50,000È«d?Ð ‰U¹— 

  ¨bLŠ«  30,000 Ë d³�« È«dÐ ‰U¹—   20,000×� “« rO¼«dÐ« È«dÐ ‰U¹— qÒ—uEM� X�dý ÈÅt�ôUÝ œuÝ 

 b?L?Š« ÈÅt?¹U?�dÝ ÆÅœœdÖ  4,000,000 d?³?�« ÈÅt?¹U?�d?Ý ¨‰U¹—   6,000,000r?O?¼«d?Ð« ÈÅt?¹U?�dÝ Ë ‰U¹— 

  10,000,000 ‰UÝ ÊU¹UÄ —œ tÇÅÊUMÇ ÆÅXÝ« ‰U¹—   3,200,000¨œuý X�dý b¹UŽ h4Uš œuÝ ‰U¹— 

ÆÅbOM� t³ÝU×� t¹U�dÝ œuÝ Ë ‚uIŠ XÐUÐ “« «— Â«b�d¼ rNÝ

±≤ ÈÅt¹U�dÝ UÐ Â«b�d¼ ¨X�dý Ëœ ‡‡  10,000,000¨‰UÝ ÊU¹UÄ —œ ÆÅb�œd� —U� tÐ ŸËdý ‰U¹— 

Ë«Ò v?4  6,000,000 v?�Ëœ Ë ‰U¹—   5,000,000Ë« X?�d?ý ÆÅb?M?²?ý«œ œu?Ý ‰U¹— ÒX?³?(?� t?Ð «— œu?Ý v4

r?O?(Ið U�dý ÈÅt¹U�dÝ X³(� tÐ «— œuš œuÝ v�Ëœ X�dý ÆÅœu/ rO(Ið ©dH� tÝ® U�dý sOÐ ÈËU(�

 VOðdð tÐ Â«b�d¼ ÈÅt¹U�dÝ® ÆÅœd�  3,500,000 ¨  3,500,000 Ë   3,000,000dÖ« Æ©XÝ« ÁœuÐ ‰U¹— 

«— U?�d?ý “« Â«b?�d?¼ œu?Ý  ËU?H?ð ¨œd?�Åv?� r?O?(?Ið U�dý sOÐ ÈËU(� X³(� tÐ «— œuÝ v�Ëœ X�dý

ÆÅbOM� t³ÝU×�

±≥ œ«bŽ« X³(� tÐ X�dý Ê¬ —«b�UNÝ dH� tÝ sOÐ v²�dý œuÝ ‡‡≤ Ë µ Ë ∑ÆXÝ« Ábý rO(Ið 

 v�Ëœ rNÝ t� vð—u< —œ  12,000Ë« rNÝ “« dðÅgOÐ ‰U¹— ÒOF� «— Â«b�d¼ rNÝ ¨býUÐ v4ÒÆÅbOM� s

±¥Æb¹—Ë¬ XÝœÅtÐ «— UH4¬ X�dý —œ È—Ë¬œuÝ ÈU¼ÅX³(� d¹“ ÂUJ—« “« ÁœUH²Ý« UÐ ‡‡
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 t�U�“«dð≤π[±≤[∑¥©‰U¹— tÐ bŠ«Ë® UH4¬ X�dý 

È—Uł v¹«—«œ∞∞∞\≤∞∞È—Uł v¼bÐ∞∞∞\±∞∞ ‰UÝ ‘Ëd�∑¥∞∞∞\∞∞∞\±

XÐUŁ v¹«—«œ∞∞∞\≥∞∞ b�bMKÐ v¼bÐ∞∞∞\≤µ∞ ‰UÝ œuÝ∑¥∞∞∞\±∞∞

t¹U�dÝ∞∞∞\±µ∞

 U¼Åv¹«—«œ lLł∞∞∞\µ∞∞ t¹U�dÝ Ë v¼bÐ lLł∞∞∞\µ∞∞

±µ ‰U?Ý —œ v¼U~ýËd� »¬ ·dB� ÈÅtM¹e¼ ‡‡ÅX≥ m?K³� ¨  8,400,000dÖ« ÆÅXÝ« ÁœuÐ ‰U¹— 

ÈÅt?M?¹e?¼ ¨År?O?¹U?/ r?O?(?I?ð X?L(J d¼ ÈÅtKOÝË tÐ Ábý ‰UGý« XŠU(� X³(� tÐ «— tM¹e¼ s¹« rO¼«u0Ð

Ýu?ð Áb?ý ‰U?G?ý« X?ŠU?(?� t?� vð—u<Å—œ «— XL(J d¼ »¬ ·dB�Òb?ýU?Ð d?¹“ Õd?ý tÐ XL(J d¼ j

 ‘Ëd� XL(J ÆÅbOM� t³ÝU×�  1,400 —U?³�« XL(J ¨lÐd�d²�   1,500 Ê«—u²Ý— XL(J ¨lÐd�d²� ∑∞∞

ÅÈ—«b?ÐU?(Š XL(J ¨lÐd�d²�≤∞∞ È—«œ«Å X?L(J ¨lÐd�Åd²� ≤∞∞ÁU?~?ýËd� Å‚dÐ ÈÅtM¹e¼ dÖ«Å ÆlÐd�Åd²�Å

  14,600,000ÆÅbOM� t³ÝU×� eO� «— XL(J d¼ ‚dÐ ÈÅtM¹e¼ ¨býUÐ ‰U¹— 
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ÂuÝ qB�

U¼œe�—U� Ë  UHOH�ð

∫È—U²�— ÈU¼Å·b¼∫œË—Åv� —UE²�« Áb�dOÖ«d� “«Å¨qB� s¹« ÊU¹UÄ —œÅ

±Æb¹UL� t³ÝU×� nK²%�  ôUŠ —œ «—  UHOH%ð Ÿ«u�« Å‡‡

≤ÆbM0 t³ÝU×� nK²%� Ÿ«u�« —œ «— U¼œe�—U0Å ‡‡

≥t³ÝU×� «— U¼ÅÊ¬ ÈÅÁbý sOLCð œuÝ Ë œe�—U0Å¨U¼Åj9: Ÿ«u�« nK²%� qzU9�Å ‡‡

Æb¹UL�

¥ÆbM0 t³ÝU×� «— sOM9=«Åj9: Ÿ«u�«Å ‡‡

µœ—Ë¬d?Ð nK²%� ÈU¼Å‘Ë— ”UÝ«dÐ «— ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš– Å‡‡Å

Æb¹UL�

≥U¼œe�—U� Ë  UHOH�ð ‡‡

t�bI�

ôuLF�ÎYŽUÐ Ë b¼œÅv� g¹«e�« «— ‘Ëd� r−Š Ë Ê«—«b¹dš œ«bFð ¨Ê«—«b¹dš tÐ nOH%ð ÈUDŽ« 

dðÅrN� tL¼ “« Ë œ—Ë¬ r¼«d� «— Ê«—UJL¼ dÞUš X¹U{— XÝ« sJL� v²Š ¨œœdÖÅv� b¹bł ÊU¹d²A� »cł

Åv�d¼«  —uD tÐ  UHOH%ðÅ¨s¹«dÐUMÐ ÆœœdÖ  U9ÝR� v~M¹bI� g¹«e�« Ë  U³=UD� ‰uDË —œ l¹d9ð YŽUÐ

ÆbMÐU¹ XÝœ t9ÝR� ·«b¼« tÐ bM�«u²Ð Ê¬ ÈÅtKOÝË tÐ Uð XÝ« t²�dÖ —«d: t9ÝR� Ê«d¹b� —UO²š« —œ Èu:

±‡‡≥ UHOH�ð Ÿ«u"« 

DUš  UHOH%ðÅ¨v�U�“ j¹«dý Ë t9ÝR� d¼ ÈU¼ÅvA�Åjš Ë U¼ÅXÝUOÝÅÅÅÅÅ¨·«b¼« tÐ tłuð UÐÒtÐ v
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ÆÈbI�  UHOH%ð Èd~¹œ Ë È—U−ð  UHOH%ð vJ¹Å ∫b�«ÅŸu� Ëœ dÐ  UHOH%ð s¹«ÆœuýÅv� Áœ«œ ÊU¹d²A�

ö�U0 ̈ ‘Ëd� “« XAÖdÐ UÐ  UHOH%ð t0 œuý È—Ë¬œU¹  XÝ« Â“ôÎ“«Å¨vKKŽ tÐ v¼UÖ «d¹“ÆXÝ«  ËUH²� 

t?�U?š—U?0 t?Ð ÊuÖU�uÖ q¹ôœ tÐ v¹ôU0 t0Ås¹« U¹ œœdÖÅv� œd²9� —«b¹dš tÐ vGK³� ¨ôU0 —œ hI� tKLł

ÆœœdÖ œd²9� Èd²A� tÐ Ê¬ ÈUNÐ b¹UÐ Ë œuýÅv� Áœ«œ  œuŽ

±‡‡±‡‡≥È—U−ð  UHOH�ð 

∫n¹dFðB� XLO: tÐ X³9�  ̈ ôU0 ‘Ëd� XLO: g¼U0 vMF¹ È—U−ð nOH%ðÅu
Ò

t0 ̈ Ábý ÂöŽ« Ë »

vKžUA� tÐ nOH%ð U¹ Ê«—UJL¼ tÐ nOH%ð bM�U�ÆœuýÅv� t²�dÖ dE�—œ ÊU¹d²A� “« vCFÐ È«dÐ vKKŽ tÐ UMÐ

s¹« “« È“UÝÅqO³�uð« X0dý tÐ e�dð XM= bO=uð X0dý nOH%ðÅ® bM²9¼ ôU0 s¹« UÐ ◊U³ð—« —œ Èu×� tÐ t0

’uBšÅtÐÆbM¹UL�Åv� È—«b¹dš «— ôU0 È—U−ð Ë ÁbLŽ —uÞÅtÐ t0 v�U¹d²A� tÐ nOH%ð Ádš_UÐ ËÅ ©XÝ« Ÿu�

ÆœuýÅv� Áœ«œ Áó¹Ë nOH%ð bMM0Åv� ‘öð d~¹œ ÈU¼Å—uA0 tÐ ôU0  «—œUD —œ t0 v¹U¼ÅX0dý tÐ

 ‰U¦�±‡‡Å t0 XÝ« ÁœuL� ÂöŽ« ̈ v=UL²Š« Ê«—«b¹dš tÐÅœuš ÈU¼ÅôU0 XLO: ÂöŽ« sL{Å¨v²0dý

 “« gOÐ ôU0 ‘—UHÝ œ«bFð dÖ«±∞∞ “« dðÅr0 Ë bŠ«Ë ≤∞±dÖ« Ë nOH%ð bD—œ p¹ “« býUÐ bŠ«Ë 

 “« vý—UHÝ≤∞± Uð bŠ«Ë ≥µ∞ “« vý—UHÝ dÖ« Ë nOH%ð bD—œ Ëœ “« býUÐ bŠ«Ë ≥µ± Uð bŠ«Ë µ∞∞

 “« dÖ« Ë nOH%ð bD—œ tÝ “« býUÐ bŠ«Ëµ∞±ÆœuýÅv� Áœ«œ nOH%ð bD—œ —UNÇ býUÐ ôUÐ tÐ bŠ«Ë 

ÆbM�U�Åv� åÅÈ—U−ð nOH%ðÅò «— ‚u�  UHOH%ð “« p¹d¼

≤‡‡±‡‡≥∫ÅÈbI"  UHOH�ð OF{Ë Å¨È—uA0 —œ tÇÅÊUMÇ ÒÊUÖbMM0ÅbO=uð t0 býUÐ ÈbŠ tÐ bO=uð X

t?²?ý«œ œu?łË ÊU?Öb?MM0Ål¹“uð Ë ÊUÖbMM0bO=uð sOÐ ÈdOÖÅrAÇ È—U−ð XÐU:— Ë bMýUÐ vÐU¹—«“UÐ bM�“UO�

ôu?L?F?�Å¨býUÐÎc?š« “« f?Ä v?M?F?¹Åªb?M?�U?Ý—Åv?� ‘Ëd?� t?Ð t?O9�  —uD tÐ «— œuš ÈU¼ÅôU0  U9ÝR� 

OF� a¹—Uð —œ Ë bM¼œÅv� q¹u×ð ÁbMM0 l¹“uð U¹ Èd²A� tÐ «— ôU0Å¨‘—UHÝÒÁbO�U� åÅv¼bÐ bOÝ—ÅdÝÅò t0 ̈ vM

� ·dþ —«b¹dš Uð bM¹UL�Åv� Â«b:« ôU0 tłË ‰uDË tÐ X³9�Å¨œuýÅv�bÒôuLF� t0 ¨—uÐe�  ÎUð p¹ sOÐ 

ÈUCI�« “« q³: —«b¹dš tÇÅÊUMÇ XÝ« vN¹bÐÆœ“«œdáÐ «— X�bš U¹ È—«b¹dš ÈôU0 ÈUNÐÅ ̈ XÝ« ÁU� tÝ

s?¹« t0Å¨œuýÅv� Áœ«œ vDUš nOH%ð ÈË tÐ œ“«œdáÐ «— X�bš U¹ È—«b¹dš ÈôU0 ÈUNÐÅ¨vI�«uð ÊU�“

b?� d?Ö« Æb?M?¹u?Ö Èb?I?� n?OH%ð «— nOH%ð Ÿu�Ò»U?9?ŠÅ —u?D X?š«œdÄ ÊU�“  ≥∞Áb?ý s?OOFð “Ë— 

U‡ŠöDD«Å̈ býU‡ÐÎ ÈÅtO9�Åò Ê¬ t‡Ð ≥∞H%� Ë œuýÅv‡� t²HÖ åÅÁ“Ë— ÒÅÊ Ê¬ n≥∞/ÝR� v¼U‡ÖÆXÝ« ÒÈ«dÐÅ̈  U9

ö?¦?�Æb?M?¹U?L?�Åv� œUN�ÅgOÄ «— vDUš nOH%ðÅÅÅ¨ U³=UD� ‰uDË tÐ ÊbOA%Ð XŽdÝÎX?š«œdÄ XKN� dÖ« 

 v¼bÐ≥∞  ·dþÅÅÅÅ¨Èd²A� Ë býUÐ “Ë— ±µtÐ Ë œœdÖÅv� bM�ÅÁdNÐ nOH%ð bD—œ p¹ “« bM0 Xš«œdÄ “Ë— 

ÅÊÅ®  —uD≥∞/Å‡‡±µ/±®Å¨tO9� vMF¹Å©ÅÊÅ® Ê¬ —œ t0 œuýÅv� Áœ«œ ÊUA� ©Å≥∞ vMF¹Å©≥∞®Å¨v¼bÐ XKN� “Ë— ±vMF¹Å©
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® Ë nOH%ð bD—œ p¹±µÆôU0 b¹dš ÊU�“ “« nOH%ð “« È—«œ—ušdÐ ÊU�“ ‰uÞ vMF¹ ©

 ‰U¦�≤‡‡ÅX?Ý« ÁœuL� ÂöŽ« Ê«—«b¹dš tÐ ¨Ábý t²šËd� ÈU¼ôU0 —u²0U� ‰UÝ—« sL{ v²0dý Å

b� ·dþ «— ôU0 XLO: dÖ«Ò  µ “« bM¹UL� Xš«œdÄ “Ë— ≥  b� ·dþ tÇÅÊUMÇ ËÅÅÅ¨nOH%ð bD—œ ±µ

 “« b?M?¹UL� Xš«œdÄ “Ë—≤  b?� ·d?þ d?Ö« Ë nOH%ð bD—œ ≤µb?D—œ p?¹ “« b?M¹UL� Xš«œdÄ “Ë— 

ÆbM�U� ÈbI�  UHOH%ð «—  UHOH%ð Ÿu� s¹«Æbý bM¼«uš bM�ÅÁdNÐ nOH%ð

 ‰U?¦�≥‡?‡ È—«œÅÁ“U?G?� b?O?M0 ÷d� Å≤µ∞X?0d?ý ÈôU?0 “« bŠ«Ë 


 

 ‰U?¦�±Áœu?L?� È—«b?¹dš «— 

 ôU0 ÈÅÁbý ÂöŽ«ÅvLÝ— XLO: dÖ«ÆXÝ«¥∞∞dÖ«Å̈ sOMÇÅr¼ ÅøÅbýUÐÅv� vGK³� tÇ ◊uÐd� —u²0U�Å̈ býUÐ ‰U¹— 

 ‰U¦� ”UÝ«dÐ≤Å  b� ̈ Å≤¥ÆbOM0 sOOFð «— v²š«œdÄ mK³� œ“«œdáÐ «— œuš v¼bÐÅÅÅ¨—u²0U� a¹—Uð “« bFÐ “Ë— 

‰U‡¹—Å v‡LÝ— XLO:Å  250× 400=100,000

‰U¹— È—U−ð nOH%ð

  
100,000×

2

100
= 2,000

‰U‡¹—ÅÅÅ—u²0U‡‡‡� ÅÅmK³�  100,000−2,000= 98,000

‰U¹— Èb‡I‡� nOH%ð

  
98,000×

1

100
= 980

‰U¹— v‡²š«œd‡Ä mK³�  98,000−980= 97,020

≤‡‡≥U¼œe�—U�Å 

łuð —U0 Êu�U: —œ œe� n¹dFð tÐÅÅÅ¨«b²Ð«ÒœU�ÆbOM0 tÒ Á≥µs?OMÇ «— œe�Å¨ÂuÝ qB� —œÅ¨—U0 Êu�U: 

Å∫XÝ« ÁœuL� n¹dFð

dÖ—U0 tÐ —U0 ÂU−�« qÐUI� —œ t0 U¼ÅÊ¬ ŸuL−� U¹ Ë ÈbI�dOž U¹ ÈbI� ÁułË “« XÝ«  —U³Ž œe�Åò

ÆåœuýÅv� Xš«œdÄ

 Ád?B³ð±‡‡t?0 v?ð—u?D —œ ËÅåÅv?²?ŽU?Ý œe?�ÅòÅ¨b?ýUÐ j³ðd� —U0 ÂU−�«  UŽUÝ UÐ œe� tÇÅÊUMÇ Å

Ábý bO=uð ‰uB×� ”UÝ«dÐ tÇÅÊUMÇ ËÅåœÅe�—U0ÅòÅ¨býUÐ Ábý bO=uð ‰uB×� U¹ —U0 ÂU−�« Ê«eO� ”UÝ«dÐ

O?F?� ÊU?�“ —œ —U0 ÂU−�« Ê«eO� U¹
Ò

—U?0  d?ł« X?š«œd?Ä È«d?ÐÆœu?ýÅv� ÁbO�U�ÅåÅv²ŽUÝ œe�—U0ÅòÅ¨býUÐ s

łu?ð vHK²%� q�«uŽ tÐ b¹UÐÅ¨VÝUM�Òb?Š Xš«œdÄ «d¹“ÅªXý«œ tÒd?ðÅgOÐ œuÝ —uEM� tÐ —U0  dł« q:«

OL0 œ—«œ ÊUJ�« ‰uLF� “« dðÅr0  dł« Xš«œdÄÅ vMF¹ÆbýUÐ t²ý«œ ”uJF� ÈÅt−O²� XÝ« sJL�
Ò

U¹ X

OHO0ÒXš«œdÄ UÐ t0 XÝ« Ábý Áb¼UA� v¼UÖÆœœdÖ œuÝ g¼U0 YŽUÐ X¹UN� —œÅ Ë œ—ËUOÐ sO¹UÄ «— ôU0 X
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B%²� dÖ—U0 tÐ ôUÐ  dł«ÒOL0 UNMð t�Å¨tÐd−ð UÐ Ë h
Ò

OHO0 tJKÐ ¨t²�U¹ g¹«e�« bO=uð X
Ò

t²�U¹ œu³NÐ eO� X

:œÅ¨‰UŠ d¼ tÐÆXÝ«ÒvK�«uŽ tKLł “«Æb¹«eHOÐ t9ÝR� v¹«—U0 tÐ b�«uðÅv� VÝUM�  dł« Xš«œdÄ —œ X

Ád?š_U?Ð Ë —U?0 Ÿu� Èd~¹œÅ¨—U0 ÈËdO� X¹U{— vJ¹Å¨X�dÖ dE�—œ b¹UÐ Xš«œdÄ ‘Ë— »U%²�« —œ t0

OKÐU:
Ò

∫“« b�«Å —U³Ž Xš«œdÄ ÈU¼Å‘Ë— ÆXÝ« Ê«dÖ—U0 È«dÐ Xš«œdÄ ‘Ë— rN� X

±Å‡‡≤ÅÅ‡‡ÅÅ≥Å∫Å©Åv²ŽUÝ œe‡�Å®—U‡� ÊU‡�“ ”UÝ«d‡Ð Xš«œdÄ Åo�«u‡ð dÖ—U‡0 U‡ÐÅÅ¨‘Ë— s¹« —œ

ö¦� È«“« tÐ t0 œuýÅv�Î mK³� —U0 XŽUÝ p¹ d¼ a dÖ—U0 dÖ« s¹«dÐUMÐÆœœdÖ Xš«œdÄ ‰U¹— n—œ XŽUÝ 

bŠ “« —U0 XŽUÝÅ¨“Ë— d¼ —œ Ë bM0 —U0 t²H¼Òö¦�Å® vMOF� Î ∏ mK³�Å¨œuA� dðÅgOÐ Å©ÅXŽUÝ n × atÐ ‰U¹— 

ÆœœdÖ Xš«œdÄ ÈË

= n × av²ŽUÝ œe�

ÆœuýÅvL� œU−¹« dÖ—U0 dðÅgOÐ ‘öð È«dÐ vDUš ÈÅÁeO~�«Å¨‘Ë— s¹« —œ XÝ« vN¹bÐ

≤ÅÅ‡‡≤ÅÅ‡‡ÅÅÅ≥∫b?O?9u?‡?ð œ«b?Fð ”UÝ«d‡Ð œe‡�—U‡� Xš«œdÄÅ  ÅÅÅo?�«u?ð d‡Ö—U‡0 UÐÅÅÅ¨‘Ë— s¹« —œ

 mK³� bO=uð bŠ«Ë d¼ È«“« tÐ t0 œuýÅv�bb� ·dþ dÖ—U0 dÖ« ¨s¹«dÐUMÐÆœœdÖ Xš«œdÄ ÈË tÐ ‰U¹— Ò 

OF�Ò vMm UÐ dÐ«dÐ Ë« œe�—U0¨b¹UL� bO=uð ôU0 bŠ«Ë m × bÆœuÐ b¼«uš ‰U¹— 

= m × bœe�—U0

OHO0 ‘Ë— s¹« —œ t0 XÝ« `{«ËÒ�« ¨bÐU¹ g¼U0 XÝ« sJL� ôU0 XÒOL0 tÐ UÒb¼«uš ÁœËe�« X

OHO0 ÿU×= “« «— U¼ôU0 XÝ« Â“ôÅ¨qJA� s¹« qŠ È«dÐÆbýÒOHO0 dÖ« Ë œuL� ‰d²M0 XÒbŠ “« XÒOF� ÒvM

ÆœœdÖ d90 bO=uð œ«bFð “« b¹UÐ Ë œuýÅv� vIKð ‰u³: qÐU:dOž ôU0Å¨býUÐ dðÅr0

≥‡‡≤‡‡≥∫v²ŽUÝ œe�—U� ÅÅ—U0 ÂU−�« Ê«eO� U¹ Ábý bO=uð ‰uB×� ”UÝ«dÐ Xš«œdÄ tÇÅÊUMÇ

O?F� ÊU�“ —œÒ—œ t?0 X?Ý« Èœe?�Å¨v?²?ŽU?Ý œe?�—U0 d~¹œ  —U³Ž tÐÆbM¹uÖ v²ŽUÝ œe�—U0 Ê¬ tÐ býUÐ s

%A� —U0 ÂU−�« qÐUI�Ò%A� ÊU�“ —œ hÒÆœœdÖÅv� Xš«œdÄ vB

¥‡‡≤‡‡≥Å∫Ê«dÖ—U� tÐ t<ÝR� œuÝ “« v²L<? Xš«œdÄ Åo�«uð U�d�—U0 Ë dÖ—U0Å¨‘Ë— s¹« —œ 

�«Å ªbýUÐ vK³: ‘Ë— tÝ “« vJ¹ ”UÝ«dÐ U¼œe�—U0 t0 bM¹UL�Åv�ÒtÐ ÁUÖ—U0 œuÝ “« ÈbD—œ ‰UÝ ÊU¹UÄ —œ U

OHO0 r¼Å¨o¹dÞ s¹« tÐÆœœdÖ rO9Ið ÊUA¹« sOÐ ì U¹ dÖ—U0 d¼ bO=uð œ«bFð U¹ dÖ—U0 d¼ —U0 ÊU�“ X³9�ÒË X

OL0 r¼ÒÊUM0—U0 —UO²š« —œ ÂUNÝ  —uD tÐ ‰UÝ ÊU¹UÄ œuÝ tÇÅÅÊUMÇ XÝ« vN¹bÐÆbÐU¹Åv� g¹«e�« ôU0 X

`?{«Ë ÆX?ý«œ b?¼«u?š ‰U³�œ tÐ Èd²NÐ Z¹U²�Å b�uý p¹dý eO� t�Uš—U0 ÈÅt¹U�dÝ —œ ÊUA¹« Ë œdOÖ —«d:

œuÝÅÅÅÅ¨ÈbO=uð bŠ«Ë d¼ qMÝdÄ œ«bFðÅ¨ÁUÖ—U0 X�b:Å¨—U0 Ÿu� tÐ ‚u� ÈU¼Å‘Ë— “« p¹ d¼ »U%²�« t0 XÝ«

¹d¹b� XÝUOÝ Ádš_UÐ Ë q³:  «uMÝ ÊU¹“ ËÒÆœ—«œ v~²9Ð X



ÅÅÅÅÅÅ≥µ

≥‡‡≥vD<?  —uA tÐ tK�UF� 

 —uD tÐ «— œuš ÈU¼ôU0 bM¼œÅv� ̀ Ołdð ÊU¹d²A� dðÅgOÐ »cł È«dÐ ̈ ÊUÖbMýËd� “« È—UO9Ð

Æœœd?ÖÅÅÅÅÅU?¼ÅÊ¬ b?¹U?Ž Èd?ðÅg?O?Ð œu?Ý r?¼ Ë œu?ý t?²šËd� ÈdðÅgOÐ ÈôU0 r¼ Uð bM�UÝdÐ ‘Ëd� tÐ ◊U9:«

b¹dš  —b: œU−¹« ¨b¹dš  —b: b:U� ÊU¹d²A� È«dÐ vÞU9:« ‘Ëd� UÐÅ¨d~¹œ  —U³ŽÅtÐd?�« s?¹«Æb?M?¹U?L?� 

b� È«dÐÅ¨t²�— ‘Ëd� ÈôU0 ÈUNÐ t0 œuýÅv� Vłu�Òs¹« —œÆb�ULÐ —«b¹dš œe� vðœu????Ý b???¹U???Ð X???=U???Š

«— Áb�¬ XÝœÅÅtÐ Ÿd� Ë qD« fáÝ Ë œuL� t³ÝU×� «— ◊uÐd� ÈÅÁbý sOLCðœu?ÝÅÅÅÅdÖ«Æœd0 ÈbMÐÅj9: 

 UÐ «— ÁbMýËd�I« j9: ÈÅÁbý sOLCð œuÝÅ ̈ ÅÅË
Ò

 UÐ «— ◊U9:« mK³� q0 ‰K ̈ rO¼œ ÊUA� Xý«œ rO¼«uš fÄ

  
K = S × r ×

1

12
Xš«œdÄ tÇÅÅÊUMÇ Ë  ÈU?ł tÐ býUÐ —UÐ p¹ ÁU� Ëœ d¼ ¨◊U9:« 

  

1

12
 “« 

  

2

12
ÁœUH²Ý« 

 U?Ð «— ◊U?9?:« œ«b?F?ð ÁUÖd¼ ÆrOM0Åv�NÅ∫‰u?�d?�Å¨r?O¼œ ÊUA� 

  
I =

K(N +1)

2
O?F?� «— Áb?MýËd� œuÝ Òs?

 Ë bM0Åv�dÖ«q0 Ò UÐ «— ◊U9:« mK³� S ‰u�d�Å¨rO¼œ ÊUA� Q =
S + I

N
%A� «— j9: d¼ mK³� ÒbM0Åv� h

Å®Q Æ©XÝ« j9: d¼ mK³� ÈÅÁbM¼œÅÊUA�

Å‰U¦�¥‡‡ÅÅ mK³� Ë b¹dš j³{ u¹œ«— p¹ vB%ý ∞∞∞\±∞∞Xš«œdÄ ÈbI� —uÞ tÐ «— Ê¬ ‰U¹— 

  —uD tÐ «— Áb�U�Åv:UÐ bý —dI� Ë œuL�∏ j9: ∞∞∞\±µ∞XLO: dÖ«ÆbM0 Xš«œdÄ ÁU� d¼ —œ v=U¹— 

 Ê¬ ÈbI� ‘Ëd�∞∞∞\≤±∞\±ÆbOM0 t³ÝU×� «— v²š«œdÄ œuÝ mK³�Å¨býUÐ ‰U¹— 

  150,000× 8 =1,200,000

  1,200,000+100,000=1, 300,000

‰U¹— v²š«œdÄ œuÝ   1,300,000−1,210,000= 90,000

 ‰U¦�µ‡‡ Å m³K� tÐ «— v�u¹e¹uKð vB%ý ∞∞∞\µ∞∞\≤VOðdð s¹« tÐ ÆXÝ« Áb¹dš ◊U9:« tÐ ‰U¹— 

 t0∞∞∞\µ∞∞œuÝ Œd� dÖ« Æb¹UL� Xš«œdÄ ©ÁU� gý ·dþ® j9: gý —œ «— tOIÐ Ë bI� «— Ê¬ ‰U¹— 

 Ábý sOLCð(r) UÐ dÐ«dÐ ∂∞ mK³� Ë býUÐ Ábý o�«uð •µ∞∞∞d¼ mK³� ¨býUÐ È—«œdNý ÷—«uŽ ‰U¹— 

ÆbOM0 h%A� «— j9:

◊U9:« mK³� q0  2,500,000− 500,000= 2,000,000

  
K = S × r ×

1

12

  
I =

K(N +1)

2



ÅÅÅÅÅÅÅÅÅÅ≥∂

Q =
S + I

N

  
= 2,000,000×

6

100
×

1

12
=10,000Ë« j9: ÈÅÁbý sOLCð œuÝ Ò ‰K =

  
I =

10,000(6+1)

2
= 35,000

  35,000+ 5,000= 40,000

  2,000,000+ 40,000= 2,040,000

j9: d¼ mK³�  2,040,000÷6 = 340,000

¥‡‡≥vLz«œ Ë ÈœUŽ ÈU¼ÅÁ—«u9UÝ v¹UN" Ë vKF� ‘“—« 

sOF� v�U�“ qD«u� —œ t0 ‰uÄ ÈËU9� m=U³� “« XÝ«  —U³Ž sOM9=«Åj9: U¹ Á—«u=UÝ U¹ j9:

ÆœuýÅv� Xš«œdÄ U¹ X�U¹—œ

∫v?¹U?N" ‘“—«K?0 l?L?ł q?DUŠ “« XÝ«  —U³ŽÅÒ—œ U?¼ÅÊ¬ œu?Ý Ë Áb?ý X?š«œdÄ ◊U9:« ÈÅtO

ÆÁ—Ëœ ÈUN²�«

∫vKF� ‘“—«—œ t?0 X?Ý« ÈËU?9� ÈU¼ÅXš«œdÄ ÈdÝ p¹ v�uM0 ÈU¼Å‘“—« ŸuL−� q�UýÅ

EM� qD«u�ÒÆœdOÖÅv�  —uD ÊU�“ “«ÅvL

∫ÈœUŽ sOM<9«Åj<?‰UÝ d¼ ÊU¹UÄ —œ t0 XÝ« ÈËU9� v=uÄ ÈU¼ÅXš«œdÄ U¹ X�U¹—œ ÈdÝ p¹ Å

ÆœuýÅv� Xš«œdÄ

∫vLz«œ sOM<9«Åj<?‰UÝ d¼ ‰Ë« —œ t0 XÝ« ÈËU9� v=uÄ ÈU¼ÅXš«œdÄ U¹ X�U¹—œ ÈdÝ p¹Å

ÆœuýÅv� Xš«œdÄ

ÈU¼ÅÁ—«u=UÝ v¹UN� Ë vKF� ‘“—« ÈÅt³ÝU×� ÈÅÁu×� v¹U¼Å‰U¦� UÐ t�«œ« —œ ̈ ‚u� n¹—UFð tÐ tłuð UÐ

ÆœuýÅv� Áœ«œ `O{uð vLz«œ Ë ÈœUŽ

±‡‡¥‡‡≥ÈœUŽ ‘Ë— tÐ ÈËU<� ◊U<?« v¹UN" ‘“—« ‡‡ò FVAå

 ‰U?¦�∂‡?‡ v?Þ —œ b?¹U?Ð b?¹—«œ t?0 v?¼b?Ð d?ÞU?š tÐ bOM0 ÷d� µ ‰U?Ý d?¼ ÊU?¹UÄ ¨‰UÝ ±∞∞‰U?¹— 

Áb?ý sOLCð œuÝ Œd� dÖ« Æb¹“«œdáÐ  d?Ð«dÐ t�ôUÝ È±∞ v?Þ t0 v¹U¼Å‰uÄ ©vð¬® v¹UN� ‘“—« ÆbýUÐ •µ

øXÝ« —b:ÅtÇ b¹“«œdÄÅv� ‰UÝ

ÆrO¹UL� rOÝdð «— ◊U9:« s¹« —«œuL� XÝ« v�U0 ‰U¦� s¹« qŠ È«dÐ 



ÅÅÅÅÅÅ≥∑

  FVA =100(1 /10)4 +100(1 /10)3 +100(1 /10)2 +100(1 /10)1 +100= 610 / 51

0                  1                  2                 3                   4                 5

100 100 100 100 100

146/41

133/10

121/00

110/00

 610/51=

ÁœU?H?²?Ý« d?¹“ Õd?ý t?Ð v?K?0 ‰u�d� p¹ “« Ê«uðÅv� XÝ« dOÖÅÅX:Ë ‚u�  U³ÝU×� t0 UłÅÊ¬ “«

 ÈËU?9?� ◊U?9?:« v?¹U?N?� ‘“—« ‰u�d� s¹« ÆœuL�±X?š«œd?Ä U?¹ X?�U?¹—œ ‰U?Ý d?¼ ÊU?¹UÄ —œ t0 v=U¹— 

® b�uýÅv�FV
A

Æb¼œÅv� ÊUA� «— ©

FVA = .
t= l

N
Pmtt (l + i)N− t = Pmt

(l + i)N − l
i

.

.

.
.

.

.

∫Ê¬ —œ t0

= iªÁbý sOLCð œuÝ Œd� 

= NÆb�uýÅv� Xš«œdÄ U¼Åj9: Ê¬ vÞ t0 v¹U¼Å‰UÝ œ«bFð 

 Ë= PmtÆXÝ« j9: d¼ mK³� d~�UOÐ 

∫tłuðÆœuýÅv� ÷d� XÐUŁ Ábý sOLCð œuÝ Œd� ¨XL9: s¹«  UM¹dLð Ë U¼Å‰U¦� qŠ —œ 

∫t0 r¹—«œ ‚u� ‰U¦� —œ  —uD s¹« —œ

  
FVA =100

(1/10)5 − l
0/10

.

.

.
.

.

. = 610/ 51

v¹UN� ‘“—« ‰Ëbł “« U¼Å‰U¦� Ë U¼Ås¹dLð qŠ È«dÐ »U²0 s¹« —œ ¨‰u�d� s¹« vÖbOâOÄ qO=œ tÐ

Á—«u=UÝ  ‰Ëbł® ÈœUŽ ÈÅÅU¼±U?¹ X�U¹—œ ÈdÝÅp¹ ¨ÈœUŽ ÈU¼ÅÁ—«u=UÝ “« —uEM� ÆœuýÅv� ÁœUH²Ý« ©

 —œ t0 XÝ« ÈËU9� v=uÄ ÈU¼ÅXš«œdÄÊU¹UÄÆbM¼œÅv� Œ— ‰UÝ d¼ 

 ‰U¦� qŠ XNł Ë—Ås¹« “«∂ ‰Ëbł tÐ XÝ« v�U0  ±ÁdNÐ Œd� «b²Ð« ÆbO¹UL� tFł«d� »U²0 ÈUN²�« 

 ‰U?¦� —œ ÆbOM0 «bOÄ ‰Ëbł ÈU¼ÅÊu²Ý ÈôUÐ œ«bŽ« ÈË— “« «—∂ ÁdNÐ Œd� ¨Å±∞—œ ¨s?¹«dÐUMÐ ÆXÝ« •

 Œd?� t×HD jÝË sO¹UÄ ÈÅtLO�±∞ —«b?I?� ‰Ëbł éÇ XLÝ Êu²Ý “« bFÐ ÆrOÐU¹Åv� «— •nd?~�UOÐ t0Å¨Å

 œbŽ ̈ b�uýÅv� Xš«œdÄ U¹ X�U¹—œ Ê¬ vÞ ◊U9:« t0 XÝ« v¹U¼Å‰UÝ œ«bFðµv:öð “« ÆrOM0Åv� «bOÄ «— 

  b�—œµ‰UÝ 



ÅÅÅÅÅÅÅÅÅÅ≥∏

 dDÝn = µ Êu²Ý Ë ±∞ œbŽ tÐ •∂[±∞µ±∞∞ ÊUL¼ t0 rOÝ—Åv� FV
A

d¼ mK³� —œ «— Ê¬ dÖ« t0 XÝ« 

 ‰U?¦?� s?¹« —œ t0® j9:±∞∞d?Ð«d?Ð t?0 ¨b?¹¬Åv?� X?ÝœÅt?Ð ◊U9:« v¹UN� ‘“—« rOM0 »d{ ©XÝ« ‰U¹— 

  6190/ 51 XÝ« ‰U¹— ®ö³: t0ÎÆÆÆÆÆÆÆÆ©r¹œuÐ ÁbOÝ— »«uł sOL¼ tÐ eO� 

•±∞[∞•π[∞•∏[∞n

±[∞∞∞∞∞∞±[∞∞∞∞∞∞±[∞∞∞∞∞∞±

≤[±∞∞∞∞∞≤[∞π∞∞∞∞≤[∞∏∞∞∞∞≤

≥[≥±∞∞∞∞≥[≤∑∏±∞∞≥[≤¥∂¥∞∞≥

¥[∂¥±∞∞∞¥[µ∑≥±≤π¥[µ∞∂±±≤¥

∂[±∞µ±∞∞µ[π∏¥∑±±µ[∏∂∂∂∞±µ

≤‡‡¥‡‡≥ò vM²š«œdÄ ‘Ë— tÐ ◊U<?« v¹UN" ‘“—« FVADå

 ‰U?¦�∑ ‡?‡ ‰U?¦?� —œ b?O?M?0 ÷d� ‰UŠ ∂‰U?Ý d?¼ È«b?²?Ð« —œ «— —u?0c?� ◊U?9:« œuÐ —«d: dÖ« 

‰b� v²=UŠ sOMÇ —œ bOM0 Xš«œdÄÆb�¬Åv�—œ d¹“  —uDÅtÐ ULý ◊U9:« Xš«œdÄ 

0                  1                  2                 3                   4                 5

Pmt Pmt Pmt Pmt Pmt Pmt

ÈËU9� ◊U9:« v¹UN� ‘“—« t0 œuL� ÁœUH²Ý« d¹“ vK0 ‰u�d� “« Ê«uðÅv� ¨‰U¦� s¹« qŠ È«dÐ

±® v=U¹— FVADt?�u?ÖÅs?¹« t?Ð Æb?¼œÅv� ÊUA� ¨b�uýÅv� Xš«œdÄ U¹ X�U¹—œ ‰UÝ d¼ È«b²Ð« —œ t0 «— ©

UŠöDD« ◊U9:«ÎÆbM¹uÖÅv� eO� vM²š«œdÄ ÈU¼ÅÁ—«u=UÝ 

FVAD = Pmt
(l + i)N − l

i

.

.

.
.

.

. (l + i)

∫‰u�d� s¹« —œ

= i ªÁbý sOLCð œuÝ Œd� 

= Nªb�uýÅv� Xš«œdÄ U¼Åj9: Ê¬ vÞ t0 v¹U¼Å‰UÝ œ«bFð 

 Ë= PmtÆXÝ« j9: d¼ mK³� d~�UOÐ 

 ‰U¦� È«dÐ  —uD s¹« —œ∑∫r¹—«œ 

ÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆ



ÅÅÅÅÅÅ≥π

  
FVAD =100

(1/10)5 −1

0/10

.

.

.
.

.

. (1/10) = 671/ 56

 ‰Ëbł ÊUL¼ “« U¼Ås¹dLð Ë U¼Å‰U¦� qŠ È«dÐ »U²0 s¹« —œ ‚u� ‰u�d� vÖbOâOÄ qO=œÅtÐ±tLOL{ 

ö³: t0 vŠdý tÐ® ‰Ëbł “« Áb�¬ÅÅXÝœÅtÐ œbŽ XÝ« v�U0 jI� ÆœuýÅv� ÁœUH²Ý« »U²0Î—œ «— ©bý t²HÖ 

 Ë j9: d¼ mK³�®l+ivMF¹ ¨bOM0 »d{ ©

  6 /105100 ×  100 ×  (1/1) = 671/ 561

≥‡‡¥‡‡≥ò ÈœUŽ ‘Ë— tÐ ◊U<?« Xš«œdÄ vKF� ‘“—« PVA∫å

 b?O�«œÅv� t0—uÞÅÊUL¼ ±b?F?Ð ‰U?Ý bMÇ —œ ULý t0 XÝ« v=U¹— p¹ “« dðÅ‘“—« UÐ “Ëd�« ‰U¹— 

 dÖ« ¨d~¹œ  —U³Ž tÐ ÆXý«œ bO¼«uš UÐ Êü« ULý±∞∞∞UFD: b¹d%Ð ê¹Ëb�UÝ p¹ bO�«uðÅv� ÊU�uð Î ±∞

 “« d?ðÅg?O?Ð —U?O?9?Ð v?²?L?O?: tÐ ê¹Ëb�UÝ s¹« d~¹œ ‰UÝ±∞∞∞ÁœU?Ý ‰U?¦?� s?¹« Æœu?ýÅv?� t²šËd� ÊU�uð 

 bO�«uðÅv� ULý Ë— s¹« “« ÆXÝ« ‰uÄ v�U�“ ‘“—« ÈÅÁbM¼œÅÅÊUA�±∞œuÝ UÐ vJ�UÐ »U9Š —œ ÊU�uð —«e¼ 

‰U?Š ¨ U?×?O?{u?ð s?¹« tÐ tłuð UÐ Æœuý kHŠ ÊU²=uÄ v�U�“ ‘“—« Uð bOM0 È—«cÖÅt¹U�dÝ ÁbýÅsOLCð

 Ábý sOLCð œuÝ Œd� dÖ« rOMO³Ð rO¼«ušÅv�±∞ s¹« ŸuL−� býUÐ •±∞∞‰UÝ d¼ ÊU¹UÄ —œ t0 v¹U¼Å‰U¹— 

 vÞµÆb�—«œ ‘“—« —b:ÅtÇ Êü« r¹“«œdÄÅv� ‰UÝ 

  
PVA =

100

(1/10)1
+

100

(1/10)2
+

100

(1/10)3 +
100

(1/10)4 +
100

(1/10)5 = 379 /08

0                  1                  2                 3                   4                 5

100 100 100 100 100

62/09

68/30

75/13

82/64

90/91

379/08

ÁœU?H?²?Ý« d?¹“ Õd?ý t?Ð v?K?0 ‰u�d� p¹ “« Ê«uðÅv� ¨XÝ« dOÖÅX:Ë ‚u�  U³ÝU×� t0 UłÅÊ¬ “«

 ÈËU?9?� ◊U?9?:« v?K?F� ‘“—« ‰u�d� s¹« ÆœuL�±b?�u?ýÅv?� X?š«œd?Ä ‰U?Ý d¼ ÊU¹UÄ —œ t0 ¨«— v=U¹— 

®PV
A

∫b¼œÅv� ÊUA� ̈ ©

PVA = .
t=1

N Pmtt

(l + i)t = Pmt
l − l

(l + i)N

i

.

.

.

.

.

.

.

.

.

.



ÅÅÅÅÅÅÅÅÅÅ¥∞

∫Ê¬ —œ t0

= i ªÁbý sOLCð œuÝ Œd� 

= Nªb�uýÅv� Xš«œdÄ U¼Åj9: Ê¬ vÞ t0 v¹U¼Å‰UÝ œ«bFð 

 Ë= PmtÆXÝ« j9: d¼ mK³� d~�UOÐ 

∫r¹—«œ ‚u� ‰U¦� È«dÐ  —uD s¹« —œ

  

PVA =100 ×
l − l

(1+10)5

0/10

.

.

.

.

.

.

.

.

.

.
= 379 /08

vKF� ‘“—« ‰Ëbł “« U¼Å‰U¦� Ë U¼Ås¹dLð qŠ È«dÐ »U²0 s¹« —œ ‚u� ‰u�d� vÖbOâOÄ qO=œ tÐ

ÈU¼ÅXš«œdÄ U¹ X�U¹—œ ÈdÝ p¹ ̈ ÈœUŽ ÈU¼ÅÁ—«u=UÝ “« —uEM� ÆœuýÅv� ÁœUH²Ý« ÈœUŽ ÈU¼ÅÁ—«u=UÝ

 —œ t0 XÝ« ÈËU9� v=uÄÊU¹UÄÆbM¼œÅv� Œ— ‰UÝ d¼ 

 ‰Ëbł tÐ XÝ« v�U0 ¨‰U¦� s¹« qŠ È«dÐ≤“« «— ÁdNÐ Œd� «b²Ð« ÆbO¹UL� tFł«d� »U²0 ÈUN²�« 

 ‰U¦� —œ ÆbOM0 «bOÄ ‰Ëbł ÈU¼ÅÊu²Ý ÈôUÐ œ«bŽ« ÈË—∂ ÁdNÐ Œd� ¨±∞ÈÅtLO� —œ ¨s¹«dÐUMÐ ÆXÝ« •

 Œd?� t?×HD jÝË sO¹UÄ±∞ —«b?I?� ‰Ëb?ł éÇ XLÝ Êu²Ý “« bFÐ rOÐU¹Åv� «— •nœ«b?F?ð d~�UOÐ t0¨ 

 œbŽ ̈ b�uýÅv� Xš«œdÄ U¹ X�U¹—œ Ê¬ vÞ ◊U9:« t0 XÝ« v¹U¼Å‰UÝµdDÝ v:öð “« ÆrOM0Åv� «bOÄ «— 

n =µ Êu²Ý Ë ±∞ œbŽ tÐ •≥[∑π∞∑∏∑ ÊUL¼ t0 rOÝ—Åv� PV
A

j9: d¼ mK³� —œ «— Ê¬ dÖ« t0 ̈ XÝ« 

 ‰U?¦� s¹« —œ t0®±∞∞U?Ð X?Ý« d?Ð«d?Ð t?0 b?¹¬Åv?� XÝœÅtÐ ◊U9:« vKF� ‘“—« rOM0 »d{ ©XÝ« ‰U¹— 

≥∑π[∞∏ö³: t0® ‰U¹— ÎÆ©r¹œuÐ ÁbOÝ— »«uł sOL¼ tÐ eO� 

•±∞[∞•π[∞•∏[∞n

∞[π∞π∞π±∞[π±∑¥≥±∞[π≤µπ≤∂±

±[∑≥µµ≥∑±[∑µπ±±±±[∑∏≥≤∂µ≤

≤[¥∏∂∏µ≤≤[µ≥±≤πµ≤[µ∑∑∞π∑≥

≥[±∂π∏∂µ≥[≤≥π∑≤∞≥[≥±≤±≤∑¥

≥[∑π∞∑∏∑≥[∏∏π∂µ±≥[ππ≤∑±∞µ

¥‡‡¥‡‡≥ò vM²š«œdÄ ‘Ë— tÐ ◊U<?« Xš«œdÄ vKF� ‘“—« PVADå

 ‰U?¦�∏‡‡ ‰U?Ý d?¼ È«b?²?Ð« —œ «— —u?0c?� ◊U?9?:« œuÐ —«d: ULý q³: ‰U¦� —œ bOM0 ÷d� ‰UŠ 
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Æ

ÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆÆ



ÅÅÅÅÅÅ¥±

 vÞ t0 v¹U¼Å‰uÄ vKF� ‘“—« t0 bOÐUOÐ X=UŠ s¹« —œ t0Ås¹« È«dÐµ—b: tÇ Êü« b¹“«œdÄ v� ‰UÝ 

ÆbO¹UL� tłuð d¹“  U³ÝU×� tÐ ¨XÝ«

  
PVA =100+

100

(1/10)1
+

100

(1/10)2
+

100

(1/10)3 +
100

(1/10)4 = 416 / 98

ÆœuL� ÁœUH²Ý« d¹“ Õdý tÐ vK0 ‰u�d� p¹ “« Ê«uðÅv� XÝ« dOÖÅX:Ë ‚u�  U³ÝU×� t0 UłÅÊ¬ “«

 ÈËU9� ◊U9:« vKF� ‘“—« ‰u�d� s¹«±® b�uýÅv� Xš«œdÄ ‰UÝ d¼ È«b²Ð« —œ t0 ¨«— v=U¹— PVAD¨©

Æb¼œÅv� ÊUA�

PVAD = Pmt
l − l

(l + i)(N−1)

i

.

.

.

.

.

.

.

.

.

.
+ Pmt

∫Ê¬ —œ t0

= i ªÁbý sOLCð œuÝ Œd� 

= Nªb�uýÅv� Xš«œdÄ U¼Åj9: Ê¬ vÞ t0 v¹U¼Å‰UÝ œ«bFð 

 Ë= PmtÆXÝ« j9: d¼ mK³� d~�UOÐ 

 ‰U¦� È«dÐ  —uD s¹« —œ∑∫r¹—«œ 

  

PVAD =100
l − l

(1/10)(5−1)

0/10

.

.

.

.

.

.

.

.

.

.
+100= 416 / 98

 ‰Ëbł “« U¼Ås¹dLð Ë U¼Å‰U¦� qŠ È«dÐ ¨‚u� ‰u�d� vÖbOâOÄ qO=œ tÐ≥s¹« ÆœuýÅv� ÁœUH²Ý« 

 ÈËU9� ◊U9:« vKF� ‘“—« ‰Ëbł±Xš«œdÄ U¹ X�U¹—œ ‰UÝ d¼ È«b²Ð« —œ t0 b¼œÅv� ÊUA� «— v=U¹— 

Æb�uýÅv�

 ‰U¦� qŠ XNł ”UÝ« s¹« dÐ∏ ‰Ëbł tÐ XÝ« v�U0 ̈ Å≥Œd� «b²Ð« ÆbO¹UL� tFł«d� »U²0 ÈUN²�« 

 ‰U¦� —œ ÆbOM0 «bOÄ ‰Ëbł ÈU¼ÅÊu²Ý ÈôUÐ œ«bŽ« ÈË— “« «— ÁdNÐ∂ ÁdNÐ Œd� ¨Å±∞¨s¹«dÐUMÐ ÆXÝ« •

0                  1                  2                 3                   4                 5

100 100 100 100 100

ÆXÝ« d¹“  —uDÅtÐ ULý ◊U9:« Xš«œdÄ ‰b� v²=UŠ sOMÇ —œ ÆbOM0 Xš«œdÄ



ÅÅÅÅÅÅÅÅÅÅ¥≤

 Œd� t×HD jÝË sO¹UÄ ÈÅtLO� —œ±∞ —«bI� ‰Ëbł éÇ XLÝ Êu²Ý “« bFÐ ÆrOÐU¹Åv� «— •nd~�UOÐ t0 

 œbŽ ̈ b�uýÅv� Xš«œdÄ U¹ X�U¹—œ Ê¬ vÞ ◊U9:« t0 XÝ« v¹U¼Å‰UÝ œ«bFðµv:öð “« ÆrOM0Åv� «bOÄ «— 

 dDÝn = µ Êu²Ý Ë ±∞ œbŽ tÐ •¥[±∂π∏∂µ ÊUL¼ t0 rOÝ—Åv� PV
AD

mK³� —œ «— Ê¬ dÖ« t0 ¨XÝ« 

 ‰U?¦� s¹« —œ t0® j9: d¼±∞∞d?Ð«d?Ð t?0 b¹¬Åv� XÝœÅtÐ ◊U9:« vKF� ‘“—« rOM0 »d{ ©XÝ« ‰U¹— 

 UÐ XÝ«¥±∂[π∏ö³: t0 ‰U¹— ÎÆr¹œuÐ ÁbOÝ— »«uł sOL¼ tÐ eO� 

•±∞[∞•π[∞•∏[∞n

±[∞∞∞∞∞∞±[∞∞∞∞∞∞±[∞∞∞∞∞∞±

±[π∞π∞π±±[π±∑¥≥±±[π≤µπ≤∂≤

≤[∑≥µµ∏∑≤[∑µπ±±±≤[∑∏≥≤∂µ≥

≥[¥∏∂∏µ≤≥[µ≥±≤πµ≥[µ∑∑∞π∑¥

¥[±∂π∏∂µ¥[≤≥π∑≤∞¥[≥±≤±≤∑µ

µ‡‡Å≥‰uAu9«Å„uJA�  U³9UD� ÈÅÁdOš– œ—Ë¬dÐ ÈÅÁu×"Å 

 t0ÅÈ—uÞÅÊUL¼:ö³Î‘Ëd� «d¹“ ÆXÝ« tO9�  —uD tÐ È—U−ð  U9ÝR� dðÅgOÐ ‘Ëd�Å¨bý d0– 

 u�Å¨v~²9Jý—Ë tKLł “« nK²%� q¹ôœ tÐ v¼UÖ v=ËÆœuýÅv� ‘Ëd� Ê«eO� g¹«e�« YŽUÐ tO9� —uÞ tÐ

Å̈ tO9� Ê«—«b¹dš “« vCFÐ XÝ« sJL� ì U¹ Ë: Xš«œdÄ tÐ —œU:¨s¹«dÐUMÐÆbMýU³� œuš v¼bÐ ÂULð U¹  v²L9

ÝR� d¼Ò« Ë ÈbI�dOž  —uD tÐ ‘Ëd� t0 È—U−ð ÈÅt9: t0 bM0 vMOÐÅgOÄ b¹UÐ œ—«œ vÞU9:“« v²L9

 U?³?=U?D?� ÈÅÁd?O?š– ÂU?� t?Ð v?ÐU?9?Š b?¹U?Ð qO=œ sOL¼ tÐÆœuA� ‰uDË ÁbM¹¬ —œ XÝ« sJL� gðU³=UD�

ÈU¼Å»U9ŠÅ ÈÅÁbM¼œÅg¼U0  —uD tÐÅ¨v=U� ‰UÝ ÊU¹UÄ —œ »U9Š s¹«Æb¹UL� ÕU²²�« ‰uDu=«Å„uJA�

t0 ̈ œœdÖÅv� —uEM� ÊU¹“ Ë œuÝ »U9Š —œ tM¹e¼  —uD tÐ sOMÇÅr¼ÆbM0Åv� qLŽ t�U�“«dð —œ vM²�U¹—œ

d?E?� t?Ð ‰uDu=«Å„uJA�  U³=UD� mK³� œ—Ë¬dÐ tÇdÖ«Æbý b¼«uš ÊU¹“ g¹«e�« U¹ œuÝ g¼U0 YŽUÐ

t?9?ÝR?� È«d?Ð b?�«u?ðÅv?� t?0 œ—«œ œu?łË m=U³� s¹« sOL%ð È«dÐ v¹U¼Å‘Ë— v=Ë œ—«œ v~²9Ð X¹d¹b�

∫“« b�«Å —U³Ž U¼Å‘Ë— s¹«ÆbýUÐ ULM¼«—

±Å‡‡µ‡‡Å≥« ‘Ë—Å® rOI²<� ·cŠ ‘Ë— ËÒ∫©‰ U³=UD� “« vCFÐ t0 bM0 vMOÐÅgOÄÅ X¹d¹b� dÖ«ÅÅ

ö?¦?�Æb?M?0Åv?� ·cŠ vM²�U¹—œ ÈU¼Å»U9Š “« «— Ê¬ býU³� ‰uDË qÐU:ÎX?K?Ž t?Ð ¨X¹d¹b� XÝ« sJL� 

v¼bÐ “« v²L9: U¹ ÂULð œdO~Ð rOLBð Xš«œdÄ —œ v�ôuÞ —UO9Ð dOšQð U¹ Ê«—«b¹dš “« vJ¹ v~²9Jý—Ë
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ÅÅÅÅÅÅ¥≥

ÆœdOÖÅv� —«d: ÁœUH²Ý« œ—u� dðÅr0 Ë X9O� VÝUM� Ê«bMÇ ‘Ë— s¹« t²³=« ÆbM0 ·cŠ dðU�œ “« «— ÈË

≤ Å‡‡µÅÅ‡‡ÅÅ ≥‘Ë—Å® ‘Ëd� “« ÈbA—œ ÈUM³� dÐ ‰uAu9«Å„uJA�  U³9UD� œ—Ë¬d‡Ð ‘Ë—ÅÅÅÅ

∫©ÅÂËœ0 “« v²ÐUŁ bD—œ U¹ býUÐ sO¹UÄ —UO9Ð ÈbI� ‘Ëd� r:— dÖ«ÅqÒ‘Ë— s¹« “« Ê«uðÅv�Å¨býUÐ ‘Ëd� 

łuð UÐ ‘Ë— s¹« —œÆœuL� ÁœUH²Ý«ÒOÐd−ð tÐ t
Ò

OF{Ë Ë t²ýcÖ  U
Ò

ÈÅÁdOš– ̈ ÊU¹d²A� Ë tIDM� ÈœUB²:« X

OF� bD—œ ‰œUF� ‰uDu=«Å„uJA�  U³=UD�
Ò

ÆœœdÖÅv� sOOFð ‘Ëd� “« vM

‰U¦�π‡‡Åt?�UO=UÝÅv�UÖ—“UÐÅ X0dýÅ p¹ ∞∞∞\∞∞∞\±∞ œËb?Š Åt0Åœ—«œÅ‘Ëd� ‰U¹—∞∞∞\∞∞∞\≥

 œËb?Š t?=UÝ tL¼Å® XÝ« ÈbI� Ê¬ ‰U¹—≥∞ÈÅÁd?O?š– d?Ö« Æ©XÝ« tO9� ‘Ëd� vIÐU� Ë ÈbI� ‘Ëd� •

 œËbŠÅ¨‰uDu=«Å„uJA� Å U³=UD�≤q0ÅbD—œÒÆbOM0 h%A� «— Ê¬ mK³�ÅbýUÐ Ábý vMOÐÅgOÄ ‘Ëd� 

               ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš– Ê«eO�

  
10,000,000× 2

100
= 200,000

≥Å‡‡µ‡‡ Å≥ÈU?¼Å‘Ëd?� “« Èb?A—œ ÈUM³� dÐ ‰uAu9«Å„uJA�  U³9UD� œ—Ë¬dÐ ‘Ë—Å 

∫©ÅÂuÝ ‘Ë—Å® tO<"Å ÈU¼Å‘Ë— tÐ X³9� t0Å¨‘Ë— s¹« —œ:œ vK³: U³=UD� ÈÅÁdOš– œ—Ë¬dÐÅ ̈ XÝ« dðÅoO

ôuD« «d¹“ÅªXÝ« tO9� ÈU¼Å‘Ëd� “« ÈbD—œ ÈUM³� dÐ ‰uDu=«Å„uJA�ÎÈdOŁQð ÈbI� ÈU¼Å‘Ëd� 

OÐd−ð ”UÝ«dÐ eO� ‘Ë— s¹« —œÆœ—«b� ‰uDu=«Å„uJA�  U³=UD� ÈU¼ÅÅÁdOš– —œ
Ò

ÈU¼ÅX0dýÅ¨t²ýcÖ  U

OF{ËÅ¨tÐUA�
Ò

« XOF{Ë Ë Ê«—«b¹dš X: —uD tÐ tO9� ‘Ëd� “« ÈbD—œÅ¨ÊU¹d²A� Ë tIDM� ÈœUB²

ÆœœdÖÅv� vMOÐÅgOÄ ‰uDu=«Å„uJA�  U³=UD� ÁdOš–

 ‰U?¦�±∞‡‡Å  ‰U?¦?� X?0dý —œ dÖ«π œËb?Š ‰u?Du?=«Å„u?J?A?�  U?³=UD� ÈÅÁdOš–Å¨≤[µb?D—œ

ÆbOM0 h%A� «— Ê¬ mK³�Å¨býUÐ Ábý vMOÐÅgOÄ tO9� ÈU¼Å‘Ëd�

tO9� ‘Ëd�  10,000,000− 3,000,000= 7,000,000

  
7,000,000×

2 / 5
100

=175,000

¥Å‡‡µÅ‡‡Å ≥ÈU¼Å»U<Š ÈÅÁb"U� “« ÈbA—œ ÈUM³� dÐ ‰uAu9«Å„uJA�  U³9UD� œ—Ë¬dÐÅ 

∫© Â—UNÇ ‘Ë—Å ® ÅvM²�U¹—œ s¹dðÅoO:œ œ—Ë¬dÐ s¹« Å̈ Ê«dE�ÅVŠUDÅ “«ÅvCFÐ  ÈÅÁbOIŽ tÐÅ«d¹“ÅªXÝU¼Å‘Ë— 

ôuD«Î—œ t?0 b?M?²?9?¼ Åv?L?0 œ«b?F?ð Ë b?M?¹U?L?�Åv?� Xš«œdÄ l:u� tÐ «— œuš v¼bÐÅ¨Ê«—«b¹dš “« vKOš 

v?¼b?Ð ÈœËb?F�Å¨b�—«œ Xš«œdÄ —œ dOšQð t0 v�U90 sOÐ “« XÝ« sýË— Ë b�—«œ dOšQð œuš Xš«œdÄ

łuð d¹“ ‰U¦� tÐ Ÿu{u� Êbý dðÅsýË— È«dÐÅÆb�“«œdÄÅvL� «— œušÒÆbOM0 t

 ‰U¦�±± ‡‡Å t�UO=UÝÅ¨v²0dýÅ  1,000,000 t0 œ—«œ ‘Ëd� ‰U¹— ¥∞tÐ vIÐU� Ë ÈbI�  —uD tÐ •

 X?0d?ý v?M²�U¹—œ ÈU¼Å»U9Š ÈÅÁb�U�ÆXÝ« tO9�  —uD  50,000t?Ð bI²F� ‘Ëd� d¹b�ÆXÝ« ‰U¹— 



ÅÅÅÅÅÅÅÅÅÅ¥¥

 œ—Ë¬dÐ UÐ ÂËœ ‘Ë—≥ œ—Ë¬dÐ UÐ «— ÂuÝ ‘Ë—Å¨X0dý v�UÖ—“UÐ ÊËUF�ÆXÝ« bD—œ ≤œbM9ÄÅv� bD—œ 

 œ—Ë¬d?Ð U?Ð Â—UNÇ ‘Ë— tÐ bI²F�Å q�UŽ d¹b� Ádš_UÐ Ë≤µłu?ð UÐ ÆXÝ« bD—œ Ò¨Â«b0 d¼  «dE� tÐ t

ÆbOM0 t³ÝU×� «— X0dý ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš–

ÈbI� ‘Ëd�

  
1,000,000×

40
100

= 400,000

tO9� ‘Ëd�  1,000,000− 400,000= 600,000

 ∫ÂËœ ‘Ë—”UÝ«dÐ ‰uDu=«Å„uJA�  U³=UD�ÅÊ«eO�Å‘Ëd� d¹b� dE�Å

1,000,000×
3

100
= 30,000

∫ÂuÝ ‘Ë—v�UÖ—“UÐ ÊËUF� dE� ”UÝ«dÐ ‰uDu=«Å„uJA�  U³=UD� Ê«eO� Å

600,000×
2

100
=12,000

∫Â—UNÇ ‘Ë—q�UŽ d¹b� dE� ”UÝ«dÐ ‰uDu=«Å„uJA�  U³=UD� Ê«eO� Å

50,000×
25
100

=12,500

—œ ‰U?¦?� È«d?Ð ÆX?Ý« Ã—U?š »U?²?0 s?¹« Y×Ð “« t0 œ—«œ œułË eO� ÈdðÅvKLŽ ÈU¼Å‘Ë— t²³=«

ÝR� “« vCFÐ
Ò

łuð UÐÅ¨ U9Ò t‡Ð t


b:¨t¼U� p¹  —uD tÐÅ Ë pOJHð «— U¼ÅÊ¬ ¨vM²�U¹—œ ÈU¼Å»U9Š X�

d?¼ X?�b?: X?³9� tÐ v¹ôUÐ bD—œ Ë bMM0Åv� ÈbMÐÅt²Ýœ dðÅgOÐ Ë t=UÝËœÅ¨t=UÝÅÅp¹Å¨t¼U�ÅgýÅ¨t¼U� tÝ

ö¦�ÆbM¹UL�Åv� vMOÐÅgOÄ Â«b0ÎZMÄÅ¨Åt¼U�ÅtÝÅ¨bD—œÅp¹ÅÅ¨Åt¼U�Åp¹ «— ‰uDu=«ÅÅ„uJA�  U³=UD� ÈÅÁdOš– 

œ—Ë¬d?Ð b?D—œ ÁU?−?M?Ä t?=U?ÝÅËœ Ád?š_U?Ð Ë b?D—œ Z?MÄÅÅËÅÅÅX9OÐ ¨Åt=UÝÅÅp¹ÅÅ¨bD—œ ÁœÅÅ¨Åt¼U�ÅÅgýÅÅ¨bD—œ

ÆbM¹UL�Åv�



ÅÅÅÅÅÅ¥µ

Âu� qB� ÈU�Ås�dL�

± v?¹ôU?0 b?Š«Ë d?¼ XLO: ‡‡≥∞∞ “« d?Ö« ÆXÝ« ‰U¹— ±∞± U?ð ≥∞∞ ¨œu?ý È—«b¹dš bŠ«Ë ≤

 “« d?Ö« Ë n?OH%ð bD—œ≥∞± U?ð µ∞∞ œœd?Ö È—«b¹dš bŠ«Ë µ “« g?O?Ð È«d?Ð Ë nOH%ð bD—œÅµ∞±

Å¨b?¹dš bŠ«Ë∏b?Š b?¹U?Ð X?0dý s¹« »U9Š  —uD ÆœuýÅv� Áœ«œ nOH%ð bD—œ ÒÁU?� p¹ ·dþ d¦0«

 œuý Xš«œdÄ “Ë— Áœ “« dðÅr0 —œ dÖ« v=ËÅÅÆœœdÖ Xš«œdÄ≥ “« d²L0 —œ tÇÅÊUMÇ Ë nOH%ð bD—œ ≤∞

 œuý Xš«œdÄ “Ë—± vB%ý dÖ« ‰UŠÆbý b¼«uš —uEM� nOH%ð bD—œ ±µ∂Ë bM0 È—«b¹dš bŠ«Ë 

 ·dþ b¼«u%Ð «— U¼ÅÊ¬ ÈUNÐ¥ dÖ« øÅÅœ“«œdáÐ b¹UÐ «— vGK³� tÇÅ¨bM0 Xš«œdÄ “Ë— ¥∞∞È—«b¹dš bŠ«Ë 

øÅœ“«œdáÐ b¹UÐ «— vGK³� tÇÅ¨b¹UL� Xš«œdÄ “Ë— Áœe�UÄ ·dþ b¼«u%Ð Ë býUÐ Áœd0

≤ t�«“Ë— ÈdÖ—U0 ‡‡∏ Ë bM0Åv� —U0 XŽUÝÅ≥Ë« œeL²Ýœ dÖ« Æb¹UL�Åv� bO=uð «— v¹ôU0 “« bŠ«ËÅ

v?²ŽUÝ∞∞∞\≤ U¹ býUÐ ‰U¹— : ôU?0 b?O=uð bŠ«Ë d¼ È«“« —œ t0 bM0 ‰u³∞∞∞\µ¨b?¹UL� X�U¹—œ ‰U¹— 

bO=uð ÈU¼bŠ«Ë ”UÝ«dÐ Xš«œdÄ U¹ —U0 XŽUÝ ”UÝ«dÐ Xš«œdÄ øXÝU�d�—U0 ÕöD tÐ ‘Ë— Â«b0

9?×?� tÇ œuý vKLŽ ULý ÈœUNMAOÄ ‘Ë— dÖ« ø«dÇ øÁbýÒøX?ý«œ b?¼«uš ‰U³�œÅtÐ v³¹UF� tÇ Ë  UM

ÆbO¼œ `O{uð

≥ Ê¬ bI� XLO: t0 Ábý È—«b¹dš v¼U~²ÝœÅ¨È«Åt�Uš—U0 È«dÐÅ ‡‡  22,000,000Áb¹œdÖ sOOFð ‰U¹—

 t?�Uš—U0 dÖ«ÆXÝ«  4,000,000O?I?Ð Ë j9:ÅgOÄ  —uD tÐ «— Ê¬ bI� ÈUNÐ “« ‰U¹— Ò —œ «— t?≤UÐ ‰UÝ 

 Œd?� U?Ð t?�U¼U� v=«u²� Ë ÈËU9²� ◊U9:«±≤O?F?� «— j?9: d¼ mK³� ¨b¹UL� Xš«œdÄ •Òt?ÇÅÊU?MÇ ÆbOM0 s

ÆbO¹UL� t³ÝU×� «— j9: d¼ mK³� œœdÖ Xš«œdÄ —UÐÅp¹ ÁU�ÅËœ ◊U9:«

¥∫XÝ« ÁœuL� ÂöŽ« Õdý s¹« tÐ «— œuš ÈbO=uð ÈU¼ÅÊuO�U0 ‘Ëd� j¹«dýÅ¨X0dý p¹ Å‡‡Å

bI� XLO:                    64,200,000

  —uD s¹« —œÆœd0 È—«b¹dš «— ÊuO�U0 Ê«uðÅv� eO� ◊U9:«  —uD tÐ v=Ë

  

1
3

ÈbI� —uÞÅÅtÐ «— mK³� 

  b� tÐ «— vIÐU� Ë≤ ÁdNÐ Œd� UÐ ‰UÝ ±µÆœ—«œÅv� X�U¹—œ t�UO¼U� ◊U9:«  —uD tÐ •

Ë«ÒôÎOF� «— j9: d¼ mK³�Å¨
Ò

ÆbOM0 s

UO�UŁÎ t?Ð «— j9:ÅgOÄ dÖ«Å¨

  

1
4

b?� Ë g?¼U0 bI� mK³� Ò t?Ð «— ◊U9:« Xš«œdÄ“UÐ  ≥g¹«e�« ‰UÝ 

ø—b:ÅÅtÇÅøÅdðÅgOÐ U¹ œuýÅv� dðÅr0 j9: d¼ mK³�Å¨b¼œ

µ X�U¹—œ UÐ «— Êu¹e¹uKð ÁU~²Ýœ p¹Å¨v¼U~ýËd�Å‡‡ÅÅ±∞OIÐ Ë ÈbI�  —uD tÐ XLO: bD—œ Ò«— t

 ◊U9:«  —uD tÐ±∏dI� Ë XšËd� t¼U� Ò Œd� UÐ t0 bý —∏dÖ«ÆœdO~Ð Ábý sOLCð œuÝ ‰UÝ —œ bD—œ 

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○



ÅÅÅÅÅÅÅÅÅÅ¥∂

  48,000 Êu¹e¹uKð ÈbI� XLO: Ë œuý ÁœËe�« ‘Ëd� XLO: tÐ È—«œdNý ÷—«uŽ ‰U¹—   2,000,000

%A� «— j9: d¼ mK³� býUÐ ‰U¹—ÒÆbOM0 h

∂ÅÅ mK³� UÐ «— v=Uâ%¹Å¨v¼U~ýËd�Å‡‡Å  600,000 j9: Áœ Ë bI� ‰U¹—   230,000ÆXšËd� v=U¹— 

 ‰U?â%¹ s¹« È—«œdNý ÷—«uŽ dÖ«  30,000 Ê¬ Èb?I� XLO: Ë ‰U¹—   2,600,000m?K³� ¨býUÐ ‰U¹—ÅÅ

ÆbOM0 t³ÝU×� «— tK�UF� s¹« —œ Ábý sOLCð œuÝ

∑ m?K³� tÐ È«Åt²HÝ ÈÅÁb�—«œ ÁUÖd‡¼ÅÅÅÅ‡‡  400,000t?Ð «— Ê¬ tłË —UJ¼bÐ t0 b¹UL� XI�«u� ‰U¹— 

U9:«◊


 —œ t�U¼U� ÈËU9� ≤ ÁdNÐ Œd� Ë bM0 Xš«œdÄÅ“UÐ ‰UÝ ∂Å¨býUÐ •

ÆbO¹UL� h%A� «— j9: d¼ mK³�Å ©n=«

Ë«Å® øœuL� b¼«uš Xš«œdÄ t²HÝ mK³� “« gOÐ vGK³� tÇÅ¨Á—Ëœ ÊU¹UÄ Uð —UJ¼bÐÅ ©»Òp¹ j9: sO=

Æ©œœdÖÅv� Xš«œdÄ t²HÝ bOÝ—ÅdÝ “« bFÐ ÁU�

∏ÅÅ v?K?O?³?�uð« XLO:Å‡‡  80,000,000 X?Ý« d?{U?Š Áb?MýËd�ÆXÝ« ‰U¹— µ∞«— X?L?O: bD—œ 

 Ábý sOLCð œuÝ Œd� dÖ«Æb¹UL� X�U¹—œ ‰UÝ p¹ ·dþ t�UO¼U� ◊U9:«  —uD tÐ «— vIÐU� Ë ÈbI�±∞

ÆbOM0 t³ÝU×� «— qO³�uð« ◊U9:«Å¨býUÐ bD—œ

π v�u¹e¹uKð ÈbI� XLO: ‡‡∞∞∞\≤∞∞\¥Â«b:« Ê¬ b¹dš È«dÐ rO�«uðÅv� ‘Ë— Ëœ tÐ ÆXÝ« ‰U¹— 

∫rOM0

 mK³� ©n=«∞∞∞\≤∞∞\¥ ÁdNÐ UÐ vJ�UÐ “« ‰U¹— ±∏ —œ Ë X�U¹—œ •±≤ÆrO¹UL� Xš«œdÄ j9: 

 Êu?¹e?¹uKð s¹« vD9: XLO: ÁU~ýËd� ÂöŽ« dÐUMÐ ©»∞∞∞\∏∞∞\¥ —œ ‰U¹— ±≤ÈËU9� j9: 

ÆXÝ«

ø—b:ÅÅtÇ øXÝ« dðÅt�dDUÐ U� È«dÐ ¨Êu¹e¹uKð s¹« b¹dš —œ ‘Ë— Â«b0 »U%²�«

±∞ ◊U?9?:« v¹UN� ‘“—«ÅÅÅ‡‡µ∞∞ v?Þ t?0 ¨«— v=U¹— ¥ v?M?O?LCð œuÝ Œd� UÐ ‰UÝ ¥X?š«œdÄ •

∫bO¹UL� t³ÝU×� »U²0 ÈÅtLOL{ ‰Ëbł “« ÁœUH²Ý« UÐ d¹“ X=UŠ Ëœ —œ ¨b�uýÅv�

Æb�uý Xš«œdÄ ‰UÝ d¼ ÈUN²�« —œ ◊U9:« ©n=«

Æb�uý Xš«œdÄ ‰UÝ d¼ È«b²Ð« —œ ◊U9:« ©»

±± “« b?F?Ð p?�U?Ð —œ È—«c?ÖÅÁœd?á?Ý U?Ð b¼«ušÅv� vB%ý ‡‡µ ‰U?Ý ∞∞∞\∞∞∞\≤∞—œ ‰U?¹— 

 Ábý sOLCð œuÝ Œd� dÖ« ¨býUÐ t²ý«œ œuš »U9Š±∏d¼ È«b²Ð« —œ Èd²A� t0 býUÐ —«d: Ë býUÐ •

ÆbOM0 t³ÝU×� «— mK³� s¹« bM0 e¹—«Ë »U9Š tÐ «— vGK³� ‰UÝ



ÅÅÅÅÅÅ¥∑

±≤vJ�UÐ »U9Š p¹ Uð b�«Åt²�dÖ rOLBð U¼ÅÊ¬ Æb�«ÅÁbý Èb�“d� VŠUD vÖ“Uð tÐ U³¹“ Ë b�UŠ ‡‡

 ÈÅÁb?ý sOLCð œuÝ Œd� UÐ±∏s?¹« t?Ð ‰uÄ vGK³� ‰UÝ d¼ ÈUN²�« —œ Ë bMM0 ÕU²²�« ÊUýb�“d� È«dÐ •

 “« bFÐ t0 Èu×� tÐ ¨bMM0 e¹—«Ë »U9Š≤∞ ÊUýb�“d� ‰UÝ ∞∞∞\∞∞∞\≤∞∞t²ý«œ gÐU9Š —œ ‰U¹— 

ÆbOM0 »U9Š ¨bMM0 e¹—«Ë ÊUýb�“d� »U9Š tÐ b¹UÐ ‰UÝ d¼ —œU� Ë —bÄ s¹« t0 «— v=uÄ —«bI� ÆbýUÐ

±≥ ◊U?9?:« vKF� ‘“—« ÅÅÅ‡‡µ∞∞ v?Þ t?0 ¨«— v=U¹— ¥ v?M?O?LCð œuÝ Œd� UÐ ‰UÝ ¥Xš«œdÄ •

∫bO¹UL� t³ÝU×� »U²0 tLOL{ ‰Ëbł “« ÁœUH²Ý« UÐ d¹“ X=UŠ Ëœ —œ ¨b�uýÅv�

Æb�uý Xš«œdÄ ‰UÝ d¼ ÈUN²�« —œ ◊U9:« ©n=«

Æb�uý Xš«œdÄ ‰UÝ d¼ È«b²Ð« —œ ◊U9:« ©»

±¥ XLO: tÐ vKO³�uð« œ—«œ bB: bOLŠÅÅ‡‡∞∞∞\∞∞∞\∏∞vÞ vD9:  —uDÅtÐ «— ‰U¹— ±∞j9: 

 Ábý sOLCð œuÝ Œd� dÖ« Æœd%Ð ̈ œuýÅv� Xš«œdÄ ‰UÝ d¼ ÊU¹UÄ t0 ÈËU9�±∞j9: d¼ mK³� ̈ býUÐ •

ÆbOM0 »U9Š «—

±µ ÊuM0« r¼ Ê¬ ‘“—« t0 XÝ« t²�UÐ výd� UMO� ‡‡∞∞∞\∞∞∞\±∞∞d{UŠ Èœd� ÆXÝ« ‰U¹— 

�« XLO: sOL¼ tÐ «— ‘d� t0 XÝ« ÁbýÒ Ábý sOLCð œuÝ Œd� dÖ« Æœd%Ð vD9: —uÞÅtÐ U±∂Ë býUÐ •

 v?Þ b¼«u%Ð —«b¹dšµ«— j?9?: d¼ mK³� b¹UÐ UMO� ¨œ“«œdáÐ «— œuš j9: d¼ ‰UÝ d¼ È«b²Ð« —œ ‰UÝ 

øbM0 sOOFð —b:ÅtÇ

±∂ t²ýcÖ ‰UÝ —œ v²0dýÅÅÅ‡‡  8,000 t0 ¨t²ý«œ ‘Ëd� ‰U¹— µ∞vIÐU� Ë ÈbI�  —uD tÐ Ê¬ •

 X0dý vM²�U¹—œ ÈU¼Å»U9Š Áb�U�ÆXÝ« ÁœuÐ tO9�  —uD tÐ≥µ∞∞ÆXÝ« ÁœuÐ ‰U¹— 

d?Ð ‰u?Du?=« „u?J?A�  U³=UD� œ—Ë¬dÐ ‘Ë— UÐ «— ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš–Å ©n=«

 ÈUM³�¥ÆbO¹UL� t³ÝU×� ‘Ëd� “« bD—œ 

ÈUM³� dÐ ‰uDu=«Å„uJA�  U³=UD� œ—Ë¬dÐ ‘Ë— UÐ «— ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš–Å ©»

≥ÆbOM0 t³ÝU×� tO9� ÈU¼Å‘Ëd� “« bD—œ 

ÈUM³� dÐ ‰uDu=«Å„uJA�  U³=UD� œ—Ë¬dÐ ‘Ë— UÐ «— ‰uDu=«Å„uJA�  U³=UD� ÈÅÁdOš–Å ©Ã

±∞ÆbO¹UL� t³ÝU×� vM²�U¹—œ ÈU¼Å»U9Š ÈÅÁb�U� “« bD—œ 

øÅXÝ« dðÅvIDM� ‚u� ÈU¼Å‘Ë— “« p¹ Â«b0Å¨ULý dE� tÐ ©Åœ

øÅXÝ« X0dý s¹« lH� tÐ ‚u� ÈU¼Å‘Ë— “« p¹ Â«b0Å¨ULý dE� tÐÅ ©Å‡¼



ÅÅÅÅÅÅÅ¥∏

Â—UNÇ qB	

XÐUŁ v¹«—«œ U¹  b�bMKÐ ÈU¼Åv¹«—«œ „öN²Ý«  U³ÝU×�

∫È—U²	— ÈU¼Å·b¼∫œË—Åv� —UE²�« Áb�dOÖ«d� “« ¨qB� s¹« ÊU¹UÄ —œ 

±ÆbM� n¹dFð «— „öN²Ý« ‡‡

≤ÆbM� ÊUOÐ «— „öN²Ý« ÈÅtM¹e¼ “« —uEM� ‡‡

≥t³ÝU×� nK²3� ÈU¼Å‘Ë—ÅtÐ «— XÐUŁ v¹«—«œ U¹  b�bMKÐ ÈU¼Åv¹«—«œ „öN²Ý« ‡‡

Æb¹UL�

¥XÐUŁ v¹«—«œ U¹  b�bMKÐ ÈU¼Åv¹«—«œ „öN²Ý«  U³ÝU×� ‡‡

t�bI�

ôu:«ÎÝR� d¼ 
Ò

�bMKÐ ÈU¼Åv¹«—«œ  U�bš “« È«Åt?bÒb¹dš XÝ« sJL� t� ̈ œuš XÐUŁ v¹«—«œ U¹  

È—«b¹dš q³A ‰UÝ bMÇ t� X�«Ë ÁU~²Ýœ p¹ b¹dš q¦� ÆœdOÖÅv� ÁdNÐ ̈ býUÐ q³A ‰UÝ bMÇÅtÐ ◊uÐd� Ê¬

ÝR� œdJKLŽ t�Ås¹« È«dÐ ¨s¹«dÐUMÐ ÆœdOÖÅv� —«dA ÁœUH²Ý« œ—u� eO� ÊuM�«År¼ Ë XÝ« ÁbýÒp¹ —œ «— t?

OF� ÈÅÁ—Ëœ
Ò

b�bMKÐ ÈU¼Åv¹«—«œ vÖœuÝd� “« výU� ‘“—« g¼U� XÝ« Â“ô rOM� h3A� sÒv¹«—«œ U¹  

ÈÅtM¹e¼ ¨œ—«b� vKF� ÈÅÁ—Ëœ —œ ÈbI� Xš«œdÄ t� «— tM¹e¼ Ÿu� s¹« ÆœœdÖ —uEM� tM¹e¼  —u: tÐ XÐUŁ

ÝR?�Åt?Ð t?� v?²�bš —«bI�ÅtÐ v¹«—«œ d¼ „öN²Ý« ÆbM¹uÖ „öN²Ý«
Ò

� t?Ð U?¹ ¨b¼œÅv� t?bÒ“« t� v�U�“  

ôUÐ Ë bOH� dLŽ tÐ sOMÇÅr¼ ¨œ—cÖÅv� Ê¬ —U�ÅtÐ ŸËdý
Ï

Æœ—«œ v~²?Ð Ê¬ vÞUIÝ« ‘“—« tÐ Ádš

±‡‡¥„öN²Ý« n¹—UFð 

b?�b?M?K?Ð ÈU?¼Åv?¹«—«œ ‘“—« Êb�¬ sO¹UÄ ¨ —U−ð Êu�UAÒt?−?O?²?� —œ t?� «— XÐUŁ ÈU¼Åv¹«—«œ U¹  



ÅÅÅÅÅ¥π

M?�  «dOOGð ¨‰ULF²Ý«ÒÈU?¼Å UOYU� Êu�UA ÆXÝ« t²?�«œ „öN²Ý« Vłu� ¨œuý ÀœUŠ d~¹œ qKŽ U¹ v

łuð ÊËbÐ q�«uŽ d¹UÝ U¹ ÊU�“ XýcÖ U¹ ‰ULF²Ý« dŁ« dÐ t� ̈ «— XÐUŁ ÈU¼Åv¹«—«œ “« XL?A Ê¬ ̈ rOI²?�Òt

ÆXÝ« Áœ«œ hO3Að „öN²Ý«ÅqÐUA ¨bÐU¹Åv� ‘“—« qOKIð U¼ÅXLOA dOOGðÅÅÅÅtÐ

b�bMKÐ U¹ XÐUŁ ÈU¼Åv¹«—«œ ÈÅÁbý ÂULð ÈUNÐ Êœ«œ hOB3ð Ë Êœd� sJýdÝ ̈ È—«bÐU?Š —œÒ 

EM� Ë ‰uIF� vI¹dÞ tÐÒôuLF� ¨Ábý ÂULð ÈUNÐ ÆbM�U�Åv� „öN²Ý« Ê¬ “« ÁœUH²Ý« ÈU¼ÅÁ—ËœdÐ «— rÎ—œ 

b?� ‰uÞÒÂö?A« Ÿu?L?−?� ¨v?¹«—«œ b?O?H� dLŽ ÊU¹UÄ —œ t� È—uÞÅtÐ Æb�U�Åv� XÐUŁ v¹«—«œ “« ÁœUH²Ý«  

Ë« ÈUNÐ UÐ œuýÅv� dÐ«dÐ Ê¬ “« ÁœUH²Ý« ÈU¼ÅÁ—Ëœ „öN²Ý«Ò◊UIÝ« v¹«—«œ È«dÐ t� vý“—« ÈUNM� ¨tOY

ÆXÝ« Ábý t²�dÖ dE� —œ

∫„öN²Ý« n¹dFðX?KŽÅtÐ «— XÐUŁ ÈU¼Åv¹«—«œ U¹  b�bMKÐ ÈU¼Åv¹«—«œ ‘“—« v−¹—bð qOKIð 

t� œd� ÊUŽ–« Ê«uðÅv� ̈ ‰uLF� —uÞÅtÐ Ë ÈœUŽ j¹«dý —œ ÆbM¹uÖ „öN²Ý« ̈ Êbý Œu?M� Ë vÖœuÝd�

b� “« fÄ v¹«—«œ d¼ÒŽ«® vðr
Ò

Ë œu?ýÅv� pKN²?� ©býUÐ t²�d~� U¹ t²�dÖ —«dA ÁœUH²Ý« œ—u� t�Ås¹« “« 

b¹UÐ Ê¬ ◊UIÝ« ‘“—« UÐ v¹«—«œ ÈÅÁbý ÂULð XLOA  ËUHð Æb¼œÅv� XÝœ “« «— œuš ‘“—« “« È—«bI�

È«d?Ð Æœœd?Ö —u?E?M?� „ö?N?²?Ý« ÈÅt?M?¹e?¼ »U???ŠÅtÐ Ë œuý rO?Ið Ê¬ “« ÁœUH²Ý« ÈÅÁ—Ëœ dÐ vKJýÅtÐ

Æœœd?ÖÅv?� Á—U?ý« U?¼Å‘Ë— s?¹« “« v?šd?ÐÅ t?Ð t� œ—«œ œułË vHK²3� ÈU¼Å‘Ë— ¨„öN²Ý« ÈÅt³ÝU×�

‰UÝ d¼ —œ «— v¹«—«œ vFDA Ë oOAœ ÈÅtM¹e¼ ¨„öN²Ý« ÈÅt³ÝU×� ÈU¼Å‘Ë— “« p¹ÅÅÅÅêO¼ XÝ« vN¹bÐ

OF�
Ò

∫“« b�«Å —U³Ž U¼Å‘Ë— s¹« Æb¹UL�Åv� t³ÝU×� ‰UÝ —œ «— Ê¬ v³¹dIð ÈÅtM¹e¼ tJKÐ ¨bM�ÅvL� s

ÅtÐ „öN²Ý« ÈÅt³ÝU×� ‡‡ rOI²?� jš ‘Ë—

ÅtÐ „öN²Ý« ÈÅt³ÝU×� ‡‡  «uMÝ ŸuL−� ‘Ë—

ÅtÐ „öN²Ý« ÈÅt³ÝU×� ‡‡ nŽUC� Œd� UÐ vYËe� ÈÅÁb�U� ‘Ë—

≤‡‡¥rOI²-� jš ‘Ë— tÐ „öN²Ý« ÈÅt³ÝU×�ÅÅ

ÝR� d¦�«
Ò

vÞUIÝ« ‘“—« ̈ ‘Ë— s¹« —œ ÆbM¹UL�Åv� ÁœUH²Ý« ‘Ë— s¹« “« ̈ XYuNÝ qOYœÅtÐ ̈  U?

ÈÅt?M?¹e?¼ U?ð œu?ýÅv?� r?O??Ið Ê¬ bOH� dLŽ v³¹dIð ÈU¼Å‰UÝ œ«bFð dÐ Ë d?� Ê¬ b¹dš XLOA “« ÁU~²Ýœ

mK³�ÅÅÅÅtÐ v¼U~²Ýœ rOM� ÷d� dÖ« ÆœœdÖ sOOFð ‰UÝ p¹ „öN²Ý«afÄ Ë XÝ« Ábý È—«b¹dš ‰U¹—

“«n Ê¬ ÈÅt?{«d?A U?¹ v?ÞU?I?Ý« ‘“—« Ë œœd?ÖÅ pKN²?� ‰UÝb Ë b?ýU?ÐÅ Ábý œ—Ë¬dÐ ‰U¹—ÅÅÅcÈÅt?M?¹e¼ 

∫“« b�«Å —U³Ž ÁU~²Ýœ t�ôUÝ „öN²Ý« ¨býUÐ ‰UÝ d¼ „öN²Ý«

 „öN²Ý« ÈÅtM¹e¼ck =



ÅÅÅÅÅÅÅµ∞

 Ω Ábý ÂULð ÈUNÐc

 Ω ◊UIÝ« ‘“—«s

 Ω bOH� dLŽn

ck =
c − s

n

 ‰U¦�±‡‡  m?K³�ÅtÐ vý«dð ÁU~²Ýœ   20,000,000t?# XÝ« Ábý vMOÐÅgOÄ Ë Ábý È—«b¹dš ‰U¹—

 “« bFÐ±∞ ̈ —U# ‰UÝ   4,000,000‘Ë—ÅtÐ «— Ê¬ ÈÅt2ôUÝ „öN²Ý« ÈÅtM¹e¼ ÆbýUÐ t²ý«œ ‘“—« ‰U¹—ÅÅ

jšÒÆb?O?M# t³ÝU×� rOI²=� 

  
cK =

(20,000,000− 4,000,000)

10
=1,600,000dÖ« t# XÝ« `{«Ë 

 “« bFÐ∂ m?K?³?� Ë œuý vÝUÝ« dOLFð ‘«dð ÁU~²Ýœ ¨‰UÝ   6,000,000¨œœd?Ö Ê¬ dOLFð ÈÅtM¹e¼ ‰U¹— 

∫œuýÅv� t³ÝU×� d¹“  —uEÅtÐ bFÐÅtÐ r²H¼ ‰UÝ “« Ê¬ „öN²Ý« ÈÅtM¹e¼

‰U¹—             ‰UÝ gý „öN²Ý« ÈÅtM¹e¼  1,600,000×6 = 9,600,000

‰U¹—    ÅÅ                 ÁU~²Ýœ Èd²Fœ ‘“—«  20,000,000−9,600,000=10,400,000

‰U¹—                dOLFð “« bFÐ Èd²Fœ ‘“—«  10,400,000+ 6,000,000=16,400,000

‰U¹—     ◊UIÝ« ‘“—« ÈUNM� Èd²Fœ ‘“—«   16,400,000− 4,000,000=12,400,000

‰U¹—  r²H¼ ‰UÝ “« t2ôUÝ „öN²Ý« ÈÅtM¹e¼  12,400,000÷ 4 = 3,100,000

Ë b¹«eHOÐ ÁU~²Ýœ bOH� dLŽÅtÐ ‰UÝ —UNÇ býUÐ t²=2«uð vÝUÝ« dOLFð t# vð—uE —œ XÝ« vN¹bÐ

 Ê¬ ÈÅt{«dH XLOH  4,400,000∫rOM#Åv� t³ÝU×�  —uE s¹«ÅtÐ «— „öN²Ý« ¨œuý Áœ“ sOLJð ‰U¹— 

  16,400,000− 4,400,000=12,000,000

  4 + 4 = 8

‰U¹—         bFÐÅtÐ r²H¼ ‰UÝ “« t2ôUÝ „öN²Ý« ÈÅtM¹e¼Å   12,000,000÷ 8 =1,500,000

≥‡‡¥ «uMÝ ŸuL−� ‘Ë— tÐ „öN²Ý« ÈÅt³ÝU×� 

ôu?L?F?� ¨r?O2«œÅv� t# t2uÖÅÊUL¼Î—U?O?=?Ð b?¹d?š v?¹«b?²Ð« ÈU¼Å‰UÝ —œ v¹«—«œ p¹ XLOH g¼U# 

ö?¦?� ÆX?Ý« Ê¬ v2U¹UÄ ÈU¼Å‰UÝ “« dðÅgOÐÎd?ł ÁU?~?²Ýœ p¹ XLOH ÒU?³?¹d?Ið ¨—U# ‰UÝ p¹ “« fÄ ‰UIŁ«Î

≤µ “« dðÅr# r²A¼ Ë r²H¼ ÈU¼Å‰UÝ —œ t# vð—uE —œ ÆbÐU¹Åv� g¼U# •µÆœuýÅv� r# Ê¬ XLOH “« •

j?š ‘Ë— ¨s¹«dÐUMÐÒ‘Ë— “« Ê«u?ðÅv?� q?O?Vœ sOL¼ÅtÐ ÆX=O2 vFH«Ë vVË ¨XÝ« ÁœUÝ tÇ dÖ« rOI²=� 

OFH«ËÅtÐ t# ¨ «uMÝ ŸuL−�
Ò

rO=Ið “« ¨‘Ë— s¹« —œ „öN²Ý« Œd2 ÆœuL2 ÁœUH²Ý« ¨XÝ« dðÅp¹œe2 X



ÅÅÅÅÅµ±

Æb¹¬Åv� XÝœÅtÐ Ê¬  «uMÝ ÂUA—« ŸuL−�dÐ ÁU~²Ýœ bOH� dLŽ ÈÅÁb�U�ÅvAUÐ ÈU¼Å‰UÝ

 ‰U¦�≤‡‡ v¼U~²Ýœ bOH� dLŽ ∂ÆbOM� «bOÄ «— Ê¬ ‰UÝ d¼ „öN²Ý« Œd� ¨XÝ« ‰UÝ 

 «uMÝ ŸuL−�  1+2+ 3 + 4+ 5 +6 = 21

  

6
21

Ë« ‰UÝ „öN²Ý« Œd� Ò‰

  

5
21

ÂËœ ‰UÝ „öN²Ý« Œd� 

  

4
21

ÂuÝ ‰UÝ „öN²Ý« Œd� 

  

3
21

Â—UNÇ ‰UÝ „öN²Ý« Œd� 

  

2
21

r−MÄ ‰UÝ „öN²Ý« Œd� 

  

1
21

rAý ‰UÝ „öN²Ý« Œd� 

‰u�d� “« Ê«uðÅv� XYuNÝ È«dÐ

  
CK =

2(n − K +1)(a − b)
n(n +1)

 Ê¬ —œ t?� œu?L?� ÁœUH²Ý«a ¨È“«b?�«ÅÁ«— Ë V?B?� ÈÅt?M?¹e?¼ U?Ð v¹«—«œ b¹dš XLOA ¨bÈÅt?{«d?A X?LOA ¨

 ̈ v¹«—«œn Ë v¹«—«œ bOH� dLŽ ÈU¼Å‰UÝ ̈Kœuý sOOFð Ê¬ „öN²Ý« ÈÅtM¹e¼ XÝ« —«dA t� XÝ« vYUÝ ̈

 Ádš_UÐ ËCÆXÝ« dE� œ—u� ‰UÝ „öN²Ý« ÈÅtM¹e¼ ¨

 ‰U¦�≥‡‡  mK³� tÐ ”uÐuð« ÁU~²Ýœ p¹ ¨v²�dý ∞∞∞\∞∞∞\µ— vMOÐÅgOÄ Ë ÁœuL� È—«b¹dš ‰U¹

 ”u?Ðuð« s¹« t� XÝ« Áœd�∑ m?K?³?�ÅtÐ ÁUÖÅÊ¬ Ë Xý«œ b¼«uš bOH� dLŽ ‰UÝ   800,000‘Ëd?�ÅtÐ ‰U¹—

ÆbO¹UL� t³ÝU×�  «uMÝ ŸuL−� ‘Ë— tÐ «— ”uÐuð« ÈÅt�ôUÝ „öN²Ý« ÈÅtM¹e¼ ÆbÝdÐ

Ë« ‰UÝ „öN²Ý« ÈÅtM¹e¼Ò‰‰U¹—

  
C1 =

2(7 −1+1)(5,000,000− 800,000)
7(7 +1)

=1,050,000

ÂËœ ‰UÝ „öN²Ý« ÈÅtM¹e¼‰U¹—

  
C2 =

2(7 −2+1)(5,000,000− 800,000)
7(7 +1)

= 900,000

ÂuÝ ‰UÝ „öN²Ý« ÈÅtM¹e¼‰U¹—

  
C3 =

2(7 − 3 +1)(5,000,000− 800,000)
7(7 +1)

= 750,000

     ‰U¹— Â—UNÇ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
C4 =

2(7 − 4 +1)(5,000,000− 800,000)
7(7 +1)

= 600,000



ÅÅÅÅÅÅÅµ≤

r−MÄ ‰UÝ „öN²Ý« ÈÅtM¹e¼‰U¹—

  
C5 =

2(7 − 5 +1)(5,000,000− 800,000)
7(7 +1)

= 450,000

rAý ‰UÝ „öN²Ý« ÈÅtM¹e¼‰U¹—

  
C6 =

2(7 − 6+1)(5,000,000− 800,000)
7(7 +1)

= 300,000

r²H¼ ‰UÝ „öN²Ý« ÈÅtM¹e¼‰U¹—

  
C7 =

2(7 − 7 +1)(5,000,000− 800,000)
7(7 +1)

=150,000

 XÝ« vN¹bÐ

  
.
i=1

k
Ci UÐ dÐ«dÐ ∞∞∞\≤∞∞\¥ÆœuÐ b¼«uš ‰U¹— 

¥‡‡¥nŽUC� Œd< UÐ v=Ëe< ÈÅÁb<U� ‘Ë— tÐ „öN²Ý« ÈÅt³ÝU×� 

łuð d¹“ ‰U¦� tÐ ‘Ë— s¹« ÊUOÐ “« q³AÒÆbOM� t

‰U¦�¥‡‡ ÅÅÝR� Ò m?K?³� tÐ XKJOÝ—uðu� ÁU~²Ýœ p¹ È«Åt?∞∞∞\∏∞∞œuš ÊUÝ—Åt�U� È«dÐ ‰U¹— 

 “« bFÐ t� XÝ« Áœd� vMOÐÅgOÄ Ë ÁœuL� È—«b¹dš¥ XLOA tÐ «— tKOÝË s¹« ‰UÝ ∞∞∞\≥∞‘Ëd�ÅtÐ ‰U¹— 

Æb?O?¹U?L?� t³ÝU×� nŽUC� Œd� UÐ vYËe� ÈÅÁb�U� o¹dÞ tÐ «— —uÐe� ÈU¼Å‰UÝ „öN²Ý« ÈÅtM¹e¼ Æb�UÝ—

b?OH� dLŽ ÊuÇ ÁU~²Ýœ ¥j?š ‘Ë— tÐ „öN²Ý« Œd� fÄ ¨XÝ« ‰UÝ Ò rOI²?� ≤µ—œ v?YË ¨XÝ« •

 vMF¹ nŽUC� Œd� tÐ UłÅs¹«µ∞ÆrOM�Åv� t³ÝU×� •

    1. 4 = - 25

    - 25 ×2 = - 50

« ‰UÝ „öN²Ý« ÈÅtM¹e¼Ë
Ò

‰U¹—                ‰

  
800,000×

50
100

= 400,000

  800,000− 400,000= 400,000

‰U¹—                ÂËœ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
400,000×

50
100

= 200,000

  400,000+200,000= 600,000

  800,000− 600,000= 200,000

‰U¹—               ÂuÝ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
200,000×

50
100

=100,000

  600,000+100,000= 700,000

  800,000− 700,000=100,000



ÅÅÅÅÅµ≥

‰U¹—Å            Â—UNÇ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
100,000×

50
100

= 50,000

  700,000+ 50,000= 750,000

  800,000− 750,000= 50,000

łu?ð U?Ð b?¹UÐ «b²Ð« ¨‘Ë— s¹« —œ t� œuýÅv� tEŠö�Òt?Ð «— „ö?N²Ý« Œd� ¨ÁU~²Ýœ bOH� dLŽÅtÐ t

jš ‘Ë—Ò¨t{«dA ‘“—« ÈUNM� Ábý ÂULð ÈUNÐ ÈUłÅtÐ sOMÇÅr¼ Ë rOM� dÐ«dÐ Ëœ «— Ê¬ Ë t³ÝU×� rOI²?� 

Èd²�œ ‘“—«ÂULð ÈUNÐ UÐ dÐ«dÐ ̈ Ê¬ Èd²�œ ‘“—« t� XÝ« sýË— ÆXÝ« „öN²Ý« ÈUM³� XKJOÝ—uðu� 

« ÈÅÁbýË
Ò

Ê«uMŽ tÐ vGK³� ̈ Â—UNÇ ‰UÝ ÊU¹UÄ —œ XÝ« vN¹bÐ ÆXÝ« t²ýU³�« „öN²Ý« ÈÅÁdOš– ÈUNM� tOY

‰u�d� “« Ê«uðÅv� ¨‘Ë— s¹« —œ Æœ—«b� t{«dA ‘“—« ÅÅUÐ vÞU³ð—« êO¼ t� Xý«œ rO¼«uš Èd²�œ ‘“—«

  
CK = (a − .

i=1

k−1
Ci )

2
n

  Ê¬ —œ t� œd� ÁœUH²Ý«a Ë È“«b?�«ÅÁ«— Ë VB� ÈÅtM¹e¼ UÐ v¹«—«œ b¹dš XLOA ¨nbOH� dLŽ ÈU¼Å‰UÝ ¨

 Ë v¹«—«œK Ádš_UÐ Ë œuý sOOFð Ê¬ „öN²Ý« ÈÅtM¹e¼ XÝ« —«dA t� XÝ« vYUÝ ̈C„öN²Ý« ÈÅtM¹e¼ 

ÆXÝ« dE� œ—u� ‰UÝ

 ‰U¦�µ‡‡ÅÅÅÅÅÅ ‰U¦� „öN²Ý« ÈÅtM¹e¼ ¥Ý« UÐ «— ÆbO¹UL� t³ÝU×� Ábý t²HÖ ‰u�d� “« ÁœUH²

  
.
i=1

0
C0 =0

« ‰UÝ „öN²Ý« ÈÅtM¹e¼ËÒ‰

C1 = (800,000−0) ×
2
4

= 400,000

  
.
i=1

1
C1 = 400,000

C2 = (800,000− 400,000) ×
2
4

= 200,000 ÂËœ ‰UÝ „öN²Ý« ÈÅtM¹e¼

ÂuÝ ‰UÝ „öN²Ý« ÈÅtM¹e¼

.
i=1

2
C2 = 400,000+200,000= 600,000

  
C3 = (800,000− 600,000) ×

2
4

=100,000

  
.
i=1

3
C3 = 400,000+200,000+100,000= 700,000



ÅÅÅÅÅÅÅµ¥

Â—UNÇ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
C4 = (800,000− 700,000) ×

2
4

= 50,000

 ‰U¦�∂‡‡   XLOA ÅtÐ «— v¼U~²Ýœ ̈ —UNÐu� X�dý∞∞∞\∞∞∞\µµvMOÐÅgOÄ Ë ÁœuL� È—«b¹dš ‰U¹— 

 ÁU?~?²?Ýœ s¹« t� XÝ« Áœd�µÊ¬ ÈÅt?{«d?A ‘“—« Ë X?ý«œ b?¼«uš bOH� dLŽ ‰UÝ   5,000,000‰U?¹— 

ÆbO¹UL� t?¹UI� r¼ UÐ Ë t³ÝU×� Ábý t²HÖ ‘Ë— tÝ tÐ «— Ê¬ t�UOYUÝ „öN²Ý« ÈÅÁdOš– ÆœuÐ b¼«uš

rOI²?� jš ‘Ë— ©nY«

  55,000,000− 5,000,000= 50,000,000

  50,000,000. 5 =10,000,000

  
C =

a − b
n

=
55,000,000− 5,000,000

5
=10,000,000

 «uMÝ ŸuL−� ‘Ë— ©»

  
CK =

2(n − K +1)(a − b)
n(n +1)

« ‰UÝË
Ò

‰

  
C1 =

2(5 −1+1)(55,000,000− 5,000,000)
5(5 +1)

=16,666,667

ÂËœ ‰UÝ

  
C2 =

2(5 −2+1)(55,000,000− 5,000,000)
5(5 +1)

=13,333,333

ÂuÝ ‰UÝ

  
C3 =

2(5 − 3 +1)(55,000,000− 5,000,000)
5(5 +1)

=10,000,000

Â—UNÇ ‰UÝ

  
C4 =

2(5 − 4 +1)(55,000,000− 5,000,000)
5(5 +1)

= 6,666,667

r−MÄ ‰UÝ

  
C5 =

2(5 − 5 +1)(55,000,000− 5,000,000)
5(5 +1)

= 3, 333, 333

.
i=1

5
Ci = 50,000,000

nŽUC� Œd� UÐ vYËe� ÈÅÁb�U� ‘Ë— ©Ã
C = (a − .

i=1

k−1
Ci ) ×

2
n

  
.
i=0

0
C0 =0



ÅÅÅÅÅµµ

« ‰UÝ „öN²Ý« ÈÅtM¹e¼Ë
Ò

‰C1 = (55,000,000−0) ×
2
5

= 22,000,000

  
.
i=1

1
C1 = 22,000,000

ÂËœ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
C2 = (55,000,000−22,000,000) ×

2
5

=13,200,000

.
i=1

2
C2 = 22,000,000+13,200,000= 35,200,000

ÂuÝ ‰UÝ „öN²Ý« ÈÅtM¹e¼

  
C3 = (55,000,000− 35,200,000) ×

2
5

= 7,920,000

.
i=1

3
C3 = 22,000,000+13,200,000+ 7,920,000= 43,120,000

Â—UNÇ ‰UÝ „öN²Ý« ÈÅtM¹e¼C4 = (55,000,000− 43,120,000) ×
2
5

= 4,752,000

  
.
i=1

4
C4 = 22,000,000+13,200,000+ 7,920,000+ 4,752,000= 47,872,000

r−MÄ ‰UÝ „öN²Ý« ÈÅtM¹e¼C5 = (55,000,000− 47,872,000) ×
2
5

= 2,851,200

ÆXÝ« ‰UÝ d¼ —œ ÁU~²Ýœ Èd²�œ ‘“—« ÈÅÁbM¼œÅÊUA� ¨e²�«dÄ qš«œ

ÈU¼Å‘Ë— tÐ t<UO=UÝ „öN²Ý« ÈÅtM¹e¼

   v=Ëe< ÈÅÁb<U� «uMÝ ŸuL−�rOI²-� jš                  

∞∞∞\∞∞∞\≤≤∂∂∑\∂∂∂\±∂∞∞∞\∞∞∞\±∞ ‰UÝ«Ë
Ò

‰

∞∞∞\≤∞∞\±≥≥≥≥\≥≥≥\±≥∞∞∞\∞∞∞\±∞ÂËœ ‰UÝ

∞∞∞\π≤∞\∑∞∞∞\∞∞∞\±∞∞∞∞\∞∞∞\±∞ÂuÝ ‰UÝ

∞∞∞\∑µ≤\¥∂∂∑\∂∂∂\∂∞∞∞\∞∞∞\±∞—UNÇ ‰UÝÂ

≤∞∞\∏µ±\≤≥≥≥\≥≥≥\≥∞∞∞\∞∞∞\±∞r−MÄ ‰UÝ

j?š ‘Ë— ¨ÁU?~²Ýœ s¹« È«dÐ ¨œuýÅv� tEŠö� t� t�uÖÅÊUL¼Òªb?Ý—ÅvL� dE�ÅtÐ ‰uIF� rOI²?� 

 “« g?O?Ð ¨b?�U?Ýd?Ð ‘Ëd?�Åt?Ð ÂËœ ‰UÝ —œ «— ÁU~²Ýœ b¼«u3Ð t?ÝR� rOM� ÷d� dÖ« «d¹“≤∞g?¼U� •

�« ÆX?ý«œ b¼«uš XLOAÒ“« g?O?Ð v?¹«b?²?Ð« ÈU¼Å‰UÝ —œ «d¹“ ªXÝ« dðÅVÝUM�  «uMÝ ŸuL−� ‘Ë— U



ÅÅÅÅÅÅÅµ∂

Â—UNÇ qB� ÈU�Ås�dL�

± mK³�ÅtÐ vKO³�uð« ‡‡∞∞∞\∞∞∞\≤µ “« bFÐ t� XÝ« Ábý Áœ“ sOL3ð Ë È—«b¹dš ‰U¹— µ‰UÝ 

 ¨—U�  4,000,000j?š ‘Ë—Åt?Ð «— Ê¬ t?�ôU?Ý „ö?N?²?Ý« ÈÅtM¹e¼ ÆbýUÐ t²ý«œ ‘“—« ‰U¹— Òr?O?I²?� 

 m?K?³� Ë rO¹UL� vÝUÝ« dOLFð «— Ê¬ ‚Uð« Ë —uðu� ¨‰UÝÅtÝ “« bFÐ dÖ« ÆbOM� t³ÝU×�  4,000,000‰U¹— 

 “« Ê¬ bOH� dLŽ ¨qÐUI� —œ Ë rOM� tM¹e¼µÅÅÅtÐ ‰UÝ ∂ Ê¬ v¹UN� ‘“—« Ë bÐU¹ g¹«e�« ‰UÝ ∞∞∞\∞∞∞\µ

ÆbOM� t³ÝU×� bFÐ tÐ Â—UNÇ ‰UÝ “« «— „öN²Ý« ÈÅtM¹e¼ œuAÐ ‰U¹—

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○

3,000,000

6,000,000

9,000,000

12,000,000

15,000,000

18,000,000

21,000,000

1 2 3 4 5

×××××

×

×
×

×

×

×
×

×
×

„öN²Ý« ÈÅtM¹e¼

‰U¹—

nŽUC� Œd< UÐ v=Ëe< ÈÅÁb<U� ‘Ë—

 «uMÝ ŸuL−� ‘Ë—

rOI²-� jš ‘Ë—

‰UÝ

jš ‘Ë—ÒœU¹“ —UO?Ð ÊœuL� tM¹e¼ XŽdÝ vYËe� ÈÅÁb�U� ‘Ë— —œ Æœ—«œ „öN²Ý« ÈÅtM¹e¼ ¨rOI²?� 

« ‰U?Ý Ëœ ·d?þ t�ÅÈ—uÞÅtÐ ªXÝ«Ë
Ò

È«d?Ð ÆX?Ý« Áb?ý t?M?¹e?¼ ÁU~²Ýœ XLOA b:—œ œU²H¼ “« gOÐ ¨‰

ÆrOM�Åv� rÝ— nK²3� ÈU¼Å‘Ë— tÐ «— „öN²Ý« ÈÅÁdOš– —«œuL� Ÿu{u� Êbý dðÅsýË—

 ‰U¦� t�UOYUÝ „öN²Ý« ÈÅtM¹e¼ t� È—«œuL�ÅtÐµłuð ̈ b¼œÅv� ÊUA� nK²3� ÈU¼Å‘Ë— tÐ «— ÒÆbOM� t



ÅÅÅÅÅµ∑

≤ÆbO¼œ ÂU−2«  «uMÝ ŸuL−� ‘Ë— “« ÁœUH²Ý« UÐ «— p¹ ÈÅÁ—ULý s¹dLð ‡‡

≥ÆbOM# qŠ nŽUC� Œd2 UÐ vVËe2 ÈÅÁb2U� ‘Ë— “« ÁœUH²Ý« UÐ «— p¹ ÈÅÁ—ULý s¹dLð ‡‡

¥ X?L?OHÅtÐ vÄUÇ sOýU� ‡‡∞∞∞\¥∞∞ Ê¬ b?O?H� dLŽ Ë È—«b¹dš ‰U¹— ¥t?{«dH XLOH Ë ‰UÝ 

 mK³� bOH� dLŽ ÊU¹UÄ —œ Ê¬  25,000ÈU¼Å‘Ë—ÅtÐ «— Ê¬ t2ôUÝ „öN²Ý« ÈÅtM¹e¼ ÆXÝ« Ábý œ—Ë¬dÐ ‰U¹—Å

ÆbO¹UL2 t=¹UI� r¼ UÐ Ë t³ÝU×� Ábý t²HÖ

µ m?K?³?�Åt?Ð v?2“ÅV?VU?H ÁU~²Ýœ p¹ ¨È«Åt2Uš—U# ‡‡ÅÅÅ∞∞∞\∞∞∞\µ∞v?M?O?ÐÅgOÄ Ë È—«b¹dš ‰U¹— 

 “« bFÐ t# XÝ« ÁœuL2µ œËbŠ ¨—U# ‰UÝ ∞∞∞\∞∞∞\±∞„öN²Ý« ÈÅtM¹e¼ ÆbýUÐ t²ý«œ ‘“—« ‰U¹— 

 “« fÄ t# vð—uE —œ ÆbO¹UL2 t=¹UI� r¼ UÐ Ë t³ÝU×� Ábý t²HÖ ÈU¼Å‘Ë— tÐ «— ÁU~²Ýœ t2UOVUÝ≥¨‰UÝ 

 mK³� Ë œuý vÝUÝ« dOLFð ÁU~²Ýœ s¹«∞∞∞\∞∞∞\±∂„öN²Ý« ÈÅtM¹e¼ ¨œœdÖ Ê¬ dOLFð ÈÅtM¹e¼ ‰U¹— 

« t?# v?Þd?ýÅt?Ð Æb?O?¹UL2 t³ÝU×� Ábý t²HÖ ÈU¼Å‘Ë— “« ÁœUH²Ý« UÐ bFÐ tÐ Â—UNÇ ‰UÝ “« «—Ë
Ò

ôÎXLOH 

ÅtÐ Ê¬ ÈÅt{«dH∞∞∞\∞∞∞\±≤UO2UŁ Ë ‰U¹— Î “« Ê¬ bOH� dLŽ µÅÅÅtÐ ‰UÝ ∑ÆbýUÐ t²FU¹ g¹«eF« ‰UÝ 

∂ ̈ —U# rJ×� X#dý ‡‡ ≥ ‰UÝ È«b²Ð« —œ «— sOýU� ÁU~²Ýœ ±≥∑≥È—«b¹dš d¹“ ‰Ëbł ÕdýÅtÐ 

∫œuL2

n¹œ—sOýU� Ÿu%Ábý ÂULð ÈUNÐbOH� dLŽ œ—Ë¬dÐ        ◊UIÝ« ‘“—« œ—Ë¬dÐ

‰U¹—                                 ‰U¹—             ‰UÝ     

±v??2“ V?VU?H∞∞∞\∏∞∞\≤∞∞∞\¥∞∞                       µ

≤”dÄ∞∞∞\≤∞∞\¥∞∞∞\∑∞∞\±                    ∏

≥ÈeO�¬ @2—∞∞∞\∑∞∞\±                           dHE    ∂

jš ‘Ë— UÐ «— ÁU~²Ýœ d¼ „öN²Ý« ÈÅtM¹e¼ ©nV«ÒÆbOM# t³ÝU×� rOI²=� 

ÆbOM# t³ÝU×�  «uMÝ ŸuL−� ‘Ë— UÐ «— ÁU~²Ýœ d¼ „öN²Ý« ÈÅtM¹e¼ ©»

ÆbOM# t³ÝU×� vVËe2 ÈÅÁb2U� ‘Ë— UÐ «— ÁU~²Ýœ d¼ „öN²Ý« ÈÅtM¹e¼ ©Ã

# ©œqÒt?³?ÝU?×?� p?O?J?H?ðÅt?Ð Áb?ý t?²HÖ ÈU¼Å‘Ë— UÐ ‰UÝ d¼ —œ «— X#dý „öN²Ý« ÈÅtM¹e¼ 

ÆbO¹UL2

∑ Áb?ý È—«b?¹d?š t?2U?¹«— ÁU~²Ýœ p¹ bOH� dLŽ ‡‡∂s?¹« ◊U?I?Ý« ‘“—« tÇÅÊUMÇ ¨XÝ« ‰UÝ 

 ÁU~²Ýœ  1,000,000 rOI²=� jš ‘Ë— tÐ Ê¬ ÈÅt2ôUÝ „öN²Ý« ÈÅtM¹e¼ Ë ‰U¹—   2,000,000‰U¹— 

ÆbOM# »U=Š «— ÁU~²Ýœ ÈÅÁbý ÂULð XLOH ¨býUÐ ‰UÝ —œ



ÅÅÅÅÅµ∏

r−MÄ qB�

« ÈÅtł—œ  ôœUF� ÈU¼œdÐ—U�Ë
Ò

È—«bÐU�Š —œ ‰

∫È—U²�— ÈU¼Å·b¼ ∫œË—Åv� —UE²�« Áb�dOÖ«d� “« ¨qB� s¹« ÊU¹UÄ —œ

±Æb¹UL� sOOFð «— lÐ«uð Ÿ«u�« ‰œUFð ÈÅtDI� ‡‡

≤ÆbM- t³ÝU×� nK²3� ÈU¼ÅqJý tÐ «— »U8Š d¼ ‰uN−� Âö>« ‡‡

≥Dš  ôœUF� ‡‡ÒÆb¼œ ÂU−�« vDU� qzU8� —œ «— v

µ« ÈÅtł—œ  ôœUF� ÈU¼œdÐ—U� ‡‡ÅËÒÈ—«bÐU�Š —œ ‰

± ‡‡µt�bI� Å

—œÅv?�ö?>« XÝ« sJL� œ—«u� “« È—UO8Ð —œ t- bM�«œÅv� bM²8¼ UMý¬ È—«bÐU8Š UÐ t- v�U8-

Þ« U?Ð vDË býU³� XÝœÒö?¦?� ÆX?�U?¹ XÝœ dE� œ—u� Âö>« tÐ Ê«uðÅv� U¼ÅÁœ«œ d¹UÝ “« ŸöÎÈÅtM¹e¼ dÖ« 

d?¼ ÈÅÁbý ÂULð ÈUNÐ Ê«uðÅv� ¨býUÐ sOF� X-dý p¹ —œ Ábý bODuð bŠ«Ë œ«bFð Ë dOG²� tM¹e¼ ¨XÐUŁ

tDI� —œ ôU- bŠ«Ë œ«bFð Ê«uðÅv� býUÐ Ábý h3A� ‘Ëd� XLO> dÖ« ̈ ÁËöŽÅtÐ ÆœuL� sOOFð «— bŠ«Ë

ÆbOM- X>œ d¹“ n¹—UFð —œ ¨Ÿu{u� qU« tÐ Êbý œ—«Ë “« q³> ÆœuL� sOF� «— dÝ tÐ dÝ

∫XÐUŁ ÈÅtM¹e¼ÈÅt?M?¹e?¼ bM�U� ¨bM¹uÖ XÐUŁ tM¹e¼ œ—«b� v~²8Ð bODuð œ«bFð tÐ t- v¹U¼ÅtM¹e¼ tÐ 

 UÐ «— Ê¬ Ë X¹d¹b� ‚uIŠ U¹ v¹UMýË— ÈÅtM¹e¼ U¹ v�U³N~�FcÆ©bODuð sOF� œ«bFð È«dÐ®ÅÅbM¼œÅv� ÊUA� 

∫d?OG²� ÈÅtM¹e¼b?M?�U?� ¨b?M?¹uÖ dOG²� tM¹e¼ œ—«œ bODuð œ«bFð UÐ rOI²8� tDÐ«— t- v¹U¼ÅtM¹e¼ tÐ 

U¹ s¼«dOÄ p¹ s²šËœ È«dÐ œeL²Ýœ ÈÅtM¹e¼ U¹ vJO²ÝöÄ qDÝ p¹ XšUÝ È«dÐ tODË« œ«u� ÈÅtM¹e¼

 UÐ «—ÅÊ¬ Ë tL-œ p¹ Êœd- ”dÄ È«dÐ ‚dÐ v�dB� ÈÅtM¹e¼VcÆbM¼œÅv� ÊUA� 

∫q� ÈÅtM¹e¼sOF� Á—Ëœ p¹ —œ ÈbODuð bŠ«Ë p¹ dOG²� ÈU¼ÅtM¹e¼ Ë XÐUŁ ÈU¼ÅtM¹e¼ ŸuL−� 



ÅÅÅµπ

 UÐ «— Ê¬ Ë bM¹uÖ q- ÈÅtM¹e¼ «—TcÆbM¼œÅv� ÊUA� 

∫ÈËU�ð ©Ω®ý Ëœ v
Ï

UMOŽ t- bM¹uÖ ÈËU8� r¼ UÐ v�U�“ «— œbŽ Ëœ U¹ Ît� Ë bMýUÐ d~¹bJ¹ bM�U� 

ö¦� ¨d~¹bJ¹ tÐUA�Î   4 = 4

�FUœ1t∫ «Öd ð8UËÈ œË Ž³U—  Ðt �²GOÒdÈ Ð8²~v œ«ý²t ÐUýb Ë «¹s ð8UËÈ Ðt «“«È ¹p ÅÅ¹U ÐFCv

�IUœ¹d ŽbœÈ -t Ðt �²GOÒd �vÅœ¼Or Ðd>d«— Åýuœ¨ Ðt «¹sÅÖu�t ð8UËÈ¨ �FUœDt Ë ¹U ð8UËÈ ýdÞv Öu¹MbÆ

 ‰U¦�±‡‡ÝR� XÐUŁ ÈÅtM¹e¼ Ò t�«“Ë— ̈ È«Åt8  300,000OG²� ÈÅtM¹e¼ Ë ‰U¹— ÒÁbý bODuð bŠ«Ë d¼ d

  10,000 È“Ë— Ë býUÐ ‰U¹— ≤∞ÆbOM- sOOFð «— bŠ«Ë d¼ ÈÅÁbý ÂULð ÈUNÐ ÆœœdÖ bODuð ôU- bŠ«Ë 

tM¹e¼ q-  300,000+20×10,000= 500,000

bŠ«Ë d¼ Ábý ÂULð ÈUNÐ

  

500,000

20
= 25,000

 tÐ Ë bÐU¹ g¹«e�« “Ë— p¹ —œ bODuð œ«bFð dÖ« ‰UŠ≥∞dÐ«dÐ Ábý ÂULð ÈUNÐ ÁUÖÅÊ¬ bÝdÐ bŠ«Ë 

∫UÐ œuÐ b¼«uš

  300,000+ 30×10,000= 600,000

bŠ«Ë d¼ ÈÅÁbý ÂULð ÈUNÐ

600,000

30
= 20,000

 “« bODuð œ«bFð g¹«e�« UÐ t- œuýÅv� tEŠö�≤∞ tÐ bŠ«Ë ≥∞ “« Ábý ÂULð ÈUNÐ bŠ«Ë ∞∞∞\≤µ

 tÐ ‰U¹—∞∞∞\≤∞bODuð œ«bFð tÇ d¼ fÄ ÆXÝ« t²ý«b� ÈdOOGð XÐUŁ ÈÅtM¹e¼ «d¹“ ÆbÐU¹Åv� g¼U- ‰U¹— 

ôU- bODuð g¹«e�« ÊUJ�« d~¹œ ·dÞ “« vDË ÆœuýÅv� t²ÝU- bŠ«Ë p¹ Ábý ÂULð ÈUNÐ “« ̈ bÐU¹ g¹«e�«

¹œËb?×?� e?O?� ôU- b¹dš È«dÐ U{UIð v�dÞ “« Ë XÝ« vKLŽ ÈbŠ UðÒÈ—Ë¬Ål?Lł UÐ ¨s¹«dÐUMÐ Æœ—«œ X

t- ¨bODuð j¹«dý s¹d²NÐ tÐ  ôœUF� “« ÁœUH²Ý« UÐ Ê«uðÅv� ¨t8ÝR� vLÝ« XO�dþ Ë —«“UÐ “«  UŽöÞ«

ÝR� È—Ë¬œuÝÒÆœd- «bOÄ vÝd²Ýœ ¨býUÐ t²ý«œ dÐ—œ «— t8

≤ ‡‡µv1uN−� p¹ ¨p¹ tł—œ t1œUF� qŠ Å

Š “« —u?EM�q?Òs?¹« t?- v?K?J?ý t?Ð ¨X?Ý« t?DœUF� È«dÐ »«uł Êœd- «bOÄ ¨p¹ tł—œ ÈÅtDœUF� 

ôuLF� ̈ p¹ ÈÅtł—œ tDœUF� Êœd- qŠ È«dÐ ÆbM- q¹b³ð ÈËU8ð p¹ tÐ «— tDœUF� b�«u²Ð »«ułÎÊ¬ b¹UÐ 

  —uUÅtÐ «—ax = bÆb¹—Ë¬—œ 

‚u� ÈÅtDœUF� qŠ È«dÐ ÆbýUÐ vJ¹ U¼ÅÊ¬ ÈU¼Å»«uł U¹ »«uł t- bM²8¼ “—«År¼ v²>Ë tDœUF� Ëœ



ÅÅÅÅÅ∂∞

 ◊dý tÐ  a . 0 dÐ «— sO�dÞ rO�«uðÅv� aÆrOM- rO8Ið 

ax
a

=
b
a

 t−O²� —œx =
b
a

ÆXÝ« tDœUF� »«uł 

 d?Ö«  a =0 Ë   b . 0 ÁU?ÖÅÊ¬ ¨b?ýU?Ð   0× x = b È«d?Ð t?- X?Ý« s?ýË— xœu?łË È—«b?I?� ê?O?¼ 

s?J?L?�d?O?ž ÈÅt?DœU?F?� ¨ ôœU?F?� t?�uÖÅs¹« tÐ ¨s¹«dÐUMÐ ÆbM- ‚bU ôUÐ ÈÅtDÐ«— —œ t- Xý«œ b¼«u3�

�« Æb?M¹uÖÒ d?Ö« U  b =0 ÁU?ÖÅÊ¬ ¨býUÐ   0× x =0 È«d?Ð Ë xœu?łË Á«u?šÅ‰œ »«u?ł ÈœU?¹“ —UO8Ð œ«bFð 

ÆbM¹uÖ rN³� ÈÅtDœUF� ¨ ôœUF� t�uÖ s¹« tÐ ¨œ—«œ

sOMÇÅr¼ Ë œ«œ qOJAð p¹ ÈÅtł—œ tDœUF� —«“UÐ —œ vMOF� ÈôU- ÈU{UIð È«dÐ Ê«uðÅv� v¼UÖ

ÈÅtDI� Êœ—Ë¬ XÝœÅtÐ È«dÐ Æœ«œ qOJAð p¹ tł—œ ÈÅtDœUF� Ê«uðÅv� v¼UÖ ̈ ôU- ÊUL¼ ÈÅt{dŽ È«dÐ

 ÈËU8� t{dŽ tDœUF� UÐ «— U{UIð ÈÅtDœUF� Ê«uðÅv� ‰œUFð —«d>Æœ«œ

 ‰U¦�≤‡‡ v¹ôU- È«dÐ t{dŽ ÈÅtDœUF� dÖ«   S = 25x +25ôU- ÊUL¼ È«dÐ U{UIð ÈÅtDœUF� Ë 

  D = −50x +250Æb¹—Ë¬ XÝœÅtÐ «— —uÐe� ÈôU- È«dÐ U{UIð Ë t{dŽ  ôœUF� ‰œUFð tDI� ¨býUÐ 

  S = 25x +25

  D = −50x +250

S = D

  25x +25 = −50x +250

  50x + 25x + 25 = 50x − 50x + 250

  75x +25 = 250

  75x +25 −25 = 250−25

  75x = 225

  
x =

225

75

  x = 3

 È«“« tÐ dÖ« s¹«dÐUMÐx œbŽ ̈≥ tDœUF� —œ «—  —«d>vN¹bÐ Æb�uýÅv� ÈËU8� r¼ UÐ ·dÞ Ëœ ̈ rO¼œ

s?¹« ¨b?M?ýU?Ð ÈËU?8?� r?¼ U?Ð ·d?Þ Ëœ d?¼ ¨œu?ýÅv� Áœ«œ dOG²� tÐ t- Èd¹œUI� lOLł È«“«ÅtÐ dÖ« XÝ«



ÅÅÅ∂±

ð« «— ÈËU8ðÒÆbM¹uÖ œU×

 ‰U¦�≥‡‡  dÖ«  9x − 4x +1= 3x +2x +1 t−O²� —œ býUÐ   5x +1= 5x +1Æ

 t?Ð t?- Èd?¹œU?I?� l?O?L?ł È«“« tÐ t- œuýÅv� tEŠö�xÈËU?8?� r?¼ UÐ ·dÞ Ëœ ¨œuýÅv� Áœ«œ 

ð« p¹ ‚u�  —U³Ž ¨s¹«dÐUMÐ ÆbM²8¼ÒU¹ Ë ÆXÝ« œU×

  (a − b)(a + b) = a2 − b2

 d¹œUI� lOLł È«“« tÐ t-a Ë bÆbM²8¼ ÈËU8� r¼ UÐ ·dÞ Ëœ 

øX�OÇ dÝÅtÐdÝ tDI>“« qUUŠ b�¬—œ Uð œuý bODuð b¹UÐ t- XÝ« v¹ôU- bŠ«Ë œ«bFð œuBI� 

ö?�U?- ¨ôU?- —«b?I� s¹« ‘Ëd�Î U?Ð «— d?ÝÅt?Ðd?Ý ÈÅt?D?I?� Æb?ýU?Ð Ê¬ Áb?ý ÂU?Lð ÈÅtM¹e¼ UÐ dÐ«dÐ QÊU?A� 

 dÖ« ÆbM¼œÅv� X?LO> UÐ «— ôU- bŠ«Ë p¹ ‘Ëd�P‰u?�d?� “« Ê«uðÅv� «— dÝÅtÐdÝ ÈÅtDI� rO¼œ ÊUA� 

Q =
Fc

P − V
Æœ—Ë¬ XÝœÅtÐ 

“¹d« œ— �IDt ÈÅÝdÐtÅÝd ̈Ýuœ Ë¹óÁ �8UËÈ UHd «ÝX ¹FMv œ—¬�b -q ÐU ¼e¹Mt -q �8UËÈ «ÝXÆ

 ‰U?¦�¥‡‡ v?¹ôU?- b?ODuð XÐUŁ ÈÅtM¹e¼ ±∞∞∞O?G?²� ÈÅtM¹e¼ Ë ‰U¹— Ò Ê¬ b?Š«Ë d¼ È«dÐ d∏‰U¹— 

 dÖ« ÆXÝ« XLO> ôU- bŠ«Ë d¼ ‘Ëd�±∞Æb¹—Ë¬ XÝœÅtÐ «— ôU- dÝÅtÐdÝ ÈÅtDI� ¨býUÐ ‰U¹— 

  10x = 8x +1000

  10x − 8x = 8x +1000− 8x

  2x =1000

  x = 500

‰u�d� “« ÁœUH²Ý« UÐ U¹ ËQ =
Fc

P − V

  
Q =

1000

10− 8
=

1000

2
= 500

 ¨s¹«dÐUMÐ q>«bŠ b¹UÐ bODuð œ«bFðµ∞∞ÝR� Uð býUÐ bŠ«Ë Ò dÖ« fÄ ÆbýUÐ t²ý«b� ÊU¹“ t8∂∞∞

UÐ dÐ«dÐ Áb�¬ XÝœ tÐ œuÝ œœdÖ bODuð bŠ«Ë

  600×10−1000−600× 8 =

  6000−1000− 4800=

  6000− 5800= 200



ÅÅÅÅÅ∂≤

 UÐ dÐ«dÐ Áb�¬ XÝœ tÐ œuÝ fÄ≤∞∞ÆXÝ« ‰U¹— 

  —uU t‡Ð Ê«u‡ðÅv‡� «— q- ÈÅtM¹e¼ ÈÅtDœUF�  y = 8x +1000Ê«u‡ðÅv‡� «— v‡K- b‡�¬—œ t‡‡DœUF� Ë 

  —uU t‡Ð  y =10x¨rOM- rÝ—  UB²3� ÁU~²Ýœ p¹ —œ «— ‚u�  ôœUF� —«œuL� dÖ« ‰UŠ Æœ«œ ÊUA� 

 tDI� tDœUF� Ëœ s¹« lÞUIð q×�  y = 5000 Ë   x = 500 ® vMF¹ ̈ XÝ« dÝ tÐ dÝ ÈÅtDI� ÊUL¼ t-  Q = 500©

 ÈËU8� Ë q- tM¹e¼ UÐ dÐ«dÐ q- b�¬—œ Uð býUÐ b¹UÐµ∞∞∞ÆœœdÖ ‰U¹— 

 “« Èb?ODuð ÈU¼bŠ«Ë œ«bFð dÖ« t- XÝ« sýË—µ∞∞tł«u� ÊU¹“ UÐ t8ÝR� býUÐ dðÅr- bŠ«Ë 

ö¦� Æbý b¼«ušÎ dÖ« ¥∞∞ÆbýUÐ Ábý bODuð bŠ«Ë 

  400×10−1000− 400× 8 =

  4000−1000− 3200=

  4000− 4200= −200

1000

2000

3000

4000

5000

100 300 500 700 800200 400 600

y = 8 +1000

y

x

y =10x

×

bO1uð œ«bFð

b�¬—œ

tM¹e¼ U¹ b�¬—œ

tM¹e¼

  y == 8x ++1000

 t8ÝR�≤∞∞ÈÅtDI� fÄ ÆXÝ« ÁœuÐ dðÅr- q- ÈÅtM¹e¼ “« q- b�¬—œ vMF¹ ¨XÝ« t²ý«œ ÊU¹“ ‰U¹— 

 tAOL¼ dÝÅtÐdÝ q>«bŠÆb¼œÅv� ÊUA� t8ÝR� p¹ —œ «— bODuð œ«bFð



ÅÅÅ∂≥

 ÈÅt?D?I� —œ ¨XÝ« œuNA� t- t�uÖÅÊUL¼  x = 500 Ë   y = 5000 «— d?~¹bJ¹ jš Ëœ d¼ lD>

 È«dÐ ¨s¹«dÐUMÐ ÆXÝ« dÐ«dÐ r¼UÐ tM¹e¼ Ë b�¬—œ vMF¹ ¨bMM-Åv�x “« dðÅ¯—eÐ ÈU¼µ∞∞tM¹e¼ “« b�¬—œ ¨ 

 bM�U� ¨œuÐ b¼«uš dðÅgOÐ  x = 600

  y =10x

  y =10×600= 6000

  y = 8x +1000

  y = 8 ×600+1000= 5800

tM¹e¼ Ë b�¬—œ  ËUHð                                    6000− 5800= 200

 ‰U¦�µ‡‡Å ÝR� È—«bÐU8Š dðU�œÒ ·dþ t- b¼œÅv� ÊUA� È«Åt8≥UFLł ̈ t²ýcÖ ‰UÝ Î mK³�   30,000

 t?- v?¼U~²Ýœ „öN²Ý« ÈÅÁdOš–  —uU tÐ ‰U¹— X?LO> Ê¬ b¹dš  120,000Áb?¹œdÖ d8- ÁœuÐ ‰U¹— 

 ÁU~²Ýœ bOH� dLŽ Ë býUÐ ÁœuÐ vDš ̈ „öN²Ý« ÈÅt³ÝU×� ‘Ë— dÖ« ÆXÝ«±∞¨œuý Áœ“ sOL3ð ‰UÝ 

 ÈÅt{«d> XLO> “« bFÐ «— ÁU~²Ýœ±∞ÆbOM- sOOFð ‰UÝ 

  
(120,000− x) ×

10

100
× 3 = 30,000

  120,000− x =100,000

 XLO>                                         “« fÄ ÁU~²Ýœ±∞‰UÝ   x = 20,000

Ë« ÈÅt?ł—œ t?DœU?F� d¼ È«dÐ ¨bý tEŠö� t- t�uÖÅÊUL¼Ò«— Ê¬ b?ýU?Ð p¹ ¨‰uN−� Ê«uð dÖ«® ‰

 È«“« —œ ©bM¹uÖ p¹ ÈÅtł—œ tDœUF�xÊ¬ È«“« —œ tDœUF� ·dÞËœ t- È—uÞ tÐ ÆX�U¹ Ê«uðÅv� vÐ«uł 

x s¹« Æb�œdÖ dÐ«dÐ xÆbM¹uÖ tDœUF� ‰œUFð ÈÅtDI� eO� «— 

 ‰U¦�∂‡‡ÅÅ tDœUF� ‰œUFð ÈÅtDI�   3x + 7 = 2x +12ÆbOM- «bOÄ «— 

  3x + 7 − 7 = 2x +12 − 7

  3x = 2x + 5

  3x −2x = 2x −2x + 5 . x = 5

 ‰U¦�∑‡‡ÅÅ vKJý lÐd� —U³�« jO×� ≤∞rOM- t�U{« d²� bMÇ ¨Ê¬ Ÿö{« “« p¹d¼ tÐ ÆXÝ« d²� 

 Ê¬ jO×� tÐ Uð≤¥ÆœœdÖ ÁœËe�« d²� 

b¹bł —U³�« jO×�                                                       ÅÅ  20+24 = 44

    ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ—U³�« lK{ p¹ ‰uÞ       20. 4 = 5



ÅÅÅÅÅ∂¥

   ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅb¹bł —U³�« lK{ p¹ ‰uÞ        x + 5

  4(x + 5) = 44

  4x +20= 44

  4x +20−20= 44 −20

             4x = 24       .   x = 6

b¹bł —U³�« lK{ ‰uÞ                                                         6 + 5 =11

 ‰U?¦�∏‡‡ F?J?� q?Jý tÐ vK²¼ ÈÅt�UšœdÝ Ò l?K{ tÐ V≤łu?ð UÐ ÆXÝ« d²� Òr?−?Š q²¼ “UO� tÐ t

�« œu?ý d?Ð«dÐ Ëœ b¹UÐ t�UšœdÝÒ‰u?Þ j?I?� ¨s?¹«dÐUMÐ ÆX8O� g¹«e�« ÊUJ�« ÷dŽ Ë nIÝ XNł “« U

 t?�UšœdÝ q?ÐU>Ê¬ r?−?Š U?ð œœd?Ö t?�U?{« b?¹U?Ð t�UšœdÝ ‰uÞ tÐ —«bI� tÇ bOM- sOOFð ÆXÝ« g¹«e�«

Æœuý dÐ«dÐÅÅÅÅÅËœ

d²� b¹bł ‰uÞ  2+ x

FJ� d²�Òt�UšœdÝ r−Š V  2×2×2 = 8

FJ� d²�Òb¹bł t�UšœdÝ r−Š V  8 ×2 =16

  (2+ x) ×2×2 = 8 + 4x

  8 + 4x =16

  8 − 8 + 4x =16 − 8

   =. 2+2 = 4   d²� b¹bł ‰uÞ     4x = 8   .   x = 2  .

�¦U‰ π ‡‡ œ— ÄU¹UÊ ÝU‰ Öcý²t -U—-MUÊ ¹p ýd-X ̈“�U�v -t �AGu‰ ðd«“ Öd�²s œ�Uðd Š8UÐb«—È

Ðuœ�b?¨ �²ułÒt? ýb�b -t �U?�bÁÅÈ Þd· Ðb?¼JU— ÐU? �U�bÁÅÈ Þd?· Ð8²U?�JU— ðd«“�U?�t ±π∏∞ —¹U‰ «š²?ö·

œ«—œÆ —zOf Š8UÐb«—È �F²Ib Ðuœ -t Ðt «Š²LU‰ “¹Uœ œ— «�²IU‰ ŽbœÈ ̈¹p UHd ¬Ê Šc· Ödœ¹bÁ «ÝXÆ

«Öd Šb” «Ë œ—ÝX ÐUýb ðFOOs -MOb Çt —>Lv Ë«>Fv Ë Çt —>Lv «ý²³UÁ Ł³X ýbÁ «ÝXø

 ÈUł tÐ rOM- ÷d� dÖ«±∞∞∞ ¨Å±∞∞ ÈUł tÐ fÄ ̈ býUÐ Ábý X³Ł  r>— Ê¬ bU—œ Áœ vKU«r>—

ÆXÝ« Áb¹œdÖ X³Ł

  
(x −

10

100
x) =1980

 —œ «— sO�dÞ±∞∞     rOM-Åv� »d{   100x −10x =198000

  90x =198000



ÅÅÅ∂µ

 X³Ł —œ ÁU³²ý« ¨s¹«dÐUMÐ≤≤∞ ÈUł tÐ ≤≤∞∞ÆXÝ«   x = 2200

«d¹“ ¨fJŽdÐ U¹  2200−220=1980

Ë« ÈÅtł—œ  ôœUF� qŠ t- XÝ« sýË—Ò�« ¨XÝ« ÁœUÝ —UO8Ð ‰Ò t?Ð ÃUO²Š«  ôœUF� qOJAð U>œÒ XË

Æœ—«œ œU¹“ s¹dLð

≥ ‡‡µDš  ôœUF� ÅÒv

O?G?²?� Ëœ s?OÐ ÈÅtDÐ«— Ê«u²Ð ÁUÖd¼Òö?¦� dÎÝR?� p?¹  U?GOK³ð ÈÅtM¹e¼ Ë ‘Ëd� Ò —u?U tÐ «— t8

« ÈÅtł—œ ÈÅtDœUF�Ë
Ò

Dš ÈÅtDœUF� Ê¬ tÐ ¨œ—Ë¬ —œ v{d� ‰Òö¦� ÆbM¹uÖ vÎ dÖ« y Ë t�UO¼U� ‘Ëd� «— x«— 

ÝR� p¹  UGOK³ð ÈÅtM¹e¼Ò tDœUF� ̈ rOM- ÷d� t8  y =100+2x sOÐ x Ë y «— vDÐ«Ë—  —«d>dÐÆb¹UL�Åv�

 dÖ« t- b¼œÅv� ÊUA� tDœUF� s¹«  y . 100vDË bý b¼«u3� Xš«œdÄ  UGOK³ð XÐUÐ vGK³� ¨býUÐ 

 dÖ«  y . 100ÆXÝ«ÅvKLŽ  UGOK³ð tM¹e¼ Xš«œdÄ býUÐ 

 ‰U?¦�±∞‡?‡  t?�U?O?¼U� ‘Ëd� dÖ« ±≤∞ U?G?O?K?³?ð ÈÅt?M?¹e?¼ t?Ð Ê«u?ðÅv� «— vGK³� tÇ ¨býUÐ ‰U¹— 

øœ«œ ’UB²š«

  y =100+ 2x

  120=100+ 2x

  120−100=100+ 2x −100

  20= 2x

 ¨fÄ±∞Æœ«œ ’UB²š«  UGOK³ð tÐ Ê«uðÅv� ‰U¹—   x =10

Dš ÈÅtDœUF� s¹« œuýÅv� Áb¼UA� t- t�uÖÅÊUL¼Ò È«“« tÐ vMF¹ Æœ—«œ »«uł X¹UN�ÅvÐ ¨vxÈU¼

 nK²3�yÆb¹¬Åv� XÝœÅtÐ nK²3� ÈU¼

¥ ‡‡µvDš  ôœUF� ÁU~²Ýœ Å

O?G?²?� b?M?Ç U¹ p¹ ¨p¹d¼ —œ t- tDœUF� bMÇ U¹ p¹ “« XÝ«  —U³Ž  ôœUF� ÁU~²ÝœÒœułË d

ÆbýUÐ t²ý«œ

D?š  ôœU?F?� ÁU~²Ýœ qŠ “« —uEM�Òt?Ð ◊u?Ðd?� d?¹œU?I�® tDœUF� ÈU¼Å»«uł Êœ—Ë¬ XÝœÅtÐ ¨v

 ÁU?~?²?Ýœ —œ «— Áb?�¬ X?ÝœÅtÐ d¹œUI� dÖ« t- VOðdð s¹« tÐ ÆXÝ« ©U¼dOG²� —«d>t?DœUF� ·dÞ Ëœ ¨rO¼œ

ÆrO¼œ qOJAð tDœUF� Èœ«bFð b¹UÐ U¼Å»«uł Êœ—Ë¬ XÝœ tÐ Ë qzU8� qŠ È«dÐ ÆœœdÖ ÈËU8�



ÅÅÅÅÅ∂∂

 ‰U¦�±±‡‡ d¹“ ‰Ëbł o³Þ «— v-d²A�  ôuB×� XŽUÝ d¼ —œ t- œ—«œ œułË ÁU~A¹ôUÄ Ëœ

ÆbMM-Åv� bODuð

Ëœ ÈÅÁ—ULý ÁU~A¹ôUÄp¹ ÈÅÁ—ULý ÁU~A¹ôUÄ

XŽUÝ d¼ —œ ‰uB×�yx

©tJAÐ —«e¼® s¹eMÐ≥≤

©tJAÐ —«e¼® XH�±±

 bODuð ‘—UHÝ tÇÅÊUMÇ±± Ë s¹eMÐ tJAÐ —«e¼ µOF� ªbýUÐ Ábý Áœ«œ XH� tJAÐ —«e¼ ÒbOM- s

b� tÇ —œ ÁU~A¹ôUÄ Ëœ s¹«ÒøbM¼œÅv� ÂU−�« «— ‘—UHÝ Ê«eO� ¨v�U{« bODuð ÊËbÐ v�U�“  

  

2x + 3y =11

x + y = 5
.
.
.

 —œ «— ÂËœ ÈÅtDœUF�≤ÆrOM-Åv� r- p¹ ÈÅtDœUF� “« Ë »d{ 

  
  

−

2x + 3y =11

2x +2y =10
.
.
.

3y − 2y =11−10

  y =1

  x +1= 5

  x +1−1= 5 −1

  x = 4

p?¹ ¨Ëœ ÈÅÁ—ULý ÁU~A¹ôUÄ Ë XŽUÝ —UNÇ ¨p¹ ÈÅÁ—ULý ÁU~A¹ôUÄ t- XÝ« Â“ô ¨s¹«dÐUMÐ

 Uð b¹UL� g¹ôUÄ XŽUÝ Âö>«ÆœœdÖ sO�Qð “UO� œ—u�

 ‰U¦�±≤‡‡« ÁUÖ—U- ÆXÝ« vÞUOš ÁUÖ—U- Ëœ È«—«œ v²-dý Ë
Ò

 b�«uðÅv� XŽUÝ d¼ —œ ¨‰¥X- 

 Ë∂ X?ŽU?Ý d?¼ —œ ¨ÂËœ ÁUÖ—U- Æœ“ËbÐ —«uKý ∑ Ë X- ±≥ X?-d?ý dÖ« Æœ“ËœÅv� —«uKý Èœ«œ—«d>

 “Ë— d¼ t- býUÐ ÁœuL� bIFM�¥∞ Ë X- ∑∞OF� ¨b¼œ q¹u×ð —«uKý ÒXŽUÝ bMÇ b¹UÐ ÁUÖ—U- d¼ bOM- s

« ÁUÖ—U- t- «— vðUŽUÝ œ«bFð øœuA� bODuð v�U{« ”U³D ̈ X-dý “UO� sO�Qð sL{ t- bM- —U- “Ë— —œË
Ò

‰

¨býUÐ ‰UF� b¹UÐxÆrO¹UL�Åv� ÷d� 



ÅÅÅ∂∑

≥

≤

F� b¹UÐ ÂËœ ÁUÖ—U- t- «— vðUŽUÝ œ«bFðÒ¨býUÐ ‰UyÆrOM-Åv� ÷d� 

ÂËœ ÁUÖ—U-Ë« ÁUÖ—U-Ò‰

yx

X-∑¥

—«uKý±≥∂

4x + 7y = 40

6x +13y = 70

.

.
 

. 

Š È«dÐqÒ« ÈÅtDœUF� XÝ« v�U- vDuN−� Ëœ ÈÅtDœUF� Ëœ ÁU~²Ýœ s¹« Ë
Ò

ÈÅtDœUF� Ë dÐ«dÐ tÝ «— ‰

ÆœœdÖ ·cŠ  ôuN−� “« vJ¹ Uð rOM- r- r¼ “« «— Áb�¬ XÝœÅtÐ Z¹U²� ¨fáÝ ÆrOM- dÐ«dÐ Ëœ «— ÂËœ

  
 
− 12x +21y =120

12x +26y =140
.
.
.

  5y = 20. y = 4

  4x + 7 × 4 = 40

  4x + 28 = 40

  4x + 28 − 28 = 40− 28

  4x =12

  x = 3

« ÁU?Ö—U?- b?¹UÐ ¨t−O²�—œË
Ò

U?ð œu?ý ‰U?F?� XŽUÝ —UNÇ È“Ë— ÂËœ ÁUÖ—U- Ë XŽUÝ tÝ È“Ë— ‰

ONð U¼Å‘—UHÝÒÆœœdÖ t

 ‰U¦�±≥‡‡  UÐ dÐ«dÐ v¹ôU‡- È«dÐ U{UIð ÈÅt‡DœUF� d‡Ö«  y =15 − 3xÈ«dÐ t{dŽ ÈÅt‡DœUF� Ë 

 UÐ dÐ«dÐ ôU- ÊUL¼  y = 4x +1«bOÄ «— —uÐe� ÈôU- È«dÐ U{UIð Ë t{dŽ  ôœUF� ‰œUFð ÈÅtDI� ̈ býUÐ 

jI� ¨tDœUF� s¹« —œ ÆbOM-  4x +1=15 − 3x

È«“« tÐ  4x +1+ 3x =15 − 3x + 3x

  x = 2  7x =14

 ‰œUFð  —«d>dÐXÝ«  x = 2

t−O²�—œ Ë  y = 9

XÝ«Æ



ÅÅÅÅÅ∂∏

r
MÄ qB� ÈU�Ås�dL�

±ÆbOM- «bOÄ «— U¼ÅÊ¬ »«uł Ë qŠ «— d¹“  ôœUF� ‡‡

  
(x + 3) − (x − 3) =

5x +1
2  3x + 2 = 7x − 2

  

x − 2
3

−
12− x

2
+1=

5x − 63
4  16x − 25 = 2x + 3

  

x − 2
2

− (x −
2x −1

3
) =

−1
3  5x − 2 = 73

≤ÈÅt?D?I?� Ë rÝ— «— Ê¬ —«œuL� ÆXÝ« d¹“  —uU tÐ v¹ôU- È«dÐ U{UIð Ë t{dŽ ÈÅtDœUF� ‡‡

ÆbOM- «bOÄ «—  ôœUF� ‰œUFð  y = 7x + 6

  y =16 − 2x

≥q- ‡‡Ò v¹ôU- bODuð È«dÐ XÐUŁ ÈÅtM¹e¼ ∑µ∞OG²� ÈÅtM¹e¼ Ë ‰U¹— Ò UÐ dÐ«dÐ d∑∞ • XLO>‘Ëd�

 dÖ« ÆXÝ« Ê¬ XLO> bŠ«Ë d¼ ‘Ëd�±∞∫býUÐ ‰U¹— 

ÆbOM- «bOÄ «— ôU- Ê¬ dÝÅtÐdÝ ÈÅtDI� ©nD«

OG²� ÈÅtM¹e¼ dÖ« ©»Ò tÐ d∏∞ • XLO>ÆbOM- «bOÄ «— dÝ tÐdÝ ÈÅtDI� ¨bÐU¹ g¹«e�« ‘Ëd�

 X?ÐUŁ ÈÅtM¹e¼ dÖ« ©Ã≤∞O?G?²?� ÈÅtM¹e¼ Ë bM- «bOÄ g¹«e�« •Ò ÊUL¼ d∑∞ • X?LO>¨b?ýUÐ ‘Ëd�

ÆbOM- t³ÝU×� «— dÝÅtÐdÝ ÈÅtDI�

¥ m?K?³� ‡‡∞∞∞\±∂¥Ë« t?- b?O?M?- r?O?8?I?ð ÊU?MÇ dH� —UNÇ sOÐ «— ‰U¹— Ò v?D¥Ë v?�—U?N?Ç dÐ«dÐ 

 v�—UNÇ¥Ë« dÐ«dÐ v�Ëœ Ë v�uÝ dÐ«dÐ ÒÆb�d³Ð rNÝ v�—UNÇ Ë vD

µÅ‡‡ «š²ö· �U?�bÁÅÈ Ðb¼JU— Ë �U�b?ÁÅÈ Ð8²U�JU— ðd«“�U?�tÅ«È¥µ∂≥∞ —¹U‰ «ÝXÆ «Öd Ðt «Š²?LU‰

“¹Uœ «¹s «š²ö· �Uýv «“ Ł³X ¹p —>r ÐU Šc· UHd ÝLX —«ÝX ¬Ê ÐUýb¨ ¬Ê Žbœ Ë«>Fv Ë «ý²³UÁ —«

ÐOUÐObÆ

∂ vKJý qOD²8� ÷uŠ jO×� ‡‡ÅÅ±¥Ê¬ ‰uÞ Ë XÐUŁ Ê¬ ÷dŽ t- rOM- ÷d� dÖ« ÆXÝ« d²� 

 qÐU> tÐ Ê¬ jO×� rO¼«u3Ð Ë býUÐ dOOGð±∞tÇ ÷uŠ Ê¬ ‰uÞ t- bOM- sOOFð ¨œuý Áœ«œ g¼U- d²� 

øœuý Áœ«œ g¼U- b¹UÐ —«bI�

∑ g?ð—«  U?-—«bð UÐ X-dý p¹ ‡‡ Èœ«œ—«d> t?�«“Ë— t?- ÁœuL� bIFM�  110,000s?žË— uKO- 

 Ë b�Uł  41,000“UO� œ—u� sžË— t- XÝ« t²�dÖ rOLBð Ád¹b� X¾O¼ Æb¹UL� q¹u×ð l¹U� sžË— uKO- 

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○



ÅÅÅ∂π

 s¹« œ«œ—«d>Æb¹UL� sO�Qð ¨XÝ« “«dOý —œ Èd~¹œ Ë Ê«dNð —œ vJ¹ t- ¨t�Uš—U- Ëœ o¹dÞ “« jI� «—

O�dþÒ XŽUÝ d¼ —œ Ê«dNð ÈÅt�Uš—U- X  10,000 Ë b�Uł sžË— uKO-   4,000l¹U� sžË— uKO- 

 X?ŽUÝ d¼ —œ “«dOý ÈÅt�Uš—U- XO�dþ ÆXÝ«  6,000 Ë b�Uł sžË— uKO-   2,000l¹U� sžË— uKO- 

ÆXÝ«

F� XŽUÝ bMÇ b¹UÐ t�«“Ë— t�Uš—U- Ëœ s¹« “« p¹d¼ bOM- sOOFðÒsžË— b�«u²Ð X-dý Uð bMýUÐ ‰U

Æb�UL� —U³�« —œ v�U{« sžË— Ë b¼œ q¹u×ð «— “UO� œ—u�

∏ d?Ö« ‡‡  XLO> v?¹ôU- bŠ«Ë ‘Ëd�±≤µO?G?²� ÈÅtM¹e¼ Ë ‰U¹— Ò Ê¬ d±∞µÈÅt?D?I� ¨býUÐ ‰U¹— 

 XÐUŁ tM¹e¼ q- rO�«œÅv� t- vð—uU —œ® b¹—Ë¬ XÝœÅtÐ «— ôU- dÝÅtÐdÝ  2,500XÝ« ‰U¹— ©Æ

π v?K?Jý lÐd� —U³�« lK{ ÈÅÁ“«b�« ‡‡ ±∞t?- X?Ý« “U?O� Ë X8O� v�U- Ê¬ g¹U−MÖ ¨XÝ« d²� 

Ðd� Ÿö{«Ò q- —œ Uð ̈ bÐU¹ g¹«e�« Á“«b�« p¹ tÐ ·dÞ d¼ “« l≤¥—«bI� ÆœœdÖ ÁœËe�« Ê¬ jO×� tÐ d²� 

ÆbOM- sOOFð «— ·dÞ d¼ “« g¹«e�«

±∞ v?¹ôU?- È«d?Ð U{UIð ÈÅtDœUF� ‡‡   y =100− 5xôU?- ÊU?L?¼ È«dÐ t{dŽ ÈÅtDœUF� Ë XÝ« 

  y =15x +20ôË« ÆXÝ« ÎUO�UŁ Æb¹—Ë¬ XÝœÅtÐ «— ‰œUFð ÈÅtDI� —œ ôU- —«bI� Ë XLO> ÎôU- XLO> dÖ« 

µX?O?F?{Ë —œ —«“U?Ð t?- b?OM- vÝ—dÐ Ë bOM- h3A� «— U{UIð Ë t{dŽ “« p¹ d¼ d¹œUI� býUÐ ‰U¹—ÅÅÅ

U?¦?DUŁ øXÝ« œ«“U� U¹ œu³L-Î ôU?- XLO> dÖ« ≥Ë s?O?O?Fð «— U{UIð Ë t{dŽ “« p¹ d¼ d¹œUI� býUÐ ‰U¹— 

ÆbO¹UL� h3A� eO� «— —«“UÐ XOF{Ë

±± v²-dý XÐUŁ ÈÅtM¹e¼ ‡‡Å∞∞∞\µ∞∞ ôU?- bŠ«Ë d¼ dOG²� ÈÅtM¹e¼ Ë ‰U¹— ¥∞∞∞ÆXÝ« ‰U¹— 

 ôU- bŠ«Ë d¼ ‘Ëd� XLO> dÖ«µ∞∞∞ôË« X?Ý« »uKD� býUÐ ‰U¹— Î¨dÝÅtÐÅdÝ ÈÅtDI� —œ bODuð œ«bFð 

UO�UŁÎ bODuð œ«bFð tÇÅÊUMÇ ¥∞∞U¦DUŁ øÁœ ÊU¹“ U¹ ¨XÝ« Áœ œuÝ X-dý s¹« býUÐ bŠ«Ë Î—œ vð«dOOGð UÐ dÖ« 

 d?ÝÅt?ÐÅd?Ý ÈÅt?D?I?� —œ Ë bÐUO� ÈdOOGð t�uÖÅêO¼ XÐUŁ ÈÅtM¹e¼ ¨bODuð ‘Ë—≤µ∞œœd?Ö b?ODuð ôU- bŠ«Ë 

ø—«bI� tÇ øXÝ« t²ý«œ g¹«e�« U¹ g¼U- dOG²� ÈÅtM¹e¼

±≤ UÐ dÐ«dÐ v²-dý XÐUŁ ÈÅtM¹e¼ ‡‡Å∞∞∞\∞∞∞\∏ ôU- bŠ«Ë d¼ dOG²� ÈÅtM¹e¼ Ë ‰U¹— ∂∞∞∞‰U¹— 

 dÐ«dÐ ôU- bŠ«Ë d¼ ‘Ëd� XLO> dÖ« ÆXÝ«∞∞∞\±∞ôË« ¨býUÐ ‰U¹— ÎdÝÅtÐÅdÝ ÈÅtDI� —œ bODuð œ«bFð 

U?O�UŁ ÆbOM- t³ÝU×� «—Î b?ODuð `DÝ —œ ±∏∞∞U?¦?DUŁ ÆbOM- t³ÝU×� «— X-dý ÊU¹“ U¹ œuÝ Ê«eO� bŠ«Ë Î

 mK³� b¼«u3Ð X-dý t- vð—uUÅ—œ∞∞∞\≤∞∞øœœdÖÅbODuð b¹UÐ ôU‡- œ«bFð tÇ býUÐ t²ý«œ œuÝ ‰U¹— 

±≥Ë« ÁU?Ö—U- ÆXÝ« ÈbODuð ÁUÖ—U- Ëœ È«—«œ v²-dý ‡‡ÅÒ b�«uðÅv� XŽUÝ d¼ —œ ¨‰µ∞∞bŠ«Ë 

 Ë ‰U~MÇ∂∞∞ b�«uðÅv� XŽUÝ d¼ —œ ̈ ÂËœ ÁUÖ—U- sOMÇÅr¼ Æb¹UL� bODuð oýU> bŠ«Ë ¥∞∞ bŠ«Ë ‰U~MÇ



ÅÅÅÅÅ∑∞

 Ë∑∞∞“Ë— d?¼ t?- X?Ý« Áœu?L?� b?I?F?M� Èœ«œ—«d> X-dý t-Ås¹« tÐ tłuð UÐ Æb¹UL� bODuð oýU>  bŠ«Ë 

b¹UÐµ∏∞∞ Ë ‰U~MÇ bŠ«Ë ∏µ∞∞OF� ̈ b¼œ q¹u×ð oýU> bŠ«Ë ÒXŽUÝ bMÇ XÝ« Â“ô ÁUÖ—U-d¼ bOM- s

øœœd~� bODuð v�U{« ‰U~MÇ Ë oýU> ¨“UO� sO�Qð sL{ t- bM- —U- “Ë— —œ



∑±

rAý qB�

È—«bÐU�Š —œ ÂËœ ÈÅtł—œ  ôœUF� ÈU¼œdÐ—U�

∫È—U²�— ÈU¼Å·b¼∫œË—Åv� —UE²�« Áb�dOÖ«d� “« ¨qB� s¹« ÊU¹UÄ —œ 

±ÆbM� sOOFð «— lÐ«uð Ÿ«u�« ‰œUFð ÈÅtDI� ‡‡

≤ÆœdÐ —U�ÅtÐ ‰uN−� Âö1« Ÿ«u�« sOOFð È«dÐ «—  ôœUF� ÈU¼ÅÁU~²Ýœ ‡‡

≥Æb¹UL� Y×Ð Ë qŠ «— ÂËœ ÈÅtł—œ  ôœUF� ‡‡

∂È—«bÐU�Š —œ ÂËœ ÈÅtł—œ  ôœUF� ÈU¼œdÐ—U� ‡‡Å

K�  —u> ¨bý t²HÖ q³1 qB� —œ t� t�uÖÅÊUL¼Ò p¹ ÈÅtł—œ  ôœUF� vax = btÐ t� ¨XÝ« 

 dÐ «— sO�dÞ dÖ« ÆbM¹uÖÅv� eO� vDš  ôœUF� Ê¬  (a ≠0)rOM� rOJIðÅ

ax = b ⇒ x =
b
a

xË« ÈÅt?ł—œ ÈÅt?LœU?F?� Èd¼Uþ qJý ¨œ—«u� “« vKOš —œ XÝ« vN¹bÐ Æb¹¬Åv� XÝœ tÐ Ò —u?> tÐ ‰

ax = bOKLŽ b¹UÐ Ë XJO� ÒÆb¹¬—œ  —u> s¹« tÐ Uð œuý ÂU−�« Ê¬ ÈË— vðU

 ‰U¦�±‡?‡ Ê«u?O?L d?¼ d?O?G²� ÈÅtM¹e¼ Æb¹UL�Åv� bOLuð vJO²ÝöÄ Ê«uOL v²�dý ≤∞ÈÅt?M¹e¼ Ë ‰U¹—Å

 X�dý Ê¬ XÐUŁµ∞∞ Ê«uOL d¼ ‘Ëd� XLO1 dÖ« ÆXÝ« “Ë— —œ ‰U¹— ≥∞b¹UÐ Ê«uOL œ«bFð tÇ ̈ býUÐ ‰U¹—ÅÅ

øÊU¹“ t� Ë býUÐ t²ý«œ œuÝ t� X�dý Uð bÝdÐ ‘Ëd� tÐ Ë œuý bOLuð “Ë— —œ

  30x = 20x + 500

  30x −20x = 20x + 500−20x

  10x = 500

  x = 50



∑≤

±‡‡∂ÂËœ ÈÅtł—œ ÈÅt&œUF� Å

 Ê¬ vK�  —u> ̈ eO� ÂËœ ÈÅtł—œ ÈÅtLœUF� œ—u� —œ  ax
2 + bx + c =0ÈÅtLœUF� Ê¬ tÐ t� ̈ XÝ« 

 ÈU¼d²�«—UÄ t� XÝ« sýË— ÆbM¹uÖÅv� q�U� ÂËœ ÈÅtł—œa ¨ bË c U1Ë« v¼UÖ Ë bM²J¼ v²ÐUŁ œ«bŽ«

ÆbMýUÐ eO� dH> XÝ« sJL�

dÖ«aË« ÈÅt?ł—œ t?Ð t?LœUF� ¨býUÐ dH> UÐ dÐ«dÐ Ò ◊d?ý U?Ð ¨s?¹«dÐUMÐ ÆœuýÅv� q¹b³ð ‰  a ≠0s?¹« 

ÆœuÐ b¼«uš ÂËœ ÈÅtł—œ tLœUF�  bx + c =0

 dÖ«  b =0¨býUÐ   ax
2 + c =0

t?� v?Þd?ý t?Ð® X?Ý« t?M?¹d?1 »«u?ł Ëœ È«—«œ t?LœUF�aË cÆ©b?M?ýU?Ð t?²?ý«œ n?K?²?\?� X?�öŽ 

x = ±
−c
a d?Ö« bË cË b?M?ýU?Ð d?H> Ëœ d¼ a ÁU?ÖÅÊ¬ ¨b?ýU?Ð d?H?> n?LU\�ÅÅ   ax

2 =0 v?M?F¹   x =0

1œ Æ©nŽUC�®Ò dÖ« t� bOM� X  b =0 Ë býUÐ   a >0 Ë   c >0U¹ Ë býUÐ aËc —U³ŽÅtÐ býUÐ vHM� Ëœ d¼ 

 d?Ö« d~¹œ  b =0Ë a Ëcb?¼«u?\?� v?I?OIŠ »«uł tLœUF� ÁUÖÅÊ¬ ¨bMýUÐ ÊUÝÅp¹ X�öŽ È«—«œ Ëœ d¼ 

ÆœuÐ b¼«ušÅv�u¼u� ¨»«uł Ë Xý«œ

 t?� v?ð—u>—œ  c =0 b?ýUÐ ax
2 + bx =0 ⇒  (ax + b) × x =0Ë d?H?> U?¼Å»«uł “« vJ¹ 

 d~¹œ »«uł
−b
a

 XÝ«   x =0 ¨x =
−b
a

 ‰U¦�≤‡‡ÆbOM� qŠ «— Ë—ÅtÐË— ÈÅtLœUF�   4x
2 + 8x =0

x =0      x =
−8
4

= −2

 ‰U¦�≥‡‡ ÆbOM� qŠ «— d¹“ ÈÅtLœUF�

  −6x
2 + 54 =0

  
x

2 =
54
6

= 9

  x = ±3

 ‰U¦�¥‡‡ÆbOM� qŠ «— d¹“ ÈÅtLœUF� 

  2x
2 + 7 =0            2x

2 = −7

œ—«b� vIOIŠ »«uł

  
x2 =

−7
2



∑≥

±‡‡±‡‡∂q�U� ÂËœ ÈÅtł—œ  ôœUF� qŠ Å

  ax
2 + bx + c =0

 fÄ ̈ XÝ« q�U� ÂËœ ÈÅtł—œ ÈÅtLœUF� ÊuÇ  a ≠0 Ë   b ≠0 Ë .  c ≠0dÐ «— sO�dÞ ̈ s¹«dÐUMÐ a¨

ÆrO¹UL�Åv� rOJIð ¨XÝ« dH> nLU\� t�

x2 +
b
a

x +
c
a

=0

Ë« ÈÅtKLł Ëœ “« ÁœUH²Ý« UÐÒð« tÐ «— Ê¬ ¨‰ÒË« œU×Òt� ¨«— ÂuÝ ÈÅtKLł ¨fáÝ ÆrOM�Åv� tÐUA� ‰

  

b2

4a2
ÆrOM�Åv� r� Ë t�U{« Ê¬ tÐ ¨XÝ« 

  
x2 +

b
a

x +
b2

4a2 −
b2

4a2 +
c
a

=0

t−O²�—œ

  
(x +

b
2a

)2 +
−b2 + 4ac

4a2 =0

Ë

  
(x +

b
2a

)2 =
b2 − 4ac

4a2

r¹dO~Ð —cł sO�dÞ “« dÖ«x +
b

2a
= ±

b2 − 4ac

4a2

  
x +

b
2a

= ±
b2 − 4ac

2a
 ⇒  x =

−b
2a

±
b2 − 4ac

2a

fÄ

  
′x , ′′x =

−b ± b2 − 4ac
2a

È«d?Ð »«u?ł Ëœ t?A?O?L¼ ©býUÐ X³¦� È—«bI� ‰UJ¹œ«— d¹“ t� vÞdý tÐ® ‰u�d� s¹« “« ÁœUH²Ý« UÐ t�

�« Æb?¹¬Åv?� XÝœ tÐ ÂËœ ÈÅtł—œ ÈÅtLœUF�Ò dÖ« U  b
2 − 4ac =0n?ŽU?C?� ÈÅtA¹— p¹ ¨tLœUF� ¨býUÐ 

 d?Ö«Å ËÅ Xý«œ b¼«uš  b
2 − 4ac <0b?¼«u?šÅv?�u?¼u?� ÈU¼ÅtA¹— Ë œ—«b� vIOIŠ »«ułÅ¨tLœUF�Å¨býUÐÅ

ÆXý«œ

ôu?LF�Î   b
2 − 4ac U?²Lœ X�öŽ UÐ «— (∆)O?³?� Ê¬ t?Ð Ë bM¼œÅv� ÊUA� ÒËœ ÈÅt?ł—œ ÈÅtLœUF� s

ÆbM¹uÖÅv�

  ∆ = b
2 − 4ac



∑¥

 dÖ« ̈ fÄ  ∆ >0 dÖ« Ë XÝ« vIOIŠ »«uł Ëœ È«—«œ tLœUF� ̈ býUÐ   ∆ =0È«—«œ tLœUF� ̈ býUÐ 

 d?Ö« Ë X?Ý« nŽUC� »«uł  ∆ <0»«u?ł Ëœ È«—«œ Ë X?J?O?� v?IOIŠ »«uł È«—«œ tLœUF� ¨býUÐ 

ÆXÝ«Åv�u¼u�

 ‰U¦�µ‡‡ÅÅÅÅÆbOM� «bOÄ «— Ê¬ aÝUÄ Ë qŠ «— tLœUF� 

  3x
2 + 7x +2 =0

  ∆ = b
2 − 4ac = 49 − 4 ×2× 3 = 25

 ‰U¦�∂‡‡ÅÅÅÆbOM� qŠ «— d¹“ ÈÅtLœUF� 

′x =
−7 ± 5

6
=

  x
2 − 6x +9 =0

  ∆ = 36 − 36 =0

nŽUC� ÈÅtA¹—x =
6
2

= 3

 ‰U¦�∑‡‡ÆbOM� qŠ «— d¹“ ÈÅtLœUF� 

  x
2 − 3x +10=0

  ∆ = 9− 40= −31

 ÊuÇ  ∆ <0Æœ—«b� vIOIŠ »«uł d¹“ ÈÅtLœUF� fÄ ¨XÝ« 

 ‰U¦�∏‡‡ÅÅÅÅÅÅÆbOM� qŠ «— d¹“ ÈÅtLœUF� 

  x
2 − 4x + 3 =0

  ∆ =16 −12 = 4

′x =
4+2

2
= 3

′′x =
4−2

2
=1

≤‡‡±‡‡∂∫ÂËœ ÈÅtł—œ ÈÅt&œUF� ’Uš X&UŠ Å ‰U¦� —œ t� t�uÖ ÊUL¼ ∑¨b¹œuL� tEŠö� b

 vMF¹ ¨Ê¬ nB� “« Ê«uðÅv� Ë XÝ« ÃË“ ÈœbŽ

  

b
2

Æœd� ÁœUH²Ý« 

dÖ«′bnB� «— b∫Xý«œ rO¼«uš ¨rOM� ÷d�   b = 2 ′b

∫b¹¬Åv�—œ  —u> s¹« tÐ tLœUF� Ë  ax
2 +2 ′b x + c =0

  

−1
3

  −2



∑µ

∫“« b�«Å —U³Ž U¼Å»«uł

  
′′x , ′x =

−2 ′b ± 4 ′b 2 − 4ac
2a

U¹ Ë′x , ′′x =
−2(− ′b ± ′b 2 − ac )

2a

t−O²�—œ′x , ′′x =
− ′b ± ′b 2 − ac

a

Ë  ′∆ = ′b
2 − ac

t?� v?�U?�“Å—œÅv?K?³?1 ‰u?�d?� ÈU?łÅt?Ð ‰u?�d� s¹« “« Ê«uðÅv� XLuNÝ È«dÐ ¨s¹«dÐUMÐbb?ýUÐ ÃË“ 

 œ—u� —œ t� v³LUD� ÂULð XÝ« sýË— ÆœuL� ÁœUH²Ý«∆UMOŽ ¨bý t²HÖ Î œ—u� —œ ′∆ÆbM�Åv� ‚b> 

 ‰U¦�π‡‡ ‰U¦� ÈÅtLœUF� ∏ÆbOM� qŠ dOš« ‰u�d� “« ÁœUH²Ý« UÐ «— 

  x
2 − 4x + 3 =0

  ′∆ = ′b
2 − ac = 4 − 3 =1

′x , ′′x =
2±1

1
=

 ‰U¦�±∞‡‡tLœUF�   x
2 −18x + 32 =0

 «—ÆbOM� qŠ Ábý t²HÖ ‰u�d� Ëœ d¼ “« ÁœUH²Ý« UÐ

  ∆ =18 ×18 − 4 × 32 =196

′x , ′′x =
18 ± 196

2
=

  ′∆ = 9×9− 32 = 49

  
′x , ′′x =

9± 49
1

=

U?M?O?Ž e?O?� U¼Å»«uł ÆXÝ« dðÅÁœUÝ —UOJÐ ÂËœ ‘Ë— t� œuýÅv� tEŠö�Îl?Lł dÖ« ÆXÝ« vJ¹ 

 U¼Å»«uł “« vJ¹ ¨býUÐ dH> UÐ dÐ«dÐ ÂËœ ÈÅtł—œ ÈÅtLœUF� p¹ V¹«d{±dÐ«dÐ ¨d~¹œ »«uł Ë XÝ« 

 UÐ

c
a

ÆXÝ« 

  a + b + c =0

 v?²?LU?Š s?O?M?Ç —œ  ax
2 + bx + c d?Ð   x −1  X?L?J?1 q?ÐU?1 d?Ö« ÆX?Ý«  ax

2 + bx + cd?Ð «— 

  3
  1

  16
  2

  16
  2



∑∂

  x −1ÅÃ—Uš Ë XÝ« dH> Áb�U� ¨rO¹UL� rOJIð XLJ1Ê¬

  ax − c =0

t−O²�—œx =
c
a

 ‰U¦�±±‡‡ÆbOM� t³ÝU×� «— d¹“ ÈÅtLœUF� »«uł 

  2x
2 − 3x +1=0

  2− 3 +1= 3 − 3 =0

fÄ  ′x =1      
  

′′x =
1
2

≥‡‡±‡‡∂∫ÂËœ ÈÅtł—œ ÈÅt&œUF� ÈU¼Å»«uł »d{ Ë lLł ÅÈÅtł—œ ÈÅtLœUF� ÈU¼Å»«uł dÖ« 

ÆœuýÅv� q>UŠ d¹“ Z¹U²� ¨rOM� »d{ r¼ —œ U¹ Ë lLł r¼ UÐ «— ÂËœ

  
′′x =

−b − b2 − 4ac
2a

 ÅÅÅÅÅËÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  
′x =

−b + b2 − 4ac
2a

U¼ÅtA¹— ŸuL−�′x + ′′x =
−2b
2a

=
−b
a

= S

  
′x × ′′x =

−b + b2 − 4ac
2a

×
−b − b2 − 4ac

2a

U¼ÅtA¹— »d{Åq>UŠ

  
′x × ′′x =

b2 − b2 + 4ac

4a2 =
c
a

= P

łuð t²J� s¹« tÐ U¼ÅtA¹— sOÐ jÐ«Ë— s²J�«œ UÐÒÆbOM� t

  ax
2 + bx + c =0

dÐ «— sO�dÞaÆrOM�Åv� rOJIð ¨XÝ« dH> nLU\� t� ¨

x2 +
b
a

x +
c
a

=0 ⇒  x2 − (
−b
a

)x +
c
a

=0

−b
a

= S              x
2 − Sx + P =0   Ë   

c
a

= P

c
a

 Ë U¼ÅtA¹— »d{ q>UŠ UÐ dÐ«dÐ 

−b
a

ÆXÝU¼ÅtA¹— lLł q>UŠ UÐ dÐ«dÐ 

 ‰U?¦�±≤‡‡ Ê¬ ÈU?¼Åt?A?¹— Ÿu?L?−?� t� bOJ¹uMÐ È«ÅtLœUF� µ Ê¬ ÈU?¼Åt?A¹— »d{ q>UŠ Ë ¥

ÆbýUÐ



∑∑

  x
2 − Sx + P =0

  x
2 − 5x + 4 =0

  ∆ = 25 −16 = 9

  
′x , ′′x =

5 ± 3
2

=

 v¼UÖ  U1Ë« ÂËœ ÈÅtł—œ È«ÅtKLł tÝ t� XÝ« Â“ô  ax2 + bx + cq�«uŽ »d{Åq>UŠ tÐ «— 

ÆrOM� ÁœUH²Ý« d¹“ ‰u�d� “« XÝ« v�U� ¨qLŽ s¹« È«dÐ ÆrOM� t¹e−ð

ax
2 + bx + c = a(x − ′x )(x − ′′x )

  2x
2 − 6x + 4 =0

 ‰U¦�±≥‡‡ ÆbOM� q¹b³ð q�«uŽ »d{Åq>UŠ tÐ «— tLœUF�

  ′∆ = 9− 8 =1

′x , ′′x =
3 ±1

2
=       1

2

ax
2 + bx + c = a(x − ′x )(x − ′′x )

2x
2 − 6x + 4 = 2(x −1)(x −2)

≤‡‡∂ÂËœ ÈÅtł—œ  ôœUF� ÈU¼œdÐ—U� Å

ôu?L?F?� Æ ôu?N−�  U³ÝU×� —œ tKLł “« ¨b�—«œ ÈœU¹“ ÈU¼œdÐ—U� ¨ÂËœ ÈÅtł—œ  ôœUF�Î

tK¾J�  —u> Êœd� q¹b³ð v¼UÖ vLË ̈ XÝ« ÁœUÝ —UOJÐ Ê«“u�¬Åg�«œ È«dÐ ÂËœ ÈÅtł—œ  ôœUF� qŠ

łu?ð d?¹“ ÈU?¼Å‰U?¦?� t?Ð b?¹U?Ð ¨q?J?A?� s?¹« q?Š È«d?Ð ÆbÝ—Åv� dE� tÐ qJA� v�b�« tLœUF� tÐÒË œd?� t

 «— qB� ÊU¹UÄ ÈU¼Ås¹dLð1œÅtÐÒ XÆœ«œ ÂU−�«

ÅÅ‰U¦�±¥‡‡uI�ÅÅ‚—ËÅÅp¹ÅÅ¨vÞu1ÅÅs²šUÝÅÅÈ«dÐÅÅÒÅÅlK{ÅÅtÐÅÅËÅÅlÐd�ÅÅqJýÅÅtÐÅÅ«µÆr¹—«œ —UO²š« —œ d²�Åv²�UÝÅÅÅ

�«Ò XÝ« Â“ô Ë XJO� U� “UO� ÈuÖÅ»«uł «uI� s¹« U≤¥sOOFð Æœuý ÁœËe�« Ê¬ `DÝ tÐ lÐd� d²�Åv²�UÝ 

Ðd� Uð œd� t�U{« b¹UÐ —b1ÅtÇ lÐd� lK{ d¼ ÈÅÁ“«b�« tÐ bOM�ÒUÐ Ê¬ XŠUJ� ·ö²š« t� b¹¬ XÝœ tÐ vF

 vKF� XŠUJ�≤¥Ðd� d²�Åv²�UÝ ÒÆbýUÐ l

uI� XŠUJ�                                              ÒvKF� È«  5 × 5 = 25

Ðd‡� lK{ ‰uÞ dÖ«Ò «— b¹bł l  (x + 5)ÅÅÊ¬ XŠUJ� ¨rOM� ÷d�   (x + 5)(x + 5)¨fÄ ÆXÝ« 

  (x + 5)(x + 5) = 25 +24

  4

  1



∑∏

  x2 +25 +10x = 49

  x2 +10x −24 =0

  ′∆ = 25 +24 = 49

′x , ′′x =
−5 ± 7

1
=       −12

2

ÅÅÅ»«uł t� XÝ« sýË—  −12ÅÅÅjI� Ë XJO� vM²�d¹cÄÅ  x = 2ÅÅ ‰u³1 qÐU1ÆXÝ«

 ‰U¦�±µ‡‡Ë —«b?I?� ‰œUFð XLUŠ—œ ¨býUÐ d¹“ qJý tÐ v¹ôU� ÈU{UIð Ë t{dŽ  ôœUF� dÖ« 

 ÆbOM� sOOFð «— ôU� XLO1 xË ôU� —«bI� d~�UA� y d~�UA� XLO1ÆXÝ« Ê¬

  

(x +12)(y +6) =169

x − y +6 =0




r¹—«œ ÂËœ ÈÅtLœUF� “«  y = x + 6

Ë« ÈÅtLœUF� —œÒ ‰ —«d1rO¼œÅv�  (x +12)(x + 6+ 6) =169

  (x +12)(x +12) =169

  x
2 +24x +144 =169

  x
2 +24x −250=0

  ′∆ =144 +25 =169

′x , ′′x =
−12 ±13

1
=       −25

1

 ÊuÇ XLO1býUÐ vHM� b�«uðÅvL� —«bI� Ë  x =1  ⇒   y = 7

 »«uł jI� ¨fÄ∑ È«dÐ XLO1x = −25   ⇒   y = −19

 Ë± È«dÐ  —«bI� œ—u� ôU� ‰u³1 Ë XÝ« ÈÅtDI�® ‰œUFð∑Ë±ÆXÝ« ©

 ‰U?¦�±∂‡‡ ¨v?K?J?ý Ád¹«œ Ê«bO� XŠUJ� ≥±¥s?¹« X?Ý« Â“ô ¨v?K?¹ôœ tÐ UMÐ ÆXÝ« lÐd�d²� 

ÆœuAÐ dðÅgOÐ b¹UÐ —b1ÅtÇ Ê«bO� ŸUFý bOM� sOF� ÆœœdÖ vKF� l{Ë “« dðÅ¯—eÐ dÐ«dÐ tÝ Ê«bO�

  314 ÷ 3 /14 =100

  100 =10

 Ê«bO� vKF� ŸUFý ¨fÄ±∞ b¹bł Ê«bO� ŸUFý «cL ªXÝ« d²�Å  x +10¨fÄ ÆœuýÅv� ÷d� 

  (x +10)(x +10) × 3 /14 = 314 + 3 × 314

(x
2 +20x +100) × 3 /14 = 314 × 4



∑π

  x
2 +20x +100= 400

  x
2 +20x − 300=0

′∆ =100+ 300= 400

′x , ′′x =
−10±20

1
=       −30

10

  10+10= 20

 t� XÝ« ̀ {«Ë  −30 Ë XJO� vM²�d¹cÄ   x =10  ‰u³1ÅqÐU1dÐ«dÐ Ëœ b¹UÐ Ád¹«œ ŸUFý vMF¹ ÆXÝ«

Æœuý vKF� l{Ë dÐ«dÐ —UNÇ Ê«bO� XŠUJ� Uð œœdÖ

 ‰U¦�±∑‡‡� b�¬—œ ÈÅtDÐ«— qÒÝR� p¹ ÒÊ¬ bOLuð œ«bFð UÐ tJ

  y = −x
2 +9x

 ̈ XÝ« Ê¬ —œ t�yq� b�¬—œ ÒË XÝ« t�U¼U� ‰U¹— ÊuOKO� tÐ hLUšU� xbŠ«Ë ÊuOKO� tÐ ôU� bOLuð œ«bFð 

ÝR?� s¹« dÖ« ÆXÝ« ÁU� —œÒK?� Èb?�¬—œ ¨ÁU� —œ b¼«u\Ð tJÒ UÐ dÐ«dÐ v∏t?Ç ¨b?ýUÐ t²ý«œ ‰U¹— ÊuOKO�Å

øb¹UL� bOLuð b¹UÐ ôU� œ«bFð

  y = −x2 +9x

  8 = −x2 +9x

  −x2 +9x − 8 =0

∆ = 92 − 4× 8 = 81− 32 = 49

′x =
−9+ 7

−2
=

−2
−2

=1 ,  ′′x =
−9− 7

−2
= +8

 »«uł v{U¹— dE� “« tÇ dÖ«∏\A� b�¬—œ p¹ ¨ÊuOKO� p¹ Ë ÊuOKO� ÅÒÝR� È«dÐ «— vBÒtJ

 dE� “« vLË ¨bM�Åv� œU−¹« ÈœUB²1«ÆœuL� bOLuð bŠ«Ë ÊuOKO� p¹ vMF¹ ¨dðÅr� »«uł UÐ b¹UÐ

 ‰U¦�±∏‡‡ d?Ö« xð tÐ ôU� —«bI� Ô Ë sy  X?LO1 Ë —«b?I� b¼œ ÊUA� «— ‰U¹— —«e¼ tÐ ôU�X?LO1

ÆbOM� «bOÄ «— d¹“ ÈU{UIð Ë t{dŽ  ôœUF� È«dÐ ‰œUFð

  x
2 + 5x − y +1=0

  2x2 + y −9 =0

  

y = x2 + 5x +1

y = −2x2 +9









∏∞

  x2 + 5x +1= −2x2 +9

  2x2 + x2 + 5x +1= 2x2 −2x2 +9

  3x2 + 5x +1= 9

  3x
2 + 5x +1−9 = 9−9

  3x2 + 5x − 8 =0

  ∆ = 25 +96 =121

  
x =

−5 ± 121
6

=       
′x =1

   ′′x =
−8
3

 Ê¬ jI� qzUJ� t�uÖÅs¹« —œ t�Ås¹« tÐ tłuð UÐ XLJ1  ôœUF� “« ‰u³1ÅqÐU1Ë« lÐ— —œ t� XÝ«Ò‰

 l1«Ë fÄ ¨býUÐ Ábý jI� »«uł  x =1  ‰u³1ÅqÐU1 Ë XÝ«

  
x =

−8
3

  ‰u³1ÅqÐU1ÆXJO�

fÄ  y = −2x2 +9

  y = −2+9 = 7

  y = 7

 vMF¹ XLO1∑ —«bI� Ë ‰U¹— —«e¼ ±ð Ô s ‰u³1ÅqÐU1ÆXÝ«

 ‰U¦�±π‡‡ dÖ« xð tÐ ôU� —«bI� Ô Ë sy  X?LO1 Ë —«bI� ¨b¼œ ÊUA� «— ‰U¹— —«e¼ tÐ ôU�XLO1

ÆbOM� «bOÄ «— d¹“ ÈU{UIð Ë t{dŽ  ôœUF� È«dÐ ‰œUFð

(x +12)(y +6) =169

  x − y +6 =0

  y = x +6

  (x +12)(x +6 +6) =169

  (x +12)(x +12) =169

x2 +144 +24x =169

x2 +24x +144 −169 =169 −169

  x2 +24x −25 =0

XÝ« dH> V¹«d{ lLł ÊuÇ  (x −1)(x +25) =0



∏±

  ′x =1          ′′x = −25

 jI� fÄ  x =1  ‰u³1ÅqÐU1ÆXÝ«

  y = x +6

  y =1+6

  y = 7

 vMF¹ XLO1∑ —«bI� Ë ‰U¹— —«e¼ ±ð Ô s ‰u³1ÅqÐU1ÆXÝ«

 ‰U¦�≤∞‡‡ dÖ« xð tÐ ôU� —«bI� Ô Ë sy  X?LO1 Ë —«bI� ¨b¼œ ÊUA� «— ‰U¹— —«e¼ tÐ ôU�XLO1

ÆbOM� «bOÄ «— d¹“ ÈU{UIð Ë t{dŽ  ôœUF� È«dÐ ‰œUFð

  2x + y −10=0

  y
2 − 8x − 4 =0

  y = −2x +10

  (−2x +10)2 − 8x − 4 =0

4x2 +100− 40x − 8x − 4 =0

4x2 − 48x +96 =0

  x2 −12x +24 =0

  
x =

6 ± 6 ×6 −24×1
1

=
6 ± 36 −24

1
= 6 ± 12

  x = 6 ±2 3

«d¼UþÎ »«uł Ëœ d¼  ‰u³1ÅqÐU1ÆXÝ«

 b¹UÐ ‰UŠyœuL� vÝ—dÐ «— 

  x = 6 +2 3

  y = −2(6 +2 3 ) +10

  y = −12 − 4 3 +10

  y = −2− 4 3

 »«uł s¹« ‰u³1ÅqÐU1XJO�

  x = 6 −2 3 ≈ 2 / 5



∏≤

  y = −2(6 −2 3 ) +10

  y = −12 + 4 3 +10

  y = −2+ 4 3 ≈ 4 / 9

 »«uł s¹« ‰u³1ÅqÐU1XÝ«

 fÄ  x ≈ 2 / 5 Ë   y ≈ 4 / 9  ‰u³1ÅqÐU1ÆXÝ«

rA
 qB� ÈU�Ås�dL�

 ±\A� «— »«uł ¨b�—«œ »«uł t� vð—u>—œ Ë bO¹UL� qŠ «— d¹“  ôœUF� ‡‡ÒÆbOM� h

  11x2 − 7x +2 =0

  3x2 +6x −11=0

  7x2 −9x +2 =0

  x2 − 3x +10=0

  x2 + x + 7 =0

  5x2 − 3x −2 =0

  x2 +6x − 7 =0

≤»«u?ł È«—«œ  ôœU?F?� ÈU?¼Å»«u?ł »d?{ q?>U?Š Ë l?Lł q>UŠ ¨ ôœUF� qŠ ÊËbÐ ‡‡

 s¹dLð±ÆbOM� tJ¹UI� U¼Å»«uł UÐ fáÝ ¨t³ÝU×� «— 

≥ vL«u²� `O×> œbŽ Ëœ »d{ q>UŠ ‡‡ ∑≤ÆbOM� «bOÄ «— œbŽ Ëœ Ê¬ ¨XÝ« 

¥Ðd� ŸuL−� ‡‡ÅÒ vL«u²� `O×> œbŽ tÝ  UF±±∞ÆbOM� sOOFð «— œ«bŽ« Ê¬ ÆXÝ« 

µ dÖ« t� XÝ« ÈœbŽ tÇ Ê¬ ‡‡≥µÐd� UÐ dÐ«dÐ q>UŠ ¨œuý ÁœËe�« Ê¬ dÐ«dÐ Ëœ tÐ bŠ«ËÅÒÊUL¼ l

øœœdÖ œbŽ

∂ Ÿu?L−� ‡‡Å ÂU1—« Ëœ œbŽ p¹Åv?L1—±∞ Ë XÝ«  r1— Ê¬ ÊU~¼œ¥ l?Ðd� “« dðÅgOÐ bŠ«ËÅr1—

ÆbOM� «bOÄ «— œbŽ Ê¬ ÆXÝ« Ê¬ ÊUJ¹

∑XÝ« VOðdð s¹« tÐ ¨tJÝR� p¹ È«dÐ bOLuð  U�UJ�« ÈÅtDÐ«— ‡‡  9y + x
2 = 225

 ÈôU� b�«uðÅv� XÐUŁ ÈbOLuð  U�UJ�« s²ý«œ UÐ tJÝR� s¹«xÈôU� U¹ ybOLuð «— ËœÅd¼ “« v³O�dð U¹ 

○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○ ○



∏≥

ð bŠ«Ë VJŠdÐ ôU� d¹œUI� Æb¹UL�ÔÝR� s¹« dÖ« bOM� sOOFð ÆXÝ« sÒ ÈôU� “« b¼«u\Ð tJy ¨±∂ð Ôs

 ¨b¹UL� bOLuð —œU1ð bMÇ bOLuð tÐÔÈôU� “« sxøœuÐ b¼«uš 

∏ÅÅÅÅ v?¹ôU� ÈÅt{dŽ ÈÅtDÐ«— ‡‡  y = 2x
2 − 4x +2Ê¬ —œ t� XÝ« y  X?LO1Ë ‰U¹— —«e¼ tÐx

 —œ b?O?M?� s?OOFð ÆXÝ« ÁU� —œ uKO� ÊuOKO� tÐ ôU� —«bI� XLO1∏—«“U?Ð t?Ð ôU� —«bI� tÇ ¨‰U¹— —«e¼ÅÅÅ

øœœdÖÅv� t{dŽ

π� ÈÅt?M?¹e?¼ ÈÅt?D?Ð«—Å ‡?‡q?ÒO?G?²?� ÈÅt?M?¹e?¼ ÈÅÁËö?ŽÅt?Ð X?ÐU?ŁÅ ÈÅt?M?¹e?¼®Å ÒÈb?O?Lu?ð ÁU?~?M?Ð p?¹Å©d

  
y =

1
10

x
2 + 6x +200 Ê¬ —œ t� XÝ« yË ‰U¹— —«e¼ Áœ tÐ q� ÈÅtM¹e¼ xð tÐ ôU� —«bI� ÔÆXÝ« s

 bOM� sOOFð v²1Ë dÐ«dÐ ÁU~MÐ q� ÈÅtM¹e¼∂ ¨býUÐ ‰U¹— ÊuOKO�ÅÅÅÅ —«bI� ÁU~MÐ bOLuð —b1ÅtÇøXÝ«

±∞ v?²?�U?Ä ê?Ö Èb?O?Lu?ð X?�dý p¹ q� tM¹e¼ ÈÅtDÐ«— ‡‡y =
1
5

x2 +2x + 3 d?Ö« ÆXÝ« y

 Ë ‰U¹— —«e¼ Áœ tÐ q� ÈÅtM¹e¼xð tÐ ÈbOLuð êÖ —«bI� Ôt�Uš—U� q� ÈÅtM¹e¼ t� v�U�“ bOM� sOOFð ̈ býUÐ s

∞∞∞\±∏∞øXÝ« —«bI� tÇ bOLuð —«bI� býUÐ ‰U¹— 

±±  —u>ÅtÐ Ê¬ bOLuð œ«bFð UÐ X�dý p¹ q� b�¬—œ ÈÅtDÐ«— ‡‡  y = −x2 +6x—œ t� ¨XÝ« 

 Ê¬y Ë ‰U¹— ÊuOKO� tÐ q� b�¬—œ xb?¼«u\Ð X�dý d¹b� dÖ« ÆXÝ« bŠ«Ë ÊuOKO� tÐ ôU� bOLuð œ«bFð 

 UÐ dÐ«dÐ ¨vK� Èb�¬—œπøb¹UL� bOLuð b¹UÐ ôU� œ«bFð tÇ ¨býUÐ t²ý«œ ‰U¹— ÊuOKO� 

±≤ v²�dý q� ÈÅtM¹e¼ ÈÅtDÐ«— dÖ« ‡‡  y = x2 − 3x + 7 býUÐ ®Å y‰U¹— ÊuOKO� tÐ q� ÈÅtM¹e¼

 Ëx X�dý ÈÅtM¹e¼ Uð œœdÖ bOLuð b¹UÐ ôU� œ«bFð tÇ ¨©XÝ« bOLuð œ«bFð µøbýUÐ ‰U¹— ÊuOKO� 

±≥‡‡ v??²??�d??ý b??�¬—œ ÈÅt??D??Ð«—   TR = 20x − 5x2
X???�d??ý Ê¬ q??� ÈÅt??M??¹e??¼ ÈÅt??D??Ð«— Ë 

  Tc =10x +6x2
«— bOLuð —«bI� ¨býUÐ tł«u� vLU¹— ÊuOKO� p¹ ÊU¹“ UÐ X�dý t�Åvð—u>—œ ÆXÝ« 

ÆbOM� sOOFð bŠ«Ë ÊuOKO� tÐ

±¥ v?²?�d?ý q?� ÈÅt?M?¹e¼ ÈÅtDÐ«— ‡‡Tc = 3x2 +20x − 50X?�d?ý Ê¬ q?� b?�¬—œ tDÐ«— Ë 

  TR = 30x − x2
ÆdÝÅtÐÅdÝ ÈÅtDI� —œ bOLuð œ«bFð XÝ« »uKD� ÆXÝ« 

±µ qOD²J� qJý tÐ È«ÅÁ“UG� jO×� ‡‡≥¥ UÐ dÐ«dÐ Ê¬ XŠUJ� Ë d²� ∂∞‰uÞ ÆXÝ« lÐd�d²� 

ÆbO¹UL� t³ÝU×� «— Á“UG� s¹« ÷dŽ Ë

±∂ v?KJý lÐd� —U³�« lK{ ÈÅÁ“«b�« ‡‡±∞t?� X?Ý« “UO� Ë XJO� v�U� Ê¬ XŠUJ� ÆXÝ« d²� 

 ¨q?� —œ Uð bÐU¹ g¹«e�« Á“«b�« p¹ tÐ ·dÞ d¼ “« lÐd� Ÿö{«¥¥Æœœd?Ö ÁœËe�« Ê¬ `DÝ tÐ lÐd�d²� 

ÆbOM� t³ÝU×� «— ·dÞ d¼ “« g¹«e�« —«bI�



ÅÅÅ∏¥

r²H¼ qB�

ÊUMO
dðœ Ë f¹dðU


∫È—U²�— ÈU¼Å·b¼∫œË—Åv� —UE²�« Áb�dOÖ«d� “« ¨qB� s¹« ÊU¹UÄ —œ 

±Æb¼œ ÊUA� «— U¼Åf¹dðU� d³ł Ë bM% ÊUOÐ «— Ê¬ ÈU¼œdÐ—U%Ë Ÿ«u�« ¨f¹dðU� ‡‡Å

≤O?.uBš ¨U¼Åf¹dðU� lLł ‡‡ÅÒ«— Ê¬ œdÐ—U% Ë œbŽ —œ f¹dðU� »d{ ¨U¼ÅÊ¬  U

Æb¼œ `O{uð

≥Æb¼œ ÂU$« «—ÅÊ¬ œdÐ—U% Ë U¼Åf¹dðU� »d{ ‡‡ 

¥’«uš Ë bM% t³ÝU×� «—ÅÊ¬ —«bI� Ë n¹dFð «— ÊUMO�dðœ ‡‡ÅÒÆb¼œ `O{uð «—ÅÊ¬ 

µÆb¼œ ÂU$« qzUE� —œ «—ÅÊ¬ œdÐ—U% Ë tÝ —œ tÝ Ë Ëœ —œ Ëœ f¹dðU� ”uJF� ‡‡ 

∑ÊUMO
dðœ Ë f¹dðU
 ‡‡

t
bI


O{U¹— dðÅÁœUÝ rN� È«dÐÒf¹dðU� tKLłÅÊ¬ “« ÆœuýÅv� ÁœUH²Ý« v¹U¼œ«œ—«dM Ë U¼œU/ “« v¼UÖ ̈   U

qŠ —œ U� tÐ t% XÝ«ÒÆbM% pL%  öJA� “« È—UOEÐ 

ö?¦�ÎÈËd?O?� q?¦?� ¨v?¹U?¼ÅX?¹œËb?×?� t‡‡Ð t‡łu‡ð UÐ ¨X%dý p¹ œuÝ Êb�UÝ— d¦%«b‡Š tÐ È«dÐ 

È«dÐ U¹ œd% ÁœUH²Ý« f¹dðU� “« Ê«uðÅv� ̈ U{UIð Ë t{dŽÅ¨tOUË« œ«u�Å¨vJ�UÐ  «—U³²Ž«Å¨—U% XŽUÝÅ¨v�UE�«

—U?%Åt?Ð f?¹d?ðU?� ”u?J?F?� Ë f?¹d?ðU?� v?²UËœ tEÝR� p¹ U¹ ÊU²Ý—ULOÐ p¹ ÈÅtM¹e¼ Êb�UÝ— qM«bŠ tÐ

f?¹d?ðU?� Å¨f?J?K?á?L?O?Ý Å¨v?D?š Èe?¹—Åt?�U?�dÐ “« v²UËœ Ë v.uBš ÈU¼ÅÁU~MÐ d¦%« —œ Á“Ëd�« ÆœË—Åv�

¨X?Ý« f?¹dðU� U¼ÅÊ¬ ÈÅtL¼ ÈU³HU« t% ¨qI� Ë qLŠ Ë —U% vBOB[ð ‰b�Å ¨tJ³ý ‰b� Ë ÈdOÖÅrOLBð

ÆœœdÖÅv� Ê«Ë«d� ÁœUH²Ý«



ÅÅÅ∏µ

 ÈU¼Åq×� —œ —U³�« tÝ Ê«d¹« XH� X%dý bOM% ÷d� ̈ ‰U¦� È«dÐA ̈BË Cs¹eMÐ éLÄ tÝ Ë œ—«œ 

 d?Ö« Æb?�u?ý t¹cGð U¼—U³�« s¹« o¹dÞ “« b¹UÐ  P1 ¨  P2 Ë   P3 Ë b?MýUÐ s¹eMÐ ÈU¼ÅéLÄ  ÈÅt?K.U�Uð U¼ÅÊ¬

∫býUÐ d¹“ ÕdýÅtÐ —uÐe� ÈU¼—U³�«

ÈÅtK.U�AUð  P1¥∞XÝ« d²�uKO%

ÈÅtK.U�AUð  P2≤µXÝ« d²�uKO%

ÈÅtK.U�AUð  P3≤∞XÝ« d²�uKO%

ÈÅtK.U�BUð  P1≥∞XÝ« d²�uKO%

ÈÅtK.U�BUð  P2±µXÝ« d²�uKO%

ÈÅtK.U�BUð  P3≥µXÝ« d²�uKO%

ÈÅtK.U�CUð  P1±µXÝ« d²�uKO%

ÈÅtK.U�CUð  P2≥∞XÝ« d²�uKO%

ÈÅtK.U�CUð  P3¥µXÝ« d²�uKO%

“« týËd% ÈUłÅtÐ U¼Å»U²% “« vCFÐ —œÆrO¼œ ÊUA� qJý s¹«ÅtÐ È«ÅtýËd% —œ rO�«uðÅv� «—  UŽöÞ« s¹«

ÆœœdÖÅv� ÁœUH²Ý« r¼ e²�«dÄ

A

B

C   

40   25    20

30   15    35

15    30   45

 

!

.

.

.

#

.

%
%
%

×�qÒU� ¨r¹UM Ë vI�« ◊uDš vMöð —U³�« ÈÅtK.Æb¼œÅv� ÊUA� «— s¹eMÐ éLÄ Uð 

¹«bŽ« ÈÅt¹«—¬ sMœ d?¹“ q?Jý —œ œ«bŽ« “« È«Åt¹«—¬ tÐ ÆXÝ« f¹dðU� p¹ “« vUU¦� œ«Òb?OM% XÆ

ÆbM�U�Åv� f¹dðU� p¹ «— U¼Åt¹«—¬ s¹« “« Â«b%d¼

  

A =
5    1

0    2

 

!
.
.

#

.
%
%

     
B =

2

3

 

!
.
.

#

.
%
%

     C = 1   3    5    7    9& .

  P1   P2    P3



ÅÅÅ∏∂

   

  

D =

0   1   2

1   0   4

2   2  5

 

!

.

.

.

.

#

.

%
%
%
%

      

  
E =

1 3 2 4

3 5 1 2
 
!.

#
.%

 f?¹d?ðU?� b?M�U� bM¼œÅv� ÊUA� sOðô ÈU³HU« ¯—eÐ ·ËdŠ UÐ «— f¹dðU� d¼ ÂU�A ¨B¨C ¨D ¨E

Æ ÆÆÆÅË

±Å‡‡Å∑f¹dðU
 p¹ dDÝ Å

ÆbM�U�Åv� f¹dðU� uCŽ p¹ U¹ ÈÅt¹«—œ p¹ «— týËd% qš«œ œ«bŽ« “« p¹d¼

š p¹ œ«b²�« —œ t% «— v¹U¼ÅÅt¹«—œjÒ bM�U� ÆbM�U�Åv� f¹dðU� dDÝ p¹ ¨b�dOÖ —«dM vI�« ∂ ¨Åµ¨

≤ U¹ ¨± ¨Å≤ ¨Å∞ U¹ ≥ ¨Å∞ ¨Å± f¹dðU� —œ .A

  

A =
2 5 6

0 2 1

1 0 3

 

!

.

.

.

#

.

%
%
%

≤Å‡‡Å∑f¹dðU
 p¹ Êu²Ý Å

jš p¹ œ«b²�« —œ t% ¨«— v¹U¼ÅÅt¹«—œÒ bM�U� ¨bM�U�Åv� f¹dðU� Êu²Ý p¹ ¨b�dOÖ —«dM r¹UM 

  
0
1

2
 U¹ 

  
2
0

5

 U¹

  
1
3

6
 f¹dðU� ÊUL¼ —œ AÆ

 È«—«œ f¹dðU� s¹« ¨s¹«dÐUMÐ≥ Ë dDÝ ≥ÆXÝ« Êu²Ý 

 X?Ý« vN¹bÐ∂ ¨Åµ ¨Å≤Ë« d?DÝ «— Ò ¨‰± ¨Å≤ ¨Å∞ Ë ÂËœ dDÝ «— ≥Å ¨Å∞ ¨Å±Âu?Ý dDÝ «— f?¹dðU� 

ÆbM�U�Åv�

 sOMÇÅr¼

  
0
1

2
« Êu²Ý «— ËÒ ¨‰

  
2
0

5
 Ë  ÂËœ Êu²Ý «— 

  
1
3

6
ÆbM�U�Åv� ÂuÝ Êu²Ý «— 

 bM�U� vE¹dðU� tÐA t% ¨m Ë dDÝ n f¹dðU� p¹ ¨býUÐ t²ý«œ Êu²Ý m —œ nË œuýÅv� t²HÖ 

  —u.ÅtÐ «—ÅÊ¬Am×nÆbM¼œÅv� ÊUA� 



ÅÅÅ∏∑

‰Ë« Êu²Ý   ÂËœ Êu²Ý     ÂuÝ Êu²Ý                                                  

« dDÝËÒ‰

 ‰U¦
±‡‡Åf¹dðU� 

ÂËœ dDÝ

 f¹dðU� p¹ «—≤ —œ ≥ÆbM�U�Åv�           A2×3

‰U¦
≤‡‡Åf¹dðU�            B =  1   2   3   4& .
ÆXÝ« —UNÇ —œ p¹ f¹dðU� p¹           B1×4

≥Å‡‡Å∑Åt¹«—œ ”—œ¬ Å

ôuLF� Åt¹«—œ d¼ÎÆœuýÅv� Áœ«œ ÊUA� sOðô ÈU³HU« pÇu% ·dŠ UÐ 

Åt¹«—œ d¼ ”—œ¬ ÁËöŽÅtÐÆrOE¹u�Åv� Ê¬ —UM% —œ f¹b�«  —u.ÅtÐ «— 

ÅÅt?¹«—œ Êu?²?Ý ÈÅÁb?M?¼œÅÊUA� Ê¬ XÝ«—Å XLÝÅ rM— Ë Åt¹«—œ ÅdDÝ ÈÅÁbM¼œÅÊUA� éÇ XLÝ rM—

Æœ—«œ f¹dðU� —œ Åt¹«—œ Ê¬ t% v�u²Ý Ë dDÝ “« XÝ«  —U³Ž Åt¹«—œ d¼ ”—œ¬ d~¹œ  —U³ŽÅtÐ ÆXÝ«

 ‰U¦
≥‡‡Å  f¹dðU� —œA f¹dðU� p¹ t% ¨  2× 3 ÈÅt¹«—œ ”—œ¬ ¨XÝ«≥[A� «— ÒÆbOM% h

  

A =
1 3 4

2 1 5

 

!
.
.

#

.
%
%

                          a12 = 3

K?%—uÞÅtÐÒv  —u?.ÅtÐ Åt¹«—œÅ d¼ ¨aij d?D?Ý ÈÅt?¹«—œ ÈÅÁbM¼œÅÊUA� t% œuýÅv� Áœ«œÅÊUA� iË Â«Å

 Êu²ÝjÆXÝ« f¹dðU� Â«Å

i Ë jÆbM²E¼ vFO³Þ œ«bŽ« “« 

¥Å‡‡Å∑Ðd
 f¹dðU
 vK.« dD/ ÅÒl

 Ê¬ —œ t% v¹U¼ÅÅt¹«—œ —œ ¨f¹dðU� p¹ —œ dÖ«i=j býUÐ MœÒ% X[?A� ¨rOMÒv~L¼ t% œuýÅv� h

ÆbM�U�Åv� lÐd� f¹dðU� vK.« dDM «— Ê¬ Ë b�«Åt²�dÖ —«dM XÝ«— jš p¹ ÈË— U¼ÅÅt¹«—œ s¹«

 ‰U¦
¥‡‡ d� f¹dðU� —œ Ð
Ò

 l  4× 4

  

A =

1 2 3 1

4 2 5 1

0 1 2 3

2 3 4 3

 

!

.

.

.

.

#

.

%
%
%
%

A  =   
2             7                 1

4              0                3

 

!
.
.

#

.
%
%



ÅÅÅ∏∏

  a11 ¨  a22¨  a33Ë   a44 ∫“« b�«Å —U³Ž VOðdð tÐ t% bM¼œÅv� qOJAð «— vK.« dDM ± ¨Å≤ ¨Å≤ËÅ≥Æ

`O{uð©ÅÊu²Ý Ë dDÝ q×�Å® U¼ÅÊ¬ ”—œ¬ t% bM¹uÖ dþUM²� v�U�“ «— f¹dðU� Ëœ “« Åt¹«—œ Ëœ ∫

ÆbýUÐ vJ¹

µÅ‡‡Å∑U¼Åf¹dðU
 Ÿ«u6« Å

±Å‡‡ÅµÅ‡‡ÅÅÅÅ∑∫dH. f¹dðU
 ÅOK% t% vE¹dðU� tÐ ÒÆbM¹uÖ dH. f¹dðU� ¨býUÐ dH. Ê¬ ÈU¼Åt¹«—œ t

 ‰U¦
µ‡‡ÅÅÅ f¹dðU� A Ë B Ë CÆbM²E¼ dH. f¹dðU� “« È«Åt�u/ 

≤ÅÅÅ‡‡ÅµÅ‡‡ÅÅÅ∑∫lÐd
 f¹dðU
 Å f¹dðU� p¹ —œÅdÖ« m × n rOýUÐ t²ý«œ m = n«— f¹dðU�Å s¹« ̈

f?¹dðU�Ðd� Ò t?³ðd� ln U¹ mË U?¼d?D?Ý œ«b?F?ð t?% XÝ« vE¹dðU� lÐd� f¹dðU� ¨d~¹œ  —U³Ž tÐ ÆbM¹uÖ 

dÐ«dÐ r¼ UÐ Ê¬ ÈU¼ÅÊu²ÝÆbMýUÐ 

 ‰U¦
∂‡‡  f¹dðU�   C2×2Ðd� f¹dðU� p¹ ÒÆXÝ« l

  
C =

2 1

0 3
 
!.

#
.%

 ‰U¦
∑‡‡  f¹dðU�   D3×3Ðd� f¹dðU� p¹ ÒÆXÝ« l

  

D =
1 0 2

3 1 2

1 0 1

 

!

.

.

.

#

.

%
%
%

≥ÅÅÅ‡‡Åµ ‡‡ÅÅÅ∑ ∫ÈdDÝ f¹dðU
 Å f¹dðU� p¹ —œ dÖ«m × n rOýUÐ t²ý«œ   m =1f¹dðU�  s¹« ¨

ÆbM�U�Åv� ÈdDÝ f¹dðU� «—

 ‰U¦
Å∏‡‡Å  f¹dðU� EÆbM¹uÖ ÈdDÝ f¹dðU� p¹ «— 

  E = 2 1 5& .
¥ÅÅÅ‡‡ÅµÅ‡‡ÅÅÅ∑∫v6u²Ý f¹dðU
  f¹dðU� p¹ —œ dÖ« m × n rOýUÐ t²ý«œ   n =1«— f¹dðU� s¹« ̈

ÆbM�U�Åv� v�u²Ý f¹dðU�

 ‰U¦
π‡‡  f¹dðU� FÆbM�U�Åv� v�u²Ý f¹dðU� p¹ «— 

  

F =

3

2

1

5

 

!

.

.

.

.

#

.

%
%
%
%

  
A =

0 0

0 0
 
!.

#
.%   

B =
0 0 0

0 0 0
 
!.

#
.%   C = 0 0& .



ÅÅÅ∏π

µÅÅ‡‡Åµ‡‡ÅÅ∑∫v?¦?K¦
 ôUÐ f¹dðU
 v?K?.« d?DM d¹“ ÈU¼ÅÅt¹«—œ ÈÅtOK% Ê¬ —œ t% vFÐd� f¹dðU� tÐ 

ÆbM¹uÖÅv� v¦K¦� ôUÐ f¹dðU� bMýUÐ dH.

 ‰U¦
±∞‡‡  f¹dðU� MÆbM¹uÖ v¦K¦�ôUÐ f¹dðU� p¹ «— 

  

M =
1 2 3

0 6 2

0 0 1

 

!

.

.

.

#

.

%
%
%

∂ÅÅ‡‡Åµ‡?‡ÅÅÅÅ∑∫v?¦?K?¦
 sO¹UÄ f¹dðU
 d?D?M ÈôU?Ð ÈU?¼ÅÅt?¹«—œ ÈÅtOK% Ê¬ —œ t% vFÐd� f¹dðU� tÐ 

ÆbM¹uÖ v¦K¦� sO¹UÄ f¹dðU� bMýUÐ dH. vK.«

 ‰U¦
±±‡‡  f¹dðU� NÆbM¹uÖ v¦K¦� sO¹UÄ f¹dðU� p¹ «— 

  

N =
2 0 0

1 3 0

4 1 2

 

!

.

.

.

#

.

%
%
%

∑ÅÅÅ‡‡ µÅ‡‡ÅÅÅ∑∫ÈdD/ f¹dðU
 ÅÐd� f¹dðU� tÐ ÒvK.« dDM ÈË— ÈU¼ÅÅt¹«—œ ełÅtÐ Ê¬ ÈU¼ÅÅt¹«—œ t% vF

 f¹dðU� bM�U� ¨bM¹uÖ ÈdDM f¹dðU� ¨bMýUÐ dH.BÆ

  

B =
1 0 0

0 2 0

0 0 1

 

!

.

.

.

#

.

%
%
%

∏ÅÅÅ‡‡ÅÅµÅ‡‡ÅÅÅ∑∫b?Š«Ë f¹dðU
 ÅÊ¬ v?K?.« d?DM ÈË— ÈU¼ÅÅt¹«—œ tOK% t% XÝ« ÈdDM f¹dðU� p¹ 

ôu?LF� ÆœuýÅv� t²HÖ eO� v�UJ¹ f¹dðU� ¨bŠ«Ë f¹dðU� tÐ ÆbýUÐ p¹Î U?Ð «— ©v�UJ¹® bŠ«Ë f¹dðU� In

 Ê¬ —œ t% bM¼œÅv� ÊUA�n f¹dðU� bM�U� ¨XÝ« f¹dðU� ÈU¼ÅÊu²Ý U¹ U¼dDÝ œ«bFðÅÅ  I3Æ

  

I3 =
1 0 0

0 1 0

0 0 1

 

!

.

.

.

#

.

%
%
%

∂‡‡Å∑Ê«œdÖdÐ U¹ ÁœUN6«dð f¹dðU
 

ÅÅÅbM�U� f¹dðU� p¹ ÈU¼ÅÊu²Ý Ë U¼dDÝ ÂU9 ÈUł ÁUÖd¼ AÈb¹bł f¹dðU� rOM% ÷uŽ r¼ UÐ «—

 f?¹d?ðU?� ÈÅÁœUN�«dð f¹dðU� «— Ê¬ t% b¹¬Åv� XÝœÅtÐA  —u?. t?Ð Ë bM�U�Åv� (A U¹(At )Áœ«œ g¹U/ 

ÆœuýÅv�



ÅÅÅπ∞

 ‰U¦
±≤‡‡  f¹dðU� Ê«œdÖdÐ U¹ ÁœUN�«dð 

  
A =

2 3 1 4

5 8 7 6
 
!.

#
.%

Æb¹—Ë¬ XÝœÅtÐ «— 

  

  

(A    A
t =

2 5

3 8

1 7

4 6

 

!

.

.

.

.

.

.

#

.

%
%
%
%
%
%

∑Å‡‡Å∑ÈËUC
 f¹dðU
 Ëœ Å

ôË« t?% b?M?¹u?Ö d~¹bJ¹ ÈËUE� v�U�“ «— f¹dðU� ËœÎU?O�UŁ ¨U¼dDÝ œ«bFð ÎU?¦?UUŁ ¨U¼ÅÊu²Ý œ«bFð Î

 v?M?F?¹ ¨b?M?ýU?Ð ÈËU?E?� f?¹d?ðU?� Ëœ d?¼ dþUM²� ÈU¼ÅÅt¹«—œ  a11 = b11 Ë   a12 = b12 Ë   a22 = b22Ë 

  a21 = b21ÆÆÆÆ Ë 

 ‰U¦
±≥‡‡  f¹dðU� Ëœ A Ë B«d¹“ ªbM²E¼ ÈËUE� r¼ UÐ 

 f¹dðU� Ëœ d¼  2×2ÆbM²E¼ ÈËUE� r¼ UÐ dþUM²� ÈU¼ÅÅt¹«—œ Ë bMýUÐÅv� 

   

  
1= 3

3
 

  
2 = 6

3

   

  
3 = 9

3
   4 = 2×2

∏Å‡‡ÅÅ∑U¼Åf¹dðU
 lLł Å

łuð b¹UÐ
Ò

ÈU¼ÅÊu²Ý Ë U¼dDÝ œ«bFð t% b�uý lLł r¼ UÐ bM�«uðÅv� vð—u.—œ f¹dðU� Ëœ Xý«œ t

Æœu/ lLł r¼ UÐ «— U¼ÅÊ¬ Ê«uðÅv/ ¨ —u.Ås¹« dOž—œ ÆbMýUÐ ÈËUE� r¼ UÐ Ëœ d¼

Am×n + Bm×n = Cm×n

ÆXÝ« f¹dðU� p¹ œuš ¨f¹dðU� Ëœ ŸuL−� q.UŠ

 ‰U?¦
±¥‡‡  f?¹dðU� A È«—«œ t?% ¨ ≤ Ë dDÝ ≥ f?¹d?ðU?� UÐ ¨XÝ« Êu²Ý BÈ«—«œ e?O� Ê¬ t% 

  
A =

1 2

3 4
 
!.

#
.%

  

B =
 
3
3

       
6
3

 
9
3

     2×2

 

!

.

.

.

.

#

.

%
%
%
%

U¹



ÅÅÅπ±

≤ Ë d?DÝÅ≥ f?¹d?ðU?� v?UË ¨bM²E¼ Êœd% lLł qÐUM ¨XÝ« Êu²Ý A UÐ C«d?¹“ ¨œu?/ lLł Ê«uðÅv/ «— 

 f¹dðU�C È«—«œ ¨≥ Ë dDÝ ≥ÆXÝ« Êu²Ý 

 f¹dðU� Ëœ dÖ«A Ë B ¨m × n f¹dðU� p¹ eO� U¼ÅÊ¬ ŸuL−� ¨bMýUÐm × n bM�U� C¨XÝ« 

 —œ ‘dþUM²� ÈU¼Åt¹«—œ ŸuL−� ÈËUE� Ê¬ ÈÅt¹«—œ d¼ t% È—uÞÅtÐA Ë BÆXÝ« 

 ‰U¦
±µ‡‡  f¹dðU� Ëœ ŸuL−� A Ë BÆb¹—Ë¬ XÝœÅtÐ «— 

 f¹dðU�Å Ëœ Åd¼ ÊuÇ  2× 3 f¹dðU� ¨t−O²� Ë XÝ« v�bý U¼ÅÊ¬ lLł fÄ ¨bMýUÐÅv�CœuýÅv� 

 f¹dðU� p¹ t%  2× 3ÆXÝ« 

 ‰U?¦
±∂‡‡Ýu?²?� ¨p?Çu?‡?% ÈU?¼År?−?Š U‡Ð «— dUu% Ÿ«u�« v²%dý 
Ò

ÈU?¼Å‰b?‡� —œ ¯—e‡Ð Ë j

« ÈÅt¼U� gý —œ Ê¬ bOUuð dÖ« Æb¹U/Åv� bOUuð f%uU Ë ÈœUŽËÒ¨býUÐ d¹“ ‰Ëbł VOðdðÅtÐ ‰UÝ ÂËœ Ë ‰

ÆbM%Åv� bOUuð nK²[� Ÿ«u�« Ë U¼År−Š UÐ dUu% bMÇ ‰UÝÅp¹ —œ X%dý bOM% sOOFð

                               ýg 
U¼tÅÈ «ËÒ‰                    ýg 
U¼tÅÈ œËÂ

Š−r JuKd     ÅÅ6uŸ ŽUœÈ    6uŸ KuJf    6uŸ ŽUœÈ     6uŸ KuJf

A + B = C%uÇp≤∑∞∞      ÅÅÅÅ ≤∞∞∞        ±¥∞∞Å        ÅÅ±∂∞∞ÅÅ

�²uÝj¥≥∞∞      ÅÅÅ ¥±∞∞       ÅÅ ≤±∞∞        ≤∞∞∞

Ðe—¯µ≤∞∞      ÅÅÅÅ ±µ∞∞       ÅÅÅÅÅ¥∞∞∞        ±±∞∞∞

 f¹dðU�A« ÈÅt¼U�Ågý —œ bOUuð «— Ë
Ò

 f¹dðU� Ë ‰B÷d?� ‰UÝ ÂËœ ÈÅt¼U�Ågý —œ bOUuð «— 

ÆrOM%Åv�

A =
1 2 3

2 0 1

 

!
.
.

#

.
%
%

 B =
3 1 2

1 0 2

 

!
.
.

#

.
%
%

 . A + B =
1+ 3 2+1 3 +2

2+1 0+0 1+2

 

!
.
.

#

.
%
%

  

A =
2 1 0

1 2 3

 

!
.
.

#

.
%
%

          B =
1 2 1

4 0 1

 

!
.
.

#

.
%
%

          C =

1 3 2

2 0 4

1 4 2

 

!

.

.

.

.

#

.

%
%
%
%

  
C =

4 3 5

3 0 3
 
!.

#
.%



ÅÅÅπ≤

 f¹dðU� t−O²�—œC ŸuL−� t% ¨A Ë B[A� «— ‰UÝ p¹ —œ dUu% bOUuð ¨XÝ« ÒÆb¹U/Åv� h

 ‰U¦
±∑‡‡  f¹dðU� A Ë BÆbOM% lLł r¼ UÐ «— 

d?¹c?ÄÅÊU?J?�« U?¼ÅÊ¬ l?L?ł f?Ä ¨X?E?O� vJ¹ r¼ UÐ f¹dðU� Ëœ Êu²Ý Ë dDÝ œ«bFð t%Ås¹« qOUœÅtÐ

ÆXEO�

πÅ‡‡ ∑f¹dðU
—œ vIOIŠ œbŽ »d{ Å

 dÖ«k Ë v?IOIŠ ÈœbŽ A f¹dðU� m × n  »d?{Åq.UŠ ¨býUÐ k —œ Aœu?Ð b¼«uš vE¹dðU� 

m × nOK% t% ¨Ò f¹dðU� ÈU¼ÅÅt¹«—œ UÐ dÐ«dÐ Ê¬ ÈU¼ÅÅt¹«—œ ÈÅtA —bÐd{ kÆXÝ« 

k × A = k ×
a b

c d
 
!.

#
.%

=
ka kb

kc kd
 
!.

#
.%

 ‰U¦
±∏‡‡Å dÖ« 

  
A =

1 2

0 3
 
!.

#
.%

 œbŽ »d{Åq.UŠ ¨býUÐ µ —œ «— AÆbOÐUOÐ 

  
5 × A = 5 ×

1 2

0 3
 
!.

#
.%

=
5 10

0 15
 
!.

#
.%

 ‰U?¦
±π‡?‡Å ÁU?� s?¹œ—Ëd?� ‘Ëd?� bOM% ÷d� ≥¨b?M?L?Ý® Ë—œu?š Ê«d?¹« X?%dý ‰uB×� Ÿu� 

ÅËóÄ≤∞∂∫XÝ« d¹“  —u.ÅÅtÐ ÊUNH.« Ë Ê«dNð dNý —œ ©”—UÄ Ë 

 ËóÄ    ”—UÄ                                                                    ≤∞∂bMLÝ   

  
F =

110   70   90

60   100    140

 

!
.

#

.
%

 ÁU?� X?A?N?³?¹œ—« —œ X%dý s¹« ‘Ëd� ¨œuý vMOÐÅgOÄ dÖ«±∞t?Ð ◊u?Ðd� ÂUM—« ¨bÐU¹ g¹«e�« •

Ê«dNð

ÊUNH.«

  

A =

2000 2700

4100 4300

1500 5200

 

!

.

.

.

.

#

.

%
%
%
%

 B =

1600 1400

2000 2100

1100 4000

 

!

.

.

.

.

#

.

%
%
%
%

 C =

3600 4100

6100 6400

2600 9200

 

!

.

.

.

.

#

.

%
%
%
%

  
A =

1 2

3 1
 
!.

#
.%

 B =
1 0 2

2 1 3
 
!.

#
.%



ÅÅÅπ≥

 —œ X%dý s¹« XAN³¹œ—« ÁU� ‘Ëd� Ê«eO�≤ÆbOE¹uMÐ f¹dðU�  —u.ÅtÐ «— ÊUNH.« Ë Ê«dNð dNý 

  
F2 = F1 + 0/1F1 =1/1F1 =1/1

110 70 90
60 100 140

 
!.

#
.%

                                                                         ËóÄ    ”—UÄ≤∞∂bMLÝ     

F2 = 121    77    99
66    110    154

 
!.

#
.%

±∞Å‡‡Å∑v6u²Ý f¹dðU
 p¹ —œ ÈdDÝ f¹dðU
 p¹ »d{ Å

łuð d¹“ ‰U¦� tÐ Ÿu{u� d²NÐ „—œ È«dÐÒÆbOM% t

 ‰U?¦
≤∞ ‡‡Å œ«b?F?ð t?Ð «— È“U?Ö Ë v?Ð¬ ¨Èe?O?�Ë— dUu% Ÿu� tÝ v²%dý ¨t²ýcÖ ‰UÝ—œ∞∞∞\µ¨

∞∞∞\¥ Ë ∞∞∞\≥ U?Ð d?Ð«d?Ð V?O?ðd?ðÅt?Ð d?Uu?% ÁU~²Ýœ d¼ XLOM dÖ« ÆXÝ« Áb�UÝ— ‘Ëd�ÅtÐ ∞∞∞\±¥∞¨

∞∞∞\≤µ∞ Ë ∞∞∞\≥∞∞ÆbOM% sOOFð q³M ‰UÝ —œ «— X%dý ‘Ëd� ¨býUÐ ‰U¹— 

 ÈdDÝ f¹dðU� p¹ UÐ Ê«uðÅv� «— U¼dUu% œ«bFðAÆœ«œ g¹U/ 

                                                        ÖU“È            Å ¬Ðv        —Ë�OeÈ

A1×3 = 5,000       4,000        3,000& .

Æœ«œ ÊUA� v�u²Ý f¹dðU� p¹ UÐ Ê«uðÅv� «— ÁU~²Ýœ d¼ ‘Ëd� ÈUNÐ ¨sOMÇÅr¼

ÈeO�Ë— dUu% ÈUNÐ

vÐ¬ dUu% ÈUNÐ

È“UÖ dUu% ÈUNÐ

∫UÐ XÝ« dÐ«dÐ f¹dðU� Ëœ s¹« »d{ q.UŠ

                                      

  

A × B = 5,000   4,000   3,000& . ×
140,000

250,000

300,000

 

!

.

.

.

#

.

%
%
%

            = 5,000×140,000+ 4,000×250,000+ 3,000× 300,000& .

  = 700,000,000+1,000,000,000+900,000,000& . = 2,600,000,000& .

  

B3×1 =
140,000

250,000

300,000

 

!

.

.

.

#

.

%
%
%

Ê«dNð

ÊUNH.«

±∞XAN³¹œ—« ‘Ëd�   s¹œ—Ëd� ‘Ëd�    ‘Ëd� g¹«e�« •



ÅÅÅπ¥

Ë« ¨œu?ýÅv?� t?E?Šö� t% t�uÖÅÊUL¼Ò« —œ «— Èd?D?Ý f?¹d?ðU� ÈÅt¹«—œ sOUË
Ò

f?¹d?ðU� ÈÅt¹«—œ sOU

s?O?�uÝ Ádš_UÐ Ë v�u²Ý f¹dðU� ÈÅt¹«—œ sO�Ëœ —œ «— ÈdDÝ f¹dðU� ÈÅt¹«—œ sO�Ëœ fáÝ ¨v�u²Ý

ÈU¼Å»d{Åq.UŠ ÂU$«dÝ ÆrOM%Åv� »d{ v�u²Ý f¹dðU� ÈÅt¹«—œ sO�uÝ —œ «— ÈdDÝ f¹dðU� ÈÅt¹«—œ

 f¹dðU� p¹ t% ¨t−O²� Uð rOM%Åv� lLł r¼ UÐ «— Áb�¬ XÝœÅtÐ  1×1Æb¹¬ XÝœÅtÐ ¨XÝ« 

MœÒ ÈdDÝ f¹dðU� p¹ »d{ t% bOM% XA v�u²Ý f¹dðU� p¹ —œ ̈Bt% XÝ« v�bý v²MË jI� 

 f¹dðU� ÈU¼ÅÊu²Ý œ«bFðA f¹dðU� ÈU¼dDÝ œ«bFð UÐ ÈËUE� BÆbýUÐ 

 dÖ« ¨s¹«dÐUMÐA f¹dðU� p¹   1× n Ë B f¹dðU� p¹   n ×1»d{Åq.UŠ Êœd% «bOÄ È«dÐ ¨býUÐ

A × B∫rOM%Åv� qLŽ d¹“  —u.ÅtÐ 

Ë«Ò« —œ «— ÈdDÝ f¹dðU� ÈÅt¹«—œ sOUË
Ò

sO�Ëœ fáÝÆrOM%Åv� »d{ v�u²Ý f¹dðU� ÈÅt¹«—œ sOU

s?O?�u?Ý Ê¬ “« f?Ä Ær?O?¹U?/Åv?� »d?{ v?�u?²?Ý f¹dðU� ÈÅt¹«—œ sO�Ëœ —œ «— ÈdDÝ f¹dðU� ÈÅt¹«—œ

ÈÅt¹«—œ s¹dš¬ Ádš_UÐ Ë rO¹U/Åv� »d{ v�u²Ý f¹dðU� ÈÅt¹«—œ sO�uÝ —œ «— ÈdDÝ f¹dðU� ÈÅt¹«—œ

ÆrO¹U/Åv� »d{ v�u²Ý f¹dðU� ÈÅt¹«—œ s¹dš¬ —œ «— ÈdDÝ f¹dðU�

ÆœœdÖ q.UŠ t−O²� Uð rOM%Åv� lLł r¼ UÐ «— Áb�¬ XÝœÅtÐ ÈU¼Å»d{Åq.UŠ

 ‰U¦
≤±

  
2    3& .

1

2
 
!.

#
.%

= (2×1) + (3 ×2)& . = 2+6& . = 8&. = 8

   ‰U¦
≤≤

  
A × B = 1   2   3& .

3

4
 
!.

#
.%

=

f¹dðU� ÊuÇAÅ¨  1× 3f¹dðU� ËB¨Å  2×1ÆXEO� vKLŽ U¼ÅÊ¬ »d{ «cU ¨XÝ«Å

±±Å‡‡Å∑U¼Åf¹dðU
 »d{ Å

 f¹dðU� Ëœ dÖ«A ËB f¹dðU� Ê«u²Ð t% vÞdý UNMð ¨bMýUÐ ÷ËdH� A f¹dðU� —œ «— B»d{ 

œu/(A × B) f¹dðU� ÈU¼ÅÊu²Ý œ«bFð t% XÝ« s¹« ¨A f¹dðU� ÈU¼dDÝ œ«bFð UÐ dÐ«dÐ BÆbýUÐ 

 f¹dðU� dÖ«A f¹dðU� p¹ m × p Ë B f¹dðU� p¹ p × nf¹dðU� Êœ—Ë¬ XÝœÅtÐ È«dÐ ̈ býUÐ

  1×2    2×1

  1× 3     2×1



ÅÅÅπµ

A × B f¹dðU� p¹ t% m × nÆrOM%Åv� qLŽ d¹“  —u.ÅtÐ œuÐ b¼«uš 

Ë«ÒôÎ f¹dðU� ¨B tÐ «— nUO�UŁ ÆrOM%Åv� t¹e& v�u²Ý f¹dðU� Î f¹dðU� ¨A—œ vK³M ‘Ë— o³Þ «— 

U?¦?UU?Ł Ær?O?¹U?/Åv?� »d?{ v�u²Ý ÈU¼Åf¹dðU� s¹« “« p¹d¼Î —u?.Åt?Ð t?% «— Áb?�¬ XÝœÅtÐ ÈU¼Å»d{ ¨

« ÈU¼ÅÊu²Ý XÝ«— tÐ éÇ “« bM²E¼ v�u²Ý ÈU¼Åf¹dðU�Ë
Ò

 Uð ‰nÆrO¼œÅv� —«dM »d{Åq.UŠ f¹dðU� Â«Å

 ‰U¦
≤≥‡‡Å »d{Åq.UŠ A × BÆbOM% «bOÄ «— 

  
A =

1 2

3 4
 
!.

#
.%

 B =
2 3

4 1
 
!.

#
.%

  
A × B =

1 2

3 4
 
!.

#
.%

2 3

4 1
 
!.

#
.%

=
1×2+2× 4 1× 3 +2×1

3 ×2+ 4× 4 3 × 3 + 4×1
 
!.

#
.%

=
10 5

22 13
 
!.

#
.%

 f?¹dðU� Ëœ d¼ ÊuÇ  2×2 f?¹d?ðU?� p¹ ¨t−O²�ÅË XÝ« v�bý U¼ÅÊ¬ »d{ fÄ ¨bM²E¼  2×2

ÆœuÐ b¼«uš

 Ê«uðÅv� ‰U¦� s¹« —œB × A f¹dðU� Ëœ d¼ ÊuÇ Æœu/ t³ÝU×� «—   2×2ÆbM²E¼

Æœ—«b� v¹ÅUłÅtÐUł XO.Uš U¼Åf¹dðU� »d{

A × B . B × A

  
B × A =

2 3

4 1
 
!.

#
.%

1 2

3 4
 
!.

#
.%

=
2×1+ 3 × 3 2×2+ 3 × 4

4×1+1× 3 4×2+1× 4
 
!.

#
.%

=
11 16

7 12
 
!.

#
.%

  

10 5

22 13
 
!.

#
.%

.
11 16

7 12
 
!.

#
.%

 »d{Åq.UŠ œuýÅv� tEŠö�A × B UÐ B × AÆXEO� dÐ«dÐ 

 ‰U?¦
≤¥‡?‡Å f?¹dðU� Ëœ 

  
A =

2 3

0 5
 
!.

#
.%

 Ë 

  
B =

1 3 5

2 4 6
 
!.

#
.%

»d?{Åq?.U?Š ÆX?Ý« ÷ËdH� 

A × BÆbOM% «bOÄ «—

ÇuÊ ðFb«œ Ý²uÊÅ¼UÈ �Uðd¹f  AÐd«Ðd ÐU ðFb«œ ÝDd¼UÈ �Uðd¹f B «ÝX¨ Äf «¹s {d?» ýb�vÅ

«ÝXÆ

  
A × B =

2 3

0 5
 
!.

#
.%

×
1 3 5

2 4 6
 
!.

#
.%

“¹d«   2 = 2  2×2 ) 2× 3



ÅÅÅπ∂

       Å  ÅÅÅÝ²uÊ «Ë
Ò

‰ ŠU.qÅ{d»

  

2 3

0 5
 
!.

#
.%

×
1

2
 
!.

#
.%

=
2×1+ 3 ×2

0×1+ 5 ×2
 
!.

#
.%

=
8

10
 
!.

#
.%

Ý²uÊ œËÂ ŠU.qÅ{d»

  

2 3

0 5
 
!.

#
.%

×
3

4
 
!.

#
.%

=
2× 3 + 3 × 4

0× 3 + 5 × 4
 
!.

#
.%

=
18

20
 
!.

#
.%

Ý²uÊ ÝuÂ ŠU.qÅ{d»

  

2 3

0 5
 
!.

#
.%

×
5

6
 
!.

#
.%

=
2× 5 + 3 ×6

0× 5 + 5 ×6
 
!.

#
.%

=
28

30
 
!.

#
.%

ÐtÅÞu—šö.t

  
A × B =

8 18 28

10 20 30
 
!.

#
.%

œMÒX %MOb %t œ— «¹s �¦U‰ B × A —« /vÅðu«Ê �×UÝ³t /uœª “¹d«

  2 . 3
  
B × A =

1 3 5

2 4 6
 
!.

#
.%

×
2 3

0 5
 
!.

#
.%

±≤‡‡∑U¼Åf¹dðU
 o¹dHð 

“« v?.U?š X?UU?Š o¹dHð t% VKD� s¹« 7�dÖ dE�—œ UÐ ¨XÝÅU¼ÅÊ¬ lLł bM�U� eO� U¼Åf¹dðU� o¹dHð

 o¹dHð qLŽ ÂU$« È«dÐ «cU ¨XÝ« lLłA − B Ê¬ —œ t% ¨A Ë B—œ ¨b�«ÅÁ«ušÅ‰œ ÈÅt³ðd� r¼ f¹dðU� Ëœ 

 f¹dðU� ÈUCŽ« ÂU9 «b²Ð«B —œ «—   −1 lLł qLŽ fáÝ Ë rOM%Åv� »d{ A + (−B)ÆrO¼œÅv� ÂU$« «—

 ‰U¦
≤µ‡‡dÖ« 

  
A =

5 3 2

0 1 4
 
!.

#
.%

Ë

  
B =

3 2 3

2 1 3
 
!.

#
.%

 ÁUÖÅÊ¬ ¨býUÐA − BÆbOM% t³ÝU×� «— 

  
(−1) × B = −B =

−3 −2 −3

−2 −1 −3
 
!.

#
.%

  2× 3 ) 2×2



ÅÅÅπ∑

  
A − B = A + (−B) = 5 3 2

0 1 4
 
!.

#
.%

+ −3 −2 −3
−2 −1 −3

 
!.

#
.%

         
  
= 5 − 3 3 −2 2− 3

0−2 1−1 4− 3
 
!.

#
.%  

.  A − B = 2 1 −1
−2 0 1

 
!.

#
.%

±≥Å‡‡Å∑ÊUMO
dðœ Å

Ðd� f¹dðU� È«dÐ jI�ÒdDÝÅÅ Åt% v¹U¼Åf¹dðU� È«dÐ Ë œ—Ë¬ XÝœÅtÐ ÊUMO�dðœ ÂU�ÅtÐ ÈœbŽ Ê«uðÅv� l

Ðd� f¹dðU� ÊUMO�dðœ Æœ—«b� ÊUJ�« ÊUMO�dðœ ÈÅt³ÝU×� ̈ býU³� ÈËUE� U¼ÅÊ¬ Êu²Ý ËÒ lAt% ̈ n × n¨XÝ«

  —u.ÅtÐA dÖ« ÆœuýÅv� Áœ«œ g¹U/ A =
a b

c d
 
!.

#
.%

f¹dðU� p¹   2×2  vIOIŠ  œbŽ ̈ býUÐ AdÐ«dÐ 

  UÐad − bc f¹dðU� ÊUMO�dðœ «— AÆrO�U�Åv� 

det A = A =
a b

c d
= ad − bc

 dÖ«A f¹dðU� p¹   3 × 3 ÊUMO�dðœ ¨býUÐ AÆrOM%Åv� t³ÝU×� d¹“ qJý tÐ «— 

A =
a b c

d e f

g h i

 

!

.

.

.

#

.

%
%
%

A =
a b c

d e f

g h i

 

!

.

.

.

#

.

%
%
%

= a
e f

h i
− b

d f

g i
+ c

d e

g h

 ÈÅt¹«—œ «b²Ð« ̈ ÊUMO�dðœ ÈÅt³ÝU×� È«dÐ t% XÝ« sýË—  a11 f¹dðU� ÊUMO�dðœ —œ «— A·cŠ UÐ 

« dDÝË
Ò

« Êu²Ý Ë ‰Ë
Ò

 ÈÅt¹«—œ vHM� ̈ fáÝ ÆrOM%Åv� »d{ Ê¬ ‰  a12 f¹dðU� ÊUMO�dðœ —œ «— A·cŠ UÐ ̈

« dDÝË
Ò

 ÈÅt?¹«—œ Ádš_UÐ Ë rOM%Åv� »d{ Ê¬ ÂËœ Êu²Ý Ë ‰  a13 f?¹dðU� ÊUMO�dðœ —œ «— A·cŠ UÐ ¨

« dDÝË
Ò

 ÊUMO�dðœ ¨œbŽÅtÝ s¹« lLł q.UŠ “« Uð rO¹U/Åv� »d{ Ê¬ ÂuÝ Êu²Ý Ë ‰AXÝœÅtÐ Æb¹¬ 

A = a(ei − fh) − b(di − fg) + c(dh − eg)

= aei − afh − bdi + bfg + cdh − ceg



ÅÅÅπ∏

 ‰U¦
≤∂‡‡Å f¹dðU� ÊUMO�dðœ AÆb¹—Ë¬ XÝœÅtÐ «— 

  

A =
1 3 2

2 3 1

1 0 2

 

!

.

.

.

#

.

%
%
%

  

A =
1 3 2

2 3 1

1 0 2

 

!

.

.

.

#

.

%
%
%

=1×
3 1

0 2
− 3 ×

2 1

1 2
+2×

2 3

1 0
=

  1× (6−0) − 3 × (4 −1) +2× (0− 3) = 6−9− 6 = −9

 dÖ«A f¹dðU� p¹   4× 4 ÊU?MO�dðœ Êœd% «bOÄ È«dÐ ¨býUÐ Ałuð UÐ Ò¨bý t²HÖ t% v³UUD� tÐ t

ÆrOM%Åv� qLŽ d¹“ ÕdýÅtÐ

A =

a b c d

e f g h

i j k l

m n o p

 

!

.

.

.

.

#

.

%
%
%
%

A =

a b c d

e f g h

i j k l

m n o p

= a ×
f g h

j k l

n o p

− b

e g h

i k l

m o p

+

c ×
e f h

i j l

m n p

− d ×
e f g

i j k

m n o

 V¹d{ X�öŽ t% bOM% XMœaij —u²Ýœ “« ÁœUH²Ý« UÐ  (−1)i+ j
ÆXÝ« Áb�¬ XÝœÅtÐ 

K?%—uÞÅtÐÒ ÊU?M?O�dðœ Êœd% «bOÄ È«dÐ ¨vA f?¹dðU� p¹ t% ¨n × nq?LŽ  —u. s¹« tÐ ¨XÝ« 

ÆrOM%Åv�

  
A = aij =

a11...a1j....a1n

an1...anj....ann
= .

j=1

n
aij A

.
ij



ÅÅÅππ

 t?DÐ«— s¹« —œaij f?¹d?ðU?� “« Êu?²?Ý p¹ U¹ dDÝ p¹ ÈÅt¹«—œ “«  —U³Ž A Ë XÝ« A
.

ij«— 

 ÈÅt¹«—œ ©f¹dðU� d¹“ U¹ Å—u²%U�u%® ÈÅÁ“UÝÅr¼aijÆbM¹uÖ 

 f?¹dðU� ÊUMO�dðœ ¨s¹«dÐUMÐAp?¹ U?Ð dDÝ p¹ ÈÅt¹«—œ vKš«œ »d{Åq.UŠ “« XÝ«  —U³Ž 

 f¹dðU� Êu²ÝA ÈU¼ÅÁ“UÝÅr¼ —œ A
.

ijÆ

 —«bI�A
.

ij UÐ dÐ«dÐ   (−1)i+ j
 “« q.UŠ f¹dðU� ÊUMO�dðœ —bÐd{ A dDÝ ·cŠ UÐ i Êu²Ý Ë jÂ«Å

ÆXÝ«

 ‰U¦
≤∑‡‡Å f¹dðU� ÊUMO�dðœ B t% «—   4× 4ÆbOM% «bOÄ ¨XÝ« 

  

= −1×  

−1 2 1

0 −1 2

0 0 −3

 −2×  

0 2 1

0 −1 2

1 0 −3

 +0×  

0 −1 1

0 0 2

1 0 −3

 −0×  

0 −1 2

0 0 −1

1 0 0

 

  

B =

−1 2 0 0

0 −1 2 1

0 0 −1 2

1 0 0 −3

 

!

.

.

.

.

#

.

%
%
%
%

. B =

−1 2 0 0

0 −1 2 1

0 0 −1 2

1 0 0 −3

  

= −1×  

−1 2 1

0 −1 2

0 0 −3

 −2×  

0 2 1

0 −1 2

1 0 −3

 +0+0

 ÈÅt³ðd� ÈU¼ÅÊUMO�dðœ fáÝ≥« ÈU¼ÅÊu²Ý VEŠdÐ «— Ë
Ò

ÆrO¼œÅv� jEÐ U¼ÅÊ¬ ‰

B = (−1)(−1)   
−1 2

0 −3  
 + (−2)(1)   

2 1

−1 2
 =

  1(3 −0) −2(4+1) = 3 −10= −7



ÅÅÅ±∞∞

±‡‡±≥‡‡∑∫v/U(« f¹dðU
  rOM% ÷d� A = aij
 
!.

#
.%

lÐd� f¹dðU� p¹ M × MÁUÖÅÊ¬ ÆbýUÐ

¹dFð dÐ UMÐMU(« f¹dðU� ¨n lÐd� f¹dðU� È«dÐ vA UÐ t% ¨adj.A“« XÝ«  —U³Ž ¨œuýÅv� Áœ«œ g¹U/ 

 “« q.UŠ f¹dðU� Ê«œdÖdÐAUMŽ ÈUłÅtÐ Ê¬ —œ t% È—uÞÅtÐ ̈ d.aij vMF¹ U¼ÅÊ¬ ÈU¼ÅÁ“UÝÅr¼ ̈A
.

ij —«dM

 v?MU?(« f?¹d?ðU� d~¹œ  —U³Ž tÐ Æb�«Åt²�dÖadjAd?¼ ÈU?łÅt?Ð t?% vFÐd� f¹dðU� Ê«œdÖdÐ UÐ XÝ« dÐ«dÐ 

 Ê¬ dBMŽ  (−1)i+ j
f¹dðU� d¹“ ÊUMO�dðœ dÐ«dÐ ÆbýUÐ t²�dÖ —«dM dBMŽ ÊUL¼ “« q.UŠ 

 ‰U¦
≤∏‡‡rOM% ÷d� 

  

A =

a11 a12 a13

a21 a22 a23

a31 a32 a33

 

!

.

.

.

.

#

.

%
%
%
%

UÐ XÝ« dÐ«dÐ Ê¬ vMU(« f¹dðU�

  

adjA =

A
.

11 A
.

21 A
.

31

A
.

12 A
.

22 A
.

32

A
.

13 A
.

23 A
.

33

 

!

.

.

.

.

.

#

.

%
%
%
%
%

 Ê¬ —œ t%A
.

ij ÈÅÁ“UÝÅr¼ aijq¦� ¨XÝ« 

A
.

11 = (−1)1+1 a22 a23

a32 a33

U¹ Ë

A
.

12 = (−1)1+2 a21 a23

a31 a33

 ‰U¦
≤π‡‡U(« f¹dðU� Mv

A =
a b

c d

 

!
.
.

#

.
%
% Æb¹—Ë¬ XÝœÅtÐ «—



ÅÅÅ±∞±

adjA =
d −b

−c a

 

!
.
.

#

.
%
%

 ‰U¦
≥∞‡‡U(« f¹dðU� Mv

  

A =
1 2 3

1 3 4

1 4 3

 

!

.

.

.

.

#

.

%
%
%
%

Æb¹—Ë¬ XÝœÅtÐ «—

±¥Å‡‡Å∑«uš Å’ÒU¼ÅÊUMO
dðœ 

±Ê¬ ÊUMO�dðœ ¨rOM% ÷uŽ d~¹bJ¹ UÐ «— f¹dðU� p¹ ÈU¼ÅÊu²Ý Ë U¼dDÝ ÂU9 ÈUł ÁUÖd¼ ‡‡Å

ÆbM%Åv/ dOOGð f¹dðU�

  

a1 a2 a3

b1 b2 b3

c1 c2 c3

=
a1 b1 c1

a2 b2 c2

a3 b3 c3

≤Ðd?� f?¹dðU� p¹ ©ÅÊu²Ý Ëœ U¹Å® dDÝ Ëœ i¹uFð “« ‡‡ÅÒÊ¬ ÊU?M?O�dðœ X�öŽ UNMð ¨d~¹bJ¹ UÐ l

ÆbÐU¹Åv� dOOGð

a1 a2 a3

c1 c2 c3

b1 b2 b3

= −
a1 a2 a3

b1 b2 b3

c1 c2 c3

  

adjA =
−7 6 −1

1 0 −1

1 −2 1

 

!

.

.

.

.

#

.

%
%
%
%

  

adjA =

 
3 4

4 3
 −  

2 3

4 3
  

2 3

3 4
 

−  
1 4

1 3
  

1 3

1 3
 −  

1 3

1 4
 

 
1 3

1 4
 −  

1 2

1 4
  

1 2

1 3
 

 

!

.

.

.

.

.

.

.

.

.

#

.

%
%
%
%
%
%
%
%
%



ÅÅÅ±∞≤

≥Å‡‡ ¼dÖUÁ œË ÝDd ®Å¹U œË Ý²uÊÅ© ¹p �Uðd¹f �EUËÈ ÐUýb ̈œðd�OMUÊ ¬Ê �Uðd¹f .Hd šu«¼b ÐuœÆ

a1 a2 a3

b1 b2 b3

b1 b2 b3

=0

¥ bM�U� ÈœbŽ —œ f¹dðU� p¹ Êu²Ý p¹ U¹ dDÝ p¹ ÈU¼ÅÅt¹«—œ ÂU9 ÁUÖd¼ ‡‡Åk¨œuý »d{ 

 —œ eO� f¹dðU� Ê¬ ÊUMO�dðœkÆœuýÅv� »d{ 

  

a1 b1 c1

ka2 kb2 kc2

a3 b3 c3

= k ×
a1 b1 c1

a2 b2 c2

a3 b3 c3

µd?H. dÐ«dÐ Ê¬ ÊUMO�dðœ ¨býUÐ dH. f¹dðU� Êu²Ý p¹ U¹ dDÝ p¹ ÈU¼Åt¹«—œ ÂU9 ÁUÖd¼ ‡‡ 

ÆœuÐ b¼«uš

  

0 0 0

a1 b1 c1

a2 b2 c2

=0

∂ÈU?¼ÅÊu?²?Ý “« U?¹Å® d?~?¹œ ÈU?¼d?DÝ “« v¹U¼Å»dC� ¨f¹dðU� p¹ ©ÅÊu²Ý U¹Å® dDÝ tÐ ÁUÖd¼ ‡‡Å

ÆXÝ« ÈËUE� vK³M f¹dðU� ÊUMO�dðœ UÐ q.UŠ f¹dðU� ÊUMO�dðœ ¨rOM% t�U{« ©Åd~¹œ

∫lÐd
 f¹dðU
 p¹ ÈÅt³ðd
Ðd� f¹dðU� p¹ ÈU¼ÅÊu²Ý U¹ U¼dDÝ œ«bFð tÐ ÒeO� f¹dðU� ÈÅt³ðd� ̈ l

ÆbM¹uÖÅv�

∑ ÁUÖd¼ ‡‡ÅA Ë BÐd� f¹dðU� Ëœ Ò∫r¹—«œ ¨bMýUÐ t³ðd� r¼ l

A.B = A . B

Æf¹dðU� Ëœ Ê¬ ÈU¼ÅÊUMO�dðœ »d{Åq.UŠ UÐ XÝ« dÐ«dÐ ̈ f¹dðU� Ëœ »d{ q.UŠ ÊUMO�dðœ vMF¹

 ‰U¦
≥± ‡‡Å f¹dðU� ÊUMO�dðœB Ë AÆbOM% «bOÄ «— 

  
A =

0 0

1 2
 
!.

#
.%

  A =0

 f¹dðU� —œA« dDÝ ÊuÇ Ë
Ò

ÆXÝ« dH. Ê¬ ÊUMO�dðœ fÄ ¨XÝ« dH. ‰



ÅÅÅ±∞≥

    

  

B =
0 1 2
0 3 1
0 2 4

 

!
.
.

#

.
%
%

  B =0

 f?¹dðU� —œB« Êu²Ý ÊuÇ Ë
Ò

t?³?ÝU?×?� tÐ È“UO� Ë XÝ« dH. Ê¬ ÊUMO�dðœ fÄ ¨XÝ« dH. ‰

Æœ—«b�

 ‰U¦
≥≤ ‡‡Å f¹dðU� ÊUMO�dðœA Ë BÆbOM% tE¹UI� r¼ UÐ Ë t³ÝU×� «— 

  

A =
1 3 2

2 3 1

1 0 2

 

!

.

.

.

#

.

%
%
%

       B =
1 3 2

4 6 2

1 0 2

 

!

.

.

.

#

.

%
%
%

  

A =
1 3 2

2 3 1

1 0 2

=1×
3 1

0 2
− 3 ×

2 1

1 2
+2×

2 3

1 0

1× (6 −0) − 3 × (4−1) +2× (0− 3) = 6 −9−6 = −9

  

B =
1 3 2

4 6 2

1 0 2

=1×
6 2

0 2
− 3 ×

4 2

1 2
+2×

4 6

1 0

B =1(12 −0) − 3(4×2−1×2) +2(4×0−1×6)

B =12 − 3(8 −2) +2(−6) =12 −18 −12 = −18

 f¹dðU�  ËUHð UNMð t% œuýÅv� tEŠö�A Ë B f¹dðU� ÂËœ dDÝ t% XÝ« Ê¬ —œ BdDÝ ÊUL¼ 

 f?¹dðU� ÂËœA œb?Ž —œ t% ¨XÝ« ≤łu?ð U?Ð ¨s?¹«d?ÐUMÐ ÆXÝ« Ábý »d{ Ò® X?O?.Uš tÐ t¥ÊU?MO�dðœ ©

 f¹dðU�B f?¹dðU� ÊUMO�dðœ ÊUL¼ UÐ XÝ« dÐ«dÐ A œbŽ —œ »d{ ≤ f?¹dðU� ÊUMO�dðœ ÊuÇ ÆA ¨  −9

 f¹dðU� ÊUMO�dðœ fÄ ¨XÝ« ÁœuÐB UÐ dÐ«dÐ   −9×2 vMF¹   −18ÆXÝ« 



ÅÅÅ±∞¥

±µÅ‡‡Å∑f¹dðU
 p¹ ”uJF
 Å

Ðd� f¹dðU� p¹ È«dÐ dÖ«Ò lAn×n bM�U� ¨Ê¬ UÐ t³ðd� r¼ f¹dðU� p¹ ¨B¨býUÐ t²ý«œ œułË 

® v?E?¹d?ðU?� s?O?M?Ç  ¨býUÐ bŠ«Ë vE¹dðU� U¼ÅÊ¬ »d{ q.UŠ t% È—uÞÅtÐB f?¹d?ðU� ”uJF� «— ©ÅA

ÆbM�U�Åv�

An×n × Bn×n = In = Bn×n × An×n

                                                        ÆbM¼œÅv� ÊUA�  —u. s¹«ÅÅÅtÐ Ë  Bn×n = An×n
−1

Ðd� f¹dðU�ÒÆbýUÐ dH. nUU[� Ê¬ ÊUMO�dðœ t% XÝ« ”uJF� È«—«œ v�U~M¼ UNMð ̈ t³ðd� d¼ UÐ l

łuð d¹“ ‰U¦� tÐ Ÿu{u� Êbý dðÅsýË— È«dÐÒÆbO¹U�d� t

 ‰U¦
≥≥‡‡Å f¹dðU� ”uJF� AÆbOM% «bOÄ «— 

  
A =

a11 a12

a21 a22

 
!
.

#
.
%

 f¹dðU� ”uJF� rOM%Åv� ÷d�A bM�U� f¹dðU� ¨Bö³M tÇÅÊ¬ o³Þ ¨s¹«dÐUMÐ ÆbýUÐ Îbý t²HÖ 

A × B = I

U¹ Ë

  

a11 a12

a21 a22

 
!
.

#
.
%

b11 b12

b21 b22

 
!
.

#
.
%=

1 0

0 1
 
!.

#
.%

  

a11b11 + a12b21 a11b12 + a12b22

a21b11 + a22b21 a21b12 + a22b22

 
!
.

#
.
%=

1 0

0 1
 
!.

#
.%

∫r¹—«œ t−O²�—œ

®±©a11b11 + a12b21 =1

®≤©  a11b12 + a12b22 =0

®≥©a21b11 + a22b21 =0

®¥©a21b12 + a22b22 =1

 f¹dðU� ÈU¼Åt¹«—œ Êœd% «bOÄ È«dÐBÆrOM%Åv� qLŽ d¹“ qJýÅtÐ 

qŠ “«Ò® ÁU~²Ýœ ±® Ë ©≥∫œuýÅv� t−O²� ©

  
b11 = a22

a11a22 − a21a12

Ë

  
b21 = −a21

a11a22 − a21a12



ÅÅÅ±∞µ

® ÁU~²Ýœ qŠ “« Ë≤® Ë ©¥∫œuýÅv� t−O²� ©

  
b12 = −a12

a11a22 − a21a12

Ë

  
b22 = a11

a11a22 − a21a12

 ÊUMO�dðœ UÐ dÐ«dÐ ¨jÐ«Ë— s¹« “« p¹d¼ Ãd[� t% bOM% tłuðAÆXÝ« 

  
det A =

a11 a12

a21 a22
= a11a22 − a21a12

 dÖ« ¨s¹«dÐUMÐ  A =0 f¹dðU� býUÐ BOF�U� Ò Ë s  A−1
Ðd� f¹dðU� d¼ ¨fÄ Æœ—«b� œułË ÒjI� l

ÆbýUÐ dH. nUU[� Ê¬ ÊUMO�dðœ t% XÝ« ”uJF� È«—«œ v�U�“

 ‰U¦
≥¥‡‡Å f¹dðU� ”uJF� AÆbOM% «bOÄ «— 

  
A =

−1 6

4 3
 
!.

#
.%

   det A = −3 −24 = −27 = A

 ÊuÇ  A . 0Æœ—«œ œułË Ê¬ ”uJF� fÄ 

b11 = 3
−27

= − 1
9

  
b12 = −6

−27
= 2

9

  
b21 = −4

−27
= 4

27

b22 = −1
−27

= 1
27

¨fÄ

−1 6

4 3
 
!.

#
.%

−1

=
− 1

9
2
9

4
27

1
27

 

!

.

.

.

#

.

%
%
%

= A−1



ÅÅÅ±∞∂

∫t% bOM% tłuð

−1 6

4 3

 

!
.
.

#

.
%
%

×
−

1
9

2
9

4
27

1
27

 

!

.

.

.

#

.

%
%
%

=
1 0

0 1

 

!
.
.

#

.
%
%

    A × A
−1 = I

 ‰U¦
≥µ‡‡Å f¹dðU� ”uJF� AÆbOM% «bOÄ «— 

  
A =

−3 15

1 −5
 
!.

#
.%

  det A =15 −15 =0

 f?¹d?ðU?� ¨fÄ ¨XÝ« dH. ÈËUE� Ê¬ ÊUMO�dðœ ÊuÇAv?�U?�“ ¨f¹dðU� p¹ Æœ—«b� ”uJF� 

ôË« t% XÝ« ”uJF� È«—«œÎÐd� f¹dðU� s¹« ̈ÒUO�UŁ Ë býUÐ lÎ vMF¹ Ê¬ ÊUMO�dðœ ̈AÆœœdÖ dH. nUU[� 

±∂‡‡∑OKLŽ ‘Ë— tÐ ”uJF
 f¹dðU
 ÊœdJ «bOÄ ÒvH¹œ—  U

sJ2 Ë XEO� vKLŽ tAOL¼ ¨f¹dðU� p¹ ”uJF� ÈÅt³ÝU×� —œ vK³M ‘Ë— “« ÁœUH²Ý« ÊuÇ

O?K?LŽ ‘Ë— ¨b�U$« ‰uÞÅtÐ  U³ÝU×� XÝ«Òq?.« t?Ý dÐ ‘Ë— s¹« ÆXÝ« ÁœUH²Ý« qÐUM eO� vH¹œ—  U

∫XÝ« —«u²Ý« d¹“ ÈÅÁbLŽ

±Å‡‡K% ÈÅÁbŽUM Ò v  A × A−1 = I

≤ÆdH. dOž œbŽ p¹ dÐ U¹ ¨p¹ —œ f¹dðU� p¹ ÈU¼Ån¹œ— “« vH¹œ— Êœd% rOEIð U¹ »d{ ‡‡Å

≥Æf¹dðU� ÈU¼Ån¹œ— “« Èd~¹œ n¹œ— tÐ f¹dðU� n¹œ— p¹ “« vÐdC� Êœd% dE% U¹ t�U{« ‡‡Å

 lÐd� f¹dðU� p¹ ”uJF� ÈÅt³ÝU×� È«dÐA Ê¬ ÈÅt³ðd� r¼ bŠ«Ë f¹dðU� «b²Ð« ¨In—ËU−� «— 

 f?¹dðU�Av?MF¹Å® rO¼œÅv� —«dM A  I t?% s?¹« ÈUM³� dÐ ¨fáÝ Æ©  A × A−1 = I Ë   A−1 × I = A−1
¨

OKLŽÒq?×� t% r¹dOÖÅv� fÄ vKJýÅtÐ «—  UÒ—œ —ËU−� f¹dðU� Ëœ (A  I)t?Ð ¨b�œdÖ i¹uFð d~¹bJ¹ UÐ 

 t% vKJýI tÐ «— œuš q×�   A−1
 Ë b¼bÐ A tÐ IvMF¹Å® œuý ‰b³�   I  A

−1
OKLŽ —œ d¹“ bŽ«uM «cU Æ©Ò U

ÅÈ«dÐ vH¹œ—A  IÆœË—Åv� —U%ÅtÐ 

± f?¹d?ðU?� n¹œ— s¹dðôUÐ ÈU¼ÅÅt¹«—œ ÈÅtOK% ‡‡ÅA  IË« d?Ð «— ÒÈ«d?ÐÅ® Ê¬ éÇ XLÝ ÈÅt¹«—œ sOU

Ë« ÈÅtKŠd�ÒOKLŽ ‰Òt% vÞdýÅtÐÅ® rOM%Åv� rOEIð ©œuÐ b¼«uš rJ¹ Êu²Ý Ë rJ¹ n¹œ— —œ lM«Ë ÈÅt¹«—œ ̈  U

�« Æ©ÅbýUÐ dH. dOž Åt¹«—œ s¹«ÒË« dÖ« UÒÈd~¹œ n¹œ— d¼ «b²Ð« býUÐ dH. ¨n¹œ— éÇ XLÝ ÈÅt¹«—œ sOU

..
..

..
..

..
..

..
..

U¹

..
..



ÅÅÅ±∞∑

Ë« t% «— f¹dðU� “«Ò« n¹œ— UÐ býU³� dH. Ê¬ dBMŽ sOUË
Ò

 ÁbŽUM fáÝ Ë rOM%Åv� lLł ‰Ær¹dÐÅv� —U%ÅtÐ «—

« t?% b?ýU?Ð t?²?ý«b� œułË vH¹œ— tÇÅÊUMÇ XÝ« vN¹bÐË
Ò

d?H?. d?O?ž Ê¬ éÇ XLÝ ÈÅt¹«—œ sOU

Æœ—«b� ”uJF� f¹dðU� ¨býUÐ

« È«dł«Ë
Ò

 sOUMË œœd?Ö q?¹b³ð p¹ œbŽ tÐ éÇ XLÝ ÈÅÅt¹«—œ s¹dðôUÐ t% œœdÖÅv� V³Ý ÁbŽU

Æœd% ŸËdý bŠ«Ë —«œdÐ 7ý«œ È«dÐ «— fE& Ê«u²Ð t−O²�—œ

≤Ë« U?Ð n?¹œ— “« v?Ðd?C?� ÊUMÇ ‡‡ÅÒl?L?ł U?¼Ån?¹œ— d?¹U?Ý U?Ð «— b?Š«Ë t?Ð Ábý q¹b³ð ÈÅt¹«—œ sOU

©År?J?¹ Êu²ÝÅ® p¹ tÐ Ábý q¹b³ð ÈÅt¹«—œ ÈËUŠ Êu²Ý —œ œułu� ÈÅt¹«—œ ÈÅtOK% t% vKJýÅtÐ ¨rOM%Åv�

OKLŽ dš¬ Uð b¹UÐ t% bŠ«Ë tÐ Ábý q¹b³ð ÈÅt¹«—œ œuš ełÅtÐ b�uý dH. dÐ«dÐÒÆb�U0 vMUÐ bŠ«Ë  U

≥K?% È«d?Ð «— Ëœ Ë p?¹ ÈÅÁbŽUM ‡‡ÅÒ t?%ÅÊ¬ U?ð r?O?¹U?/Åv?� —«d?J?ð Áb?�U�ÅvMUÐ ÈU¼Ån¹œ— ÈÅtO  A−1

[A�ÒÆœ—«œ œdÐ—U% dðuOá�U% “« ÁœUH²Ý« UÐ  ôœUF� ÁU~²Ýœ qŠ È«dÐ ‘Ë— s¹« ÆœœdÖ h

 ‰U¦
≥∂‡‡Å f¹dðU� ”uJF� AOKLŽ ‘Ë— “« ÁœUH²Ý« UÐ «— ÒÆbOM% «bOÄ vH¹œ—  U

  

A =
3 1 5

0 1 1

1 0 2

.

.

.

.

.

.

.

.

  

A  I =

3 1 5 1 0 0

0 1 1 0 1 0

1 0 2 0 0 1

.

.

.

.

.

.

.

.

.

.

 œbŽ dÐ «— rJ¹ n¹œ— ÈU¼ÅÅt¹«—œ ÈÅtOK%≥ÆrOM%Åv� rOEIð 
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1
1
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5
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1
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K% t% rO¹U/Åv� lLł U¼Ån¹œ— d¹UÝ UÐ «— rJ¹ n¹œ— “« vÐdC� ÊUMÇÒrJ¹ Êu²Ý ÈU¼ÅÅt¹«—œ ÈÅtO

« ÈÅt¹«—œ ÈUM¦²Ý«ÅtÐË
Ò

Ë ÂËœ n¹œ— UÐ rJ¹ n¹œ— “« dH. »dC� b¹UÐ —uEM� s¹« tÐ Æb�uý dH. dÐ«dÐ ‰

 »dC�  −1Æb�uý lLł ÂuÝ n¹œ— UÐ n¹œ— Ê¬ “« 

..
..

 Ò

 Ò
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1
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1
3

1
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−
1
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0 1

.
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Ë« fáÝÒUÐ éÇ XLÝ ÈÅt¹«—œ sOUMOKLŽ t% XÝ« p¹ dBMŽ ÂËœ n¹œ— È«dÐ Áb�U�ÅvÒdÐ «—  U

ÆrO¹U/Åv� ŸËdý Ê¬ ÈË—

K%ÒË« d?Ð «— ÂËœ n¹œ— ÈU¼ÅÅt¹«—œ ÈÅtOÒUÐ ÈÅt¹«—œ sOUMr?OEIð ©Åp¹ œbŽ® éÇ XLÝ —œ Áb�U�Åv

ÆrOM%Åv�
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K?% t?% r?OM%Åv� t�U{« U¼Ån¹œ— d¹UÝ tÐ ÂËœ n¹œ— “« vÐdC� ÊUMÇÒÂËœ Êu?²Ý ÈU¼ÅÅt¹«—œ ÈÅtO

 »d?C?� b¹UÐ —uEM� s¹« tÐ Æb�uý dH. dÐ«dÐ Ê¬ bŠ«Ë ÈÅt¹«—œ ÈUM¦²Ý«ÅtÐ

  
− 1

3
Ë« n¹œ— UÐ Ê¬ “« ÒË ‰
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3

ÆœœdÖ lLł ÂuÝ n¹œ— UÐ Ê¬ “«
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O?KLŽ pM¹«ÒË« È«d?Ð «— v?H¹œ—  UÒU?Ð Åt¹«—œ sOUM v?M?F?¹Å® ÂuÝ n¹œ— éÇ XLÝ —œ Áb�U�Åv
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©Å

K% ¨d~¹œ  —U³Ž tÐ ÆrO¼œÅv� ÂU$«Ò dBMŽ dÐ «— ÂuÝ n¹œ— ÈU¼Åt¹«—œ ÈÅtO
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ÆrO¹U/Åv� rOEIð 
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ÅÅÅ±∞π

»d?C� b¹UÐ ¨dH. tÐ Ê¬ ÂuÝ ÈÅt¹«—œ ÈUM¦²Ý« tÐ ¨ÂuÝ Êu²Ý ÈU¼ÅÅt¹«—œ q¹b³ð È«dÐ Ádš_UÐ

  −1 »dC� Ë ÂËœ n¹œ— UÐ «— Ê¬ “« 

  
− 4

3
ÆrO¹U/ lLł ‰Ë« n¹œ— UÐ «— Ê¬ “« 
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OKLŽ dŁ«—œ t% œuýÅv� tEŠö�Òf¹dðU� vH¹œ—  U(A  I)tÐ q¹b³ð   (I  A
−1

)”uJF� Ë œuýÅv� 

AÆXÝ« Áb�¬ XÝœÅtÐ 

±‡‡±∂‡‡∑ ∫v/U(« f¹dðU
 “« ÁœUH²Ý« UÐ ”uJF
 f¹dðU
 ÊœdJ «bOÄ t% Èd~¹œ ‘Ë—

¨‘Ë— s?¹« —œ ÆX?Ý« v?MU?(« f?¹d?ðU?� “« ÁœU?H?²?Ý« ¨œË—Åv?� —U%ÅtÐ ”uJF� f¹dðU� ÈÅt³ÝU×� È«dÐ

 dÖ« ÆrOM%Åv� t³ÝU×� ̈ r¹—Ë¬ XÝœÅtÐ «— Ê¬ ”uJF� rO¼«ušÅv� t% vE¹dðU� ÊUMO�dðœA¨œdHM�dOž® f¹dðU� 

 vMF¹ ¨býUÐ d¹cÄÅ”uJF� ©œdHM�U�  A . 0∫r¹—«œ  —u.Ås¹« —œ 

  
A

−1 =
1
A

adjA

 ‰U¦
≥∑‡‡ f¹dðU� ”uJF� 

  
A =
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%ÆbOM% sOOFð œułË  —u. —œ «— 
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 ‰U¦
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  A =0+2(−2+ 3) + (−3)(−2+ 3) = −1

“« b�«Å —U³Ž vMU(« f¹dðU� d.UMŽ fÄ

  

Â11 = (−1)
1+1

 
3 3

−2 −2
 = −6+ 6 =0

  

Â12 = (−1)
1+2

 
1 3

−1 −2
 = −(−2+ 3) = −1

  

Â13 = (−1)
1+3

 
1 3

−1 −2
 = −2+ 3 =1

Â21 = (−1)
2+1

 
−2 −3

−2 −2
 = −(4 − 6) = 2

Â22 = (−1)
2+2

 
0 −3

−1 −2
 =0− 3 = −3

Â23 = (−1)
2+3

 
0 −2

−1 −2
 = −(0−2) = 2

  

Â31 = (−1)
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3 3
 = −6+9 = 3

Â32 = (−1)
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1 3
 = −(0+ 3) = −3
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±∑‡‡∑vKuN−
ÅtÝ ÈÅtKœUF
 tÝ ÁU~²Ýœ 

ÆrOM%Åv� qLŽ d¹“ VOðdðÅtÐ ¨vUuN−� tÝ ÈÅtUœUF�ÅtÝ ÁU~²Ýœ qŠ È«dÐ

ÆrO¼œÅv� qOJAð «— V¹«d{ f¹dðU� ©nU«

Ë« Êu²Ý ÈU¼ÅÁ“UÝÅr¼ ©»ÒÆrO¼œÅv� qOJAð «— ‰

 ©Ã  A
.

11Ë« ÈÅtUœUF� —œ «— Ò ¨‰  A
.

21 Ë ÂËœ ÈÅÅt?UœUF� —œ «—   A
.

31»d?{ ÂuÝ ÈÅtUœUF� —œ «— 

ÆrO¹U/Åv�

 Ë lLł r¼ UÐ «— tUœUF� tÝ d¼ ©œxÆrOM%Åv� t³ÝU×� «— 

 ‰U¦
≥π‡‡Å tÐ X³E� ¨Á“UÝÅr¼ “« ÁœUH²Ý« UÐ «— ÁU~²Ýœ  xÆbOM% qŠ

  

2x + y + z =0

x − y + 5z =0

x −2y − z = −18

.

.
 

. 

  

A =
2 1 1

1 −1 5

1 −2 −1

 

!

.

.

.

#

.

%
%
%

  
A
.

11 = (−1)2
−1 5

−2 −1
=1+10=11

  
A
.

21 = (−1)3 1 1

−2 −1
= −(−1+2) = −1

  
A
.

31 = (−1)4 1 1

−1 5
= 5 +1= 6

  

11(2x + y + z) =0

−1(x − y + 5z) =0

6(x −2y − z) = −18 ×6

.

.
 

. 



ÅÅÅ±±≤

  

22x +11y +11z =0

−x + y − 5z =0

6x −12y −6z = −108

.

.
 

. 

  (22x − x +6x) + (11y + y −12y) + (11z − 5z −6z) = −108

  27x = −108

  x = −4

 ‰U¦
¥∞‡‡Å tÐ X³E� Á“UÝÅr¼ “« ÁœUH²Ý« UÐ «— ÁU~²Ýœ s¹« xÆbOM% qŠ 

  

2x + y = 2

3x −2z = 4

y + 3z =1

.

.
 

. 

  

A =

2 1 0

3 0 −2

0 1 3
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.
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.

.

#

.

%
%
%
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          A
.

11 =  
0 −2

1 3
 = +2

A
.

21 = (−1)
3

 
1 0

1 3
 = −3           A

.
31 =  

1 0

0 −2
 = −2

 

  

4x +2y = 4

−9x + 6z = −12

                    . −5x = −10. x = 2  

−2y − 6z = −2

.

.

 
  

.

 
 
 

∫vKuN−
 tÝ ÈÅtKœUF
 tÝ ÁU~²Ýœ qŠ È«dÐ Èd~¹œ ‘Ë—d¹“ VOðdðÅtÐ ÁU~²Ýœ qŠ È«dÐ 

ÆrOM%Åv� qLŽ

 «— Ê¬ Ë rO¼œÅv� qOJAð «— V¹«d{ f¹dðU� ©nU«+ÆrO�U�Åv� 

 ÊUMO�dðœ ©»+ÆbýUÐ dH. nUU[� t% vÞdý tÐ ÆrOM%Åv� t³ÝU×� «— 

Ë« Êu²Ý ̈ V¹«d{ f¹dðU� —œ ©ÃÒ «— Ê¬ Ë rOM%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ‰  +1

−3

  −2

  2



ÅÅÅ±±≥

ÆrO�U�Åv�

 «— Ê¬ Ë rOM%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ÂËœ Êu²Ý ¨V¹«d{ f¹dðU� —œ ©œ  +2

ÆrO�U�Åv�

«— Ê¬ Ë r?O?M?%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ÂuÝ Êu²Ý ¨V¹«d{ f¹dðU� —œ ©‡¼

  + 3ÆrO�U�Åv� 

 ÊUMO�dðœ ©Ë  +1 Ë   +2 Ë   + 3ÆrO¹U/Åv� t³ÝU×� «— 

‰u�d� “« ÁœUH²Ý« UÐ ©“xi =
+ i

+  ,  i =1,2, 3

Æb¹¬Åv� XÝœÅtÐ ÁU~²Ýœ ÈU¼Å»«uł

 ‰U¦
¥±‡‡ ôœUF� ÁU~²Ýœ 

ÆbOM% qŠ «—

  

2x1 + x2 + x3 = 2

x1 + 3x2 + x3 = 5

x1 + x2 + 5x3 = −7

.

.
 

.
 

UÐ XÝ« dÐ«dÐ ÁU~²Ýœ V¹«d{ f¹dðU� ÊUMO�dðœ

  

+ =
2 1 1

1 3 1

1 1 5

= 2(15 −1) − (5 −1) + (1− 3) = 28 − 4−2 = 22

ÆrOM%Åv� t³ÝU×� «— U¼ÅÊUMO�dðœ ÈÅÅtOIÐ ¨‰UŠ

  

+ x1
=

2 1 1

5 3 1

−7 1 5

= 2(15 −1) − (25 + 7) + (5 +21) = 28 − 32 +26 = 22

  

+ x2
=

2 2 1

1 5 1

1 −7 5

= 2(25 + 7) −2(5 −1) + (−7 − 5) = 64 − 8 −12 = 44

  

+ x3
=

2 1 2

1 3 5

1 1 −7

= 2(−21− 5) − (−7 − 5) +2(1− 3) = −52 +12 − 4 = −44



ÅÅÅ±±¥

t−O²�—œ

  
x1 =

+ x1

+ =
22
22

=1 .  x1 =1

  
x2 =

+ x2

+ =
44
22

= 2  .  x2 = 2

  
x3 =

+ x3

+ =
−44
22

= −2  .  x3 = −2

ÆrOM%Åv� ÊU×²�« ‰UŠ

  

2(1) +2+ (−2) = 2 .  2 = 2

1+ 3(2) + (−2) =1+ 6−2 = 5  .  5 = 5

1+2+ 5(−2) =1+2−10= −7  .  − 7 = −7

.

.
  

.
 
 

±∏‡‡∑©œ«“¬ tFKUD
 XNł® vKuN−
 —UNÇ ÈÅtKœUF
 —UNÇ ÁU~²Ýœ 

ÆrOM%Åv� qLŽ d¹“ VOðdðÅtÐ ¨vUuN−� —UNÇ ÈÅtUœUF� —UNÇ ÁU~²Ýœ qŠ È«dÐ

 «— Ê¬ Ë rO¼œÅv� qOJAð «— V¹«d{ f¹dðU� ©nU«+ÆrO�U�Åv� 

 ÊUMO�dðœ ©»+ÆbýUÐ dH. nUU[� t% vÞdýÅtÐ ¨rOM%Åv� t³ÝU×� «— 

Ë« Êu²Ý ̈ V¹«d{ f¹dðU� —œ ©ÃÒ «— Ê¬ Ë rOM%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ‰  +1

ÆrO�U�Åv�

 «— Ê¬ Ë rOM%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ÂËœ Êu²Ý ¨V¹«d{ f¹dðU� —œ ©œ  +2

ÆrO�U�Åv�

«— Ê¬ Ë r?O?M?%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— ÂuÝ Êu²Ý ¨V¹«d{ f¹dðU� —œ ©‡¼

  + 3ÆrO�U�Åv� 

«— Ê¬ Ë rOM%Åv� i¹uFð ÁU~²Ýœ XÐUŁ œ«bŽ« Êu²Ý UÐ «— Â—UNÇ Êu²Ý ¨V¹«d{ f¹dðU� —œ ©Ë

  +4ÆrO�U�Åv� 

 ÊUMO�dðœ ©“  +1 Ë   +2 Ë   + 3 Ë   +4ÆrO¹U/Åv� t³ÝU×� «— 

‰u�d� “« ÁœUH²Ý« UÐ ©Õ

  
xi =

+ i

+  ,  i =1,2,..., n

Æb¹¬Åv� XÝœÅtÐ ÁU~²Ýœ ÈU¼Å»«uł



ÅÅÅ±±µ

 ‰U¦
¥≤‡‡ÆbOM% qŠ «— d¹“ vDš  ôœUF� ÁU~²Ýœ 

  

2x1 + x2 − 5x3 + x4 = 8

x1 − 3x2 −6x4 = 9

2x2 − x3 +2x4 = −5

x1 + 4x2 − 7x3 +6x4 =0

.

.
  

.
 
 

∫UÐ XÝ« dÐ«dÐ ÁU~²Ýœ V¹«d{ f¹dðU� ÊUMO�dðœ

  

= .

2 1 −5 1

1 −3 0 −6

0 2 −1 2

1 4 −7 6

= 27 . 0

rOM%Åv� t³ÝU×� «— U¼ÅÊUMO�dðœ ÈÅtOIÐ ¨‰UŠ

  

+1 =  

8 1 −5 1

9 −3 0 −6

−5 2 −1 2

0 4 −7 6

 = 81

  

+2 =  

2 8 −5 1

1 9 0 −6

0 −5 −1 2

1 0 −7 6

 = −108

  

+ 3 =  

2 1 8 1

1 −3 9 −6

0 2 −5 2

1 4 0 6

 = −27
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+ 4 =  

2 1 −5 8

1 −3 0 9

0 2 −1 −5

1 4 −7 0

 = 27

t−O²�—œ

x1 =
+1

+ =
81
27

= 3

x2 =
+2

+ =
−108
27

= −4

x3 =
+ 3

+ =
−27
27

= −1

x4 =
+4

+ =
27
27

=1

rOM%Åv� ÊU×²�« ‰UŠ

  

2(3) + (−4) − 5(−1) +1= 8 . 6 − 4+ 5 +1= 8 .  8 = 8

3 − 3(−4) −6(1) = 9 . 3 +12 −6 = 9 .  9 = 9

2(−4) − (−1) +2(1) = −5 . −8 +1+2 = −5 .  − 5 = −5

3 + 4(−4) − 7(−1) +6(1) =0. 3 −16 + 7 +6 =0.  0=0

.

.
  

.
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≥Æb¹—Ë¬ XÝœÅtÐ «— d¹“ ÈU¼Åf¹dðU� “« p¹d¼ ÊUMO�dðœ ‡‡Å

  

2 1

0 2
 
!.

#
.%

=

  

1 2 3

0 1 1

2 1 2

 

!

.

.

.

#

.

%
%
%

=

  

0 0 7

−2 3 4

5 6 1

 

!

.

.

.

#

.

%
%
%

=



ÅÅÅ±±∏

  

−1 2 0 0

0 −1 2 1

0 0 −1 2

1 0 0 −3

 

!

.

.

.

.

#

.

%
%
%
%

=

  

1 5 2

1 1 7

0 −3 4

 

!

.

.

.

#

.

%
%
%

=

  

1 1 0

5 1 −3

2 7 4

 

!

.

.

.

#

.

%
%
%

=

  

2 3 −1

4 0 5

−1 2 1

 

!

.

.

.

#

.

%
%
%

=

  

4 0 5

2 3 −1

−1 2 1

 

!

.

.

.

#

.

%
%
%

=

  

1 2 3

1 2 3

−1 4 0

 

!

.

.

.

#

.

%
%
%

=

  

0 0 0

a b c

d e f

 

!

.

.

.

#

.

%
%
%

=

¥ÆbOM% «bOÄ ¨œułË  —u. —œ «— d¹“ ÈU¼Åf¹dðU� ”uJF� ‡‡Å

  

A =
1 2 4

0 1 6

1 3 2

 

!

.

.

.

#

.

%
%
%



ÅÅÅ±±π

  
B =

2 4

5 3
 
!.

#
.%

  
C =

2 1

1 0
 
!.

#
.%

  

D =
8 3 5

4 11 7

3 9 6

 

!

.

.

.

#

.

%
%
%

  

E =
3 1 3

3 3 1

2 0 3

 

!

.

.

.

#

.

%
%
%

  

F =
0 −2 −1

1 −3 4

−1 −1 −1

 

!

.

.

.

#

.

%
%
%

  
G =

2 −3

4 −6
 
!.

#
.%

µ tÐ X³E� Á“UÝÅr¼ “« ÁœUH²Ý« UÐ «— d¹“ ÈU¼ÅÁU~²Ýœ ‡‡ xÆbOM% qŠ 

  

x − y =0

y − z =0

z − x =0

.

.
 

. 
 

  

x + y + z = 3

x − z = −1

2x +2y = 2

.

.
 

. 
            

3x + 3y + z = 2

x − y +2z = 6

2x + y − z = −1

.

.
 

. 

  

x + y +2z = 45

2x − y + z =15

x + y − z =0

.

.
 

. 
          

x + y +2z = 25

2x + y − z = 9

−x + y =1

.

.
 

. 

x + y + z = 6

x + y − z =0

2x + 3y + z =11

.

.
 

. 



ÅÅÅ±≤∞

  

2x + y + z = 4

y − z = −1

x + y − z = −
1
2

.

.

 
  

.

 
 
 

            

x + y − z =1

3x − z = 2

4x − y = 5

.

.
  

.
 
 

∂ f¹dðU� —œ ‡‡A —«bI� ¨ x ÊUMO�dðœ t% bOM% sOOFð È—uÞ «— A dÐ«dÐ   −15ÆbýUÐ 

  

A =

−1 2 3

x 1 x −2

2 −1 1

 

!

.

.

.

.

#

.

%
%
%
%

∑ ÁbM�«— ÊËbÐ ÊuO�U% XŽUÝ d¼ È«dÐ È—U%ÅtFÞUI� X%dý p¹ ‡‡∂∞∞∞t¹«d% XÐUÐ ¨ÊU�uð 

 ÁbM�«— ÊËbÐ —u²%«dð XŽUÝ d¼≤∞∞∞ ÁbM�«— XNł XŽUÝ d¼ È«dÐ Ë ÊU�uð ±∞∞∞Xš«œdÄ ÊU�uð 

 f¹dðU� “« X%dý s¹« Æb¹U/Åv�AÆb¹U/Åv� ÁœUH²Ý« nK²[� ÈU¼—U% ÂU$« È«dÐ 

       I    II     III    IV

  

A =
1 1 1 2

2 0 0 1

3 1 3 4

 

!

.

.

.

.

#

.

%
%
%
%

 dÖ« ©nU«P = 6000 ,  2000 ,  1000& . f?¹dðU� ÈÅÁbM¼œÅÊUA� Ms?¹« jÝuð t% ¨býUÐ XLO

 f¹dðU� ¨œuýÅv� Xš«œdÄ X%dýPAÆbOM% t³ÝU×� «— 

 bM�“UO� pÇu% ÕdÞ p¹ ÂU$« È«dÐ X%dý t% bOM% ÷d� ©»≤∞ Ÿu� “« —U% XŽUÝ IË ̈   ≥∞

 Ÿu� “« —U% XŽUÝII dÖ« ÆXÝ« S 

    

S =
20

30



 

!

.

.

.

.

#

.

%
%
%
%

 býUÐ U{UIð f¹dðU� ASÆbOM% t³ÝU×� «— 

 ©ÃPASÆbO¹U/ t³ÝU×� «— 

∏o?ÞU?M� —œ t% Á“UG� tÝ —œ «— œuš »UEŠÅsOýU� ‰b� ZMÄ »UEŠ sOýU� ÈÅÁbMýËd� p¹ ‡‡ÅÅ



ÅÅÅ±≤±

        A     B     C      D    E

  

M =
4 2 3 7 1

2 3 5 0 6

10 4 3 4 3

 

!

.

.

.

.

#

.

%
%
%
%

  

N =

700 840

1400 1800

1800 2400

2700 3300

3500 4900

 

!

.

.

.

.

.

.

.

#

.

%
%
%
%
%
%
%

 f¹dðU� —œ Á“UG� d¼ —œ ‰b� d¼ Èœułu� ÆbýËd�Åv� b�—«œ —«dM dNý nK²[�MÆXÝ« Ábý t.öš 

 vK% ‘Ëd� XLOM(W) vzeł Ë (R) f¹dðU� —œ NÆXÝ« Ábý t²ýu� ‰b� d¼ È«dÐ 

                                                             ÈÅÁ“UG�±

 ÈÅÁ“UG�ÅÅÅ                                                           ≤

 ÈÅÁ“UG�                                                           ≥

ÊU�uð     Å  ÊU�uð  ÅÅÅÅÅÅÅ

R                   ÅÅÅÅÅÅÅÅÅÅÅÅ  WÅ 

 ÈÅÁ“UG� Èœułu� vzeł XLOM ©nU«≤øXÝ« —bMÅtÇ 

 ÈÅÁ“UG� Èœułu� vK% XLOM ©»≥øXÝ« —bMÅtÇ 

 f¹dðU� ©ÃMNÆbO¹U/ t³ÝU×� «— 

π t?% XÝ« Áœd% o�«uð —U%ÅÊULOÄ p¹ ‡‡¥ ¨ö¹Ë ≥ Ë ÊU9—UÄ¬ π«— o?�«uð s¹« Æœ“UEÐ ÁU~Ð«uš 

Æœ«œ ÊUA� d¹“ f¹dðU� VUUM —œ Ê«uðÅv�

                                                                                                      ö¹Ë    ÊU9—UÄ¬   ÁU~Ð«uš

Q = 4      3      9& .
∫XÝ« d¹“ f¹dðU� Õdý tÐ Ê«dÖ—U% œeL²Ýœ Ë U¼ÅÊUL²šUÝ XšUÝ—œ v�bF� ̀ UUB� vUU¹— d¹œUI�

                                  

  dł¬         »uÇ        tAOý           7Ð                            

ö¹Ë

ÊU9—UÄ¬

ÁU~Ð«uš

 ÈÅt?³?ÝU?×?� ∫XÝ« »uKD�Q × Rd?¼ X?šU?Ý È«d?Ð Â“ô d?Ö—U?% Ë `?UUB� Ê«eO� d~�UOÐ t% ¨

ÆXÝ« ÊUL²šUÝ

  

R =
100    30    50    30    120

40    80    20    40    100

60    50    70    20    100

 

!

.

.

.

#

.

%
%
%

A

B

C

D

E

œeL²Ýœ

Ê«dÖ—U%



ÅÅÅ±≤≤

±∞ bO�« Æb�Ë—Åv�  ËUH²� ÁU~ýËd� Ëœ tÐ Â«b% d¼ r¹d� ‘d¼«uš Ë bO�« ‡‡¥È«“« tÐ dJý uKO% 

 uKO% d¼∂∞∞ ̈ ÊU�uð ≤ Ê¬ ÈuKO% d¼ t% XýuÖ uKO% ¥∞∞∞ Ë ÊU�uð ≥ Ê¬ ÈÅt²EÐ d¼ t% ÊU� t²EÐ ±≤∞

 e?O?� r¹d� ÆœdšÅv� XÝ« ÊU�uð≤ u?K?O?% d¼ È«“« tÐ dJý ÂdÖuKO% ∑µ∞ ¨ ÊU?�uð ±d?¼ t?% XýuÖuKO%

 Ê¬ ÈuKO%≥µ∞∞ Ë ÊU�uð ¥ Ê¬ t²EÐ d¼ t% ÊU� t²EÐ ±∞∞ÆœdšÅv� XÝ« ÊU�uð 

∫XÝ« »uKD�

±Æb�«ÅÁœd% Xš«œdÄ ÊUA¹U¼b¹dš XÐUÐ Â«b% d¼ r¹d� Ë bO�« t% vUuÄ q% lLł ‡‡

≤ “« bO�« dÖ« t% bOM% h[A� ‡‡v¼U~ýËd�‰uÄ —bMÅtÇ œd%Åv� b¹dš ¨œuÐ Áœd% b¹dš r¹d� t% 

øXš«œdÄÅv� b¹UÐ

≥“« r?¹d� dÖ« ‡‡v¼U~ýËd�b?¹U?Ð ‰u?Ä —bMÅtÇ ¨œd%Åv� b¹dš ¨œuÐ Áœd% È—«b¹dš Ê¬ “« bO�« t% 

øXš«œdÄÅv�

±± v²%dý bOM% ÷d� ‡‡≥œ—«œ bBM Ë bM%Åv� bOUuð ©ÈdOý Ë È«ÅÁuNM ̈ v¹uzU%U%®  öJý Ÿu� 

 —œ s¹œ—Ëd� ÁU� —œ d¹“ œ«bFð tÐ  öJý d¼ “«≤∫býËdHÐ t�«dEÄ Ë t�«d²šœ ÈÅtÝ—b� 

v¹uzU%U%  öJý   È«ÅÁuNM  öJý   ÈdOý  öJý                                    

t�«dEÄ ÈÅtÝ—b�

t�«d²šœ ÈÅtÝ—b�

·ö²š«¨ býUÐ d¹“ f¹dðU�  —u.ÅtÐ X%dý s¹« ÈU¼Å öJý vFM«Ë ‘Ëd� tÐ ◊uÐd�  UŽöÞ« dÖ«

øÅÅÅXÝ« —bMÅtÇ ”—«b� s¹« “« p¹d¼ —œ X%dý s¹« vFM«Ë ‘Ëd� Ë Ábý vMOÐÅgOÄ ‘Ëd� sOÐ

v¹uzU%U%  öJý   È«ÅÁuNM  öJý   ÈdOý  öJý                                                                                              

±≤ «—UÝ Æb�«Åt²�— výËd� ÁuO� Á“UG� p¹ tÐ ULO� Ë «d¼“ Ë «—UÝ ‡‡±≤ ¨‰UIðdÄ œbŽ µ¨—U�« œbŽ 

≤∞ ¨VOÝ œbŽ ∂ Ë “u� œbŽ ≥ «d¼“ Æb¹dš ‘dðuLOU œbŽ ≤∞ ¨‰UIðdÄ œbŽ ≥ ¨—U�« œbŽ ±∞VOÝ œbŽ 

 Ë¥ r?¼ ULO� Ë b¹dš “u� œbŽ ±∞ ¨‰UIðdÄ œbŽ ±∞ ¨—U?�« œbŽ ±≤œb?Ž d¼  XLOM dÖ« Æb¹dš “u� œbŽ 

 ‰U?IðdÄ≥∞∞ —U�« ¨ÊU�uð ≤∞∞ V?OÝ ¨ÊU�uð µ∞ “u?� ¨ÊU�uð ±∞∞ ‘d?ðuLOU Ë ÊU�uð ±∞Æb?ýUÐ ÊU�uð 

∫XÝ« Å»uKD�

 s¹« “« p¹ d¼ jÝuð Ábý È—«b¹dš ÈU¼ÅÁuO� —«bI� ©nU«≥ÊUA� vI�« f¹dðU� p¹ —œ «— dH� 

ÆbO¼œ

  
T = 120      70      105

65       100      145
 
!.

#
.%

  
 J = 120      50      100

80      75       150
 
!.

#
.%

t�«dEÄ ÈÅtÝ—b�

t�«d²šœ ÈÅtÝ—b�



ÅÅÅ±≤≥

 s¹« jÝuð ÁuO� Ÿu� d¼ b¹dš XLOM ©»≥ÆbO¼œ ÊUA� v�u²Ý f¹dðU� p¹ —œ «— dH� 

 s¹« “« Â«b% d¼ »UEŠÅ —u. ¨U¼Åf¹dðU� »d{ o¹dÞ “« ©Ã≥ÆbOM% tONð «— dH� 

ö?% ¨Áu?O?� Ÿu� d¼ “« bOM% h[A� U¼Åf¹dðU� lLł “« ÁœUH²Ý« UÐ ©œÎÁb?ý È—«b¹dš œbŽ bMÇ 

øXÝ«

U?F?L?ł Áu?O?� Ÿu?� d?¼ b?¹d?š È«d?Ð bOM% »UEŠ ¨U¼Åf¹dðU� »d{ “« ÁœUH²Ý« UÐ ©‡¼ÎÊU?�u?ð bMÇ 

øXÝ« Ábý Xš«œdÄ



ÅÅÅ±≤¥

 ‰Ëbł±œuýÅv
 Xš«œdÄ U¹ X�U¹—œ ‰UÝ d¼ ÊU¹UÄ —œ tJ vKU¹— p¹ Á—«uKUÝ v¹UN6 ‘“—« ‡‡

XÝuOÄ



ÅÅÅ±≤µ

 ‰Ëbł≤œuýÅv
 Xš«œdÄ U¹ X�U¹—œ ‰UÝ d¼ ÊU¹UÄ —œ tJ vKU¹— p¹ Á—«uKUÝ vKF� ‘“—« ‡‡



ÅÅÅ±≤∂

 ‰Ëbł≥d¼ È«b²Ð« —œ tJ b¼œÅv
 ÊUA6 «— vKU¹— p¹ ÈËUC
 ◊UC/« vKF� ‘“—« ‡‡

œuýÅv
 Xš«œdÄ U¹ X�U¹—œ ‰UÝ



ÅÅÅ±≤∑

cšP
 Ë lÐUM
 XÝdN�

 ¨œ«ułbL×� ¨—uÄdG.«vDš Èe¹—Åt
U6dÐ ¨«d¼eU« ÁU~A�«œ ¨±≥∂≥

 ̈ —b�UEJU« ̈ œU¹—u�Ëœ ê¹Ëd²Ä UO{U¹— ËdLK/ —œ ̈ dO³%dO�« ©Årłd²�Å® È—U¹dNý e¹ËdÄ ̈±≥¥∏

 ¨ÈbN� ¨ÈuIðËdJO
 œUB²/« qOK×ð Ë t¹e−ð dÐ È«Åt
bI
vÝUOÝ ÂuKŽ vUUŽ ÈÅtEÝR� ¨

 ¨vÐeŠ —u�« Ë±≥µ¥

 ¨ÊUOýUÐ sO� bOýd� ¨«“dO� ¨vKOKłb¹bł  UO{U¹— ¨Ê«d¹« dA� Ë ÛUÇ X%dý ¨±≥∂∑

 ¨vKOKł «“dO� ¨U{d�öž ¨v�Ë—U� g�«œb¹bł  UO{U¹— ¨Ê«d¹« dA� Ë ÛUÇ X%dý ¨±≥∑≤

 ¨d?K?ðU%ÅÊ¬ ¨sOýÅp� nUœË—»U?C?Š —œ ¯d?³M²š«dð l¹dÝ ‘Ë—©År?łd?²?�® ¨ÈdMUÐ bL×� ¨

 ¨bMLA�«œ±≥∑±

 ¨rÝUIU«uÐ« ¨v�UÐdMd³ł ¨s¹—¬ ÈÅt�U[ÄUÇ ¨±≥∂∂

 ¨sOE×�öž ¨VŠUB�œ«bŽ« vðU
bI
 È—u¾ð ¨‘ËdÝ ¨±≥µ∏

Å¨U{—Å¨ÈuUu�ÅU¼Åf¹dðU
 qzUC
 Ë t¹dE6Å¨ÅÊ«dNð ¨ÅœöO�  «—UA²�«Å¨±≥∑¥

 ¨s?Oł« ¨dÐËv?6U?Ö—“U?Ð Ë œU?B?²?/« —œ Ê¬ œdÐ—UJ Ë v{U¹— ÈU¼ÅqOK×ð—u?ÄÅv?K?Ž sOEŠ ¨

 ¨Ê«dNð ¨v²ANÐ bONý ÁU~A�«œ  «—UA²�« ¨vLþU%±≥∂∑

 ¨vHDB� ¨VE� vE�UŠX¹d¹b
 —œ Ê¬ œdÐ—UJ Ë  UO{U¹— ¨s¹Ë—¬ dA� ¨±≥∑∑

¨V?E� vE�UŠ ¨vHDB� ¨sOEŠ ¨Èœ«uł ¨X¹d¹b
 —œ Ê¬ œdÐ—UJ Ë  UO{U¹—  «—UA²�«

 ¨“—b�«±≥∑µ

Gosling,"maths for Business and Finance" ,1995 , Pascal Press
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